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SHSH(A) A T2l 10 18,000 69%
5H138(K) A 12l 10 14,000 76%
5H19H(A) A 12 10 20,000 65%
5H228(X) A 12l 10 18,000 69%
5H26H(A) A 12 10 18,000 69%
5H278(N) A 12l 10 18,000 69%
5H28H(7K) A 12 10 18,000 69%
5H29H(K) A 12l 10 18,000 69%
6B 10(H) A 12 10 14,500 75%
6828(8) e 12 10 17,500 70%
6838(N) A 12 10 14,500 75%
68408 (k) e 12 10 14,500 75%
6E8H(H) A 12 10 14,500 75%
6898 () e 12 10 14,500 75%
68 108(X) A 12 10 17,000 71%
68 11H(K) e 12 10 14,500 75%
68 14H(T) A 12 10 17,500 70%
68 15H(H) e 12 10 17,000 71%
68 178(X) A 12 10 17,000 71%
68 18H(7K) e 12 10 17,000 71%
68 198 () A 12 10 14,500 75%
6822H(H) e 12 10 17,500 70%
68238(8) A 12l 10 11,590 80%
68 24H(N) e 12 10 14,500 75%
68250 (7K) A 12 10 14,500 75%
68260 () A 12 10 14,500 75%
68278(2) A 12 10 15,000 74%
68290 (H) e 12 10 14,500 75%
68308 (8) A 12 10 14,500 75%
7B18(X) e 12 10 11,590 81%
7B28(K) A 12 10 15,000 75%
EEEIES A 12 10 17,500 71%
7B48(2) A 12 10 14,500 76%
7E68(H) e 12 10 11,590 81%
7B78(8) A 12 10 14,500 76%
7E8R(XN) e 12 10 11,590 81%
7B98(K) A 12l 10 14,500 76%
78108 (&) A 12 10 14,500 76%
7B11E(2) A 12l 10 14,500 76%
7H128(T) e 12 10 17,500 71%
7B138(8) A 12l 10 14,500 76%
7H148(B) e 12 10 14,500 76%
7H158(X) A 12l 10 11,590 81%
7H16H(K) A 12 10 11,590 81%
7H178(X) A 12l 10 14,500 76%
7H18H (%) e 12 10 14,500 76%
78208 (8) A 12l 10 17,000 72%
7E218(B) e 12 10 14,500 76%
78238 (K) A 12l 10 14,500 76%
7B248 (&) A = 10 14,500 76%
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7H26H (L) =) &l 10 14,500 76%
7H27H(H) e &l 10 14,500 76%
7H28H(H) =) &l 10 14,500 76%
7H29H(X) e &l 10 14,500 76%
7H30H(K) =) &l 10 17,000 72%
7H31H(K) e &l 10 14,500 76%
8H18H(H) =) &l 10 14,500 76%
8H19H(X) e &l 10 11,590 81%
8H20H(K) =) &l 10 11,590 81%
8H21H(K) e &l 10 14,500 76%
8H22H (&%) =) &l 10 14,500 76%
8H23H(X) e &l 10 14,500 76%
8H24H(H) =) &l 10 14,500 76%
8H25H(H) NS, &l 10 14,500 76%
8H26H(X) =) &l 10 11,590 81%
8H27H(K) NS &l 10 11,590 81%
8H28H(K) =) &l 10 11,590 81%
8H29H (%) e &l 10 14,500 76%
8H30H(L) =) &l 10 14,500 76%
8H31H(H) NS &l 10 14,500 76%
5H10H(L) &l e 11 18,000 69%
5H11H(H) &l = 11 15,500 73%
S5H13H(X) &l e 11 14,000 76%
5H14H(K) &l = 11 14,000 76%
5H15H(K) &l e 11 16,500 72%
5H18H(H) &l =) 11 18,500 68%
5H20H(X) &l file 11 18,500 68%
5H21H(K) &l =) 11 18,500 68%
5H22H(K) &l file 11 18,500 68%
5H25H(H) &l = 11 16,500 72%
5H26H(H) &l file 11 16,500 72%
5H27B(X) &l =) 11 12,500 78%
5H28H(K) &l file 11 18,000 69%
5H29H(K) &l =) 11 18,000 69%
5H31H(L) &l file 11 18,000 69%
6H1H(H) &l =) 11 13,000 78%
6H2H(H) &l file 11 13,000 78%
6H3H(XN) &l = 11 13,000 78%
6H4H(K) &l file 11 13,000 78%
6H5H(K) &l =) 11 13,000 78%
6H6H (&) &l =) 11 17,500 70%
6A8E(H) & filie 11 13,000 78%
6H9H(AH) &l =) 11 13,000 78%
68 108 () & filie 11 17,500 70%
6H11H(K) &l =) 11 13,000 78%
6H16H(H) &l =) 11 13,000 78%
6H17H(CN) &l =) 11 13,000 78%
6H18H(K) &l =) 11 17,000 71%
6H19H(K) &l = 11 13,000 78%
6H20H (%) &l =) 11 13,000 78%
6H22H(H) &l =) 11 17,000 71%
6H23H(H) &l =) 11 17,500 70%
6H24H(N) & =) 11 13,000 78%
6H25H(K) &l =) 11 13,000 78%
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6H26H(K) &l =) 11 13,000 78%
6H28H (%) & e 11 13,000 78%
6H29H(H) &l =) 11 11,590 80%
6H30H(H) & e 11 13,000 78%
7H1HN) &l =) 11 11,590 81%
7H2H(K) & e 11 11,590 81%
7H3H(K) &l =) 11 13,000 79%
7H6H(H) & e 11 13,000 79%
7H7H(H) &l =) 11 13,000 79%
7H8H(N) & e 11 13,000 79%
7H9H(K) &l =) 11 11,590 81%
7H10H(K) & e 11 11,590 81%
7H11H(E) &l =) 11 15,000 75%
7H13H(H) &l =) 11 11,590 81%
7H14H(H) &l e 11 13,000 79%
7H15H(X) &l =) 11 11,590 81%
7H16H(K) &l e 11 11,590 81%
7H17H(K) &l =) 11 11,590 81%
7H18H(&) &l e 11 13,000 79%
7H19H(L) &l = 11 13,000 79%
7H20H(H) &l e 11 13,000 79%
7H21H(H) &l = 11 13,000 79%
7H22H(X) &l e 11 13,000 79%
7H23H(K) &l =) 11 11,590 81%
7H24H(K) &l e 11 11,590 81%
7H25H(&E) &l = 11 13,000 79%
7H26H(L) &l file 11 13,000 79%
7H27H(H) &l =) 11 11,590 81%
7H28H(H) &l file 11 13,000 79%
7H29H(X) &l =) 11 11,590 81%
7H30H(K) &l file 11 11,590 81%
7H31H(K) &l =) 11 11,590 81%
8H18H(H) &l file 11 13,000 79%
8H19H(X) &l =) 11 11,590 81%
8H20H(K) &l file 11 11,590 81%
8H21H(XK) &l =) 11 11,590 81%
8H22H(&) &l file 11 13,000 79%
8H23H(%) &l = 11 13,000 79%
8H24H(H) &l file 11 13,000 79%
8H25H(H) &l =) 11 13,000 79%
8H26H(N) &l =) 11 11,590 81%
8H27H(K) &l =) 11 11,590 81%
8H28H(K) &l =) 11 11,590 81%
8H30H(L) &l =) 11 13,000 79%
8H31H(H) &l =) 11 11,590 81%
S5H8H(K) =) &l 12 20,000 65%
S5H13H(CN) =) e ] 12 14,000 76%
5H14H(K) =) &l 12 18,000 69%
5H15H(K) =) e ] 12 20,000 65%
S5H17H(L) =) &l 12 20,000 65%
5H19H(H) =) e ] 12 20,000 65%
S5H22H(XK) =) &l 12 18,000 69%
S5H23H(&) e &l 12 18,000 69%
5H25H(H) =) &l 12 19,000 67%
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H(B G
55275(9\@ e ] B
5H28E () = = 12 . 231K
5H29H (K =) 2 1 18,000
(R) e & 18 69%
SA30H =] = 12 ,000
5831H (l1[=) = 12 18,000 0
() ~ f&E ] 69%
6818 S, = 12 20,000 0
(B) AN 1& ] 65%
682H = = 12 18,000 0
(H) = & 69%
6%35 1\ 'm-II:I = 12 18[000 0
(A) -~ 1] 69%
684H = = 12 14,500 0
(K) = & 75%
6858 S, = 12 14,500 0
(7K) M= &l 14 5 75%
6898 S, = 12 17,500 0
A) -~ 1& ] 70%
6H 10EI(K i - 12 14,500 6
(X e fah 14 75%
6A11H(K) e e 12 T 75%
68 12H(A) ﬂJJi = 12 14,OOO 1%
6H15H(H) 4IJJ2 rE | 12 14,500 75%
6817H(A) ﬂui fE] 12 14’500 75%
68188 (k) 4|JJ2 = 12 14:500 oo
6H 195(7k) 'fIJ.I'Ii 18 12 11’500 75%
6823H yllif=) = 12 14,500 0
(A) -~ &) 75%
624E (X = = " 14,500 b
()\) 'fllll"‘ *EE'EJ 11 75%
64258 (K) = 1@l 12 290 80%
6826H = = 12 14,500 0
(7K) 'fllll"‘ *EE'EJ 11 75%
65298(H) a o 12 ,590 30%
682308 = = 12 11,590 0
(A) 2N & 1 80%
7H1BH(N = — 12 1,590 2
€9) N f&E 80%
7H2H = — 12 14,500 ()
(K) Wa f& ] 17.0 75%
7A6H(H) = el 12 000 71%
7H7H yllif=) — 12 14,500 (
7HB8H (X lli= = 12 14,500 0
€9) N f&E 76%
7H9H yllif=) — 12 14,500 (
(K) — = 76%
78108 = = 12 14,500 0
(R) e 1&E ] 1 76%
7E118 = = 12 4,500
7 () = 1] 14.50 76%
7)% 128(+) e = 12 : 4'500 76%
7}@135(5) 4|JJEI‘ = 12 17:500 —E%
7)%145()3) e = 12 17'500 71%
7ﬁ155(ﬂ<) ,ﬂui *Eﬁ 12 14,500 71%
A16H (k) I 2 12 2.2 76%
78178 IS, = 12 4,500 0
(7'() ,f N *EEIEJ 1 76%
7H19H =) = 10 4,500
(1) Wa il 1 76%
7H20H =) = 12 5,000
(B) e (g 1 75%
7H228(N = = 1 4,500
EZBEUJ() y E'\ 1= 12 1 L 71%
78248 U= = 12 4,500
() Wa il 1 76%
7H25H =) = 12 4,500
(&) wa el 1 76%
7H26H =) = 10 4,500
= (L) T f&E 14 500 76%
R & i f = 17,500 76%
e 28H(B) ﬂJJE = 12 14,500 1%
7)%295(9‘1) & i fD = 1,500 76%
7ﬁ305(7j<) e el 12 o 76%
31H(RK) = & 12 14 76%
8H18H(E = = 1 4,500
(H) e &) 17 76%
= *E 12 1500
12 14.500 76%
- 76%
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8H19H(N) =) &l 12 11,590 81%
8H20H(K) e &l 12 11,590 81%
8H21H(XK) =) &l 12 14,500 76%
8H22H (&) e &l 12 14,500 76%
8H23H(L) =) &l 12 14,500 76%
8H24H(H) e &l 12 14,500 76%
8H25H(H) =) &l 12 14,500 76%
8H26H(X) e &l 12 11,590 81%
8H27H(K) =) &l 12 11,590 81%
8H28H(XK) e &l 12 11,590 81%
8H29H (&) =) &l 12 14,500 76%
8H30H(X) e &l 12 14,500 76%
8H31H(H) =) &l 12 14,500 76%
S5H13H(X) &l = 13 14,000 76%
5H14H(K) &l =) 13 17,500 70%
5H15H(K) &l = 13 17,500 70%
5H19H(H) &l e 13 17,500 70%
5H20B(X) &l = 13 19,000 67%
5H21H(K) &l e 13 19,000 67%
5H22H(K) &l = 13 19,500 66%
S5H23H(&®) &l e 13 19,000 67%
5H24H(%) &l = 13 19,000 67%
5H26H(H) &l e 13 17,500 70%
5H27H(X) &l =) 13 12,500 78%
S5H30H(&%) &l e 13 17,500 70%
6H1H(H) &l = 13 14,000 76%
6H2H(H) &l file 13 14,000 76%
6H3H(XN) &l = 13 14,000 76%
6H4H(K) &l =) 13 14,000 76%
6H5H(K) &l = 13 14,000 76%
6H6H (&) &l file 13 17,500 70%
6H7H(X) &l = 13 14,000 76%
6H8H(H) &l file 13 17,000 71%
6H9H(H) &l =) 13 14,000 76%
6H10H(X) &l =) 13 14,000 76%
6H11H(K) &l =) 13 14,000 76%
6H12H(K) &l =) 13 14,000 76%
6H14H(%) &l = 13 17,000 71%
6H16H(H) &l =) 13 14,000 76%
6H17H(XN) &l =) 13 11,590 80%
6H18H(K) &l =) 13 14,000 76%
6H19H(K) &l =) 13 14,000 76%
6H20H (&) &l =) 13 11,590 80%
6H21H(L) &l =) 13 14,000 76%
6H24H(N) &l =) 13 14,000 76%
6H25H(K) &l =) 13 14,000 76%
6H26H(K) &l =) 13 11,590 80%
6H28H(L) &l =) 13 14,000 76%
6H29H(H) &l =) 13 15,000 74%
6H30H(H) &l =) 13 15,000 74%
7H1H(CN) &l = 13 11,590 81%
7H2H(K) &l =) 13 11,590 81%
7H3H(CK) & =) 13 14,000 77%
7B4E (%) 18 & 13 14,000 77%
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7H5H(X) &l =) 13 14,000 77%
7H6H(H) &l = 13 14,000 77%
7H7H(H) &l =) 13 15,000 75%
7H8H(XN) &l = 13 11,590 81%
7H9H(K) f& ] =) 13 11,590 81%
7H10H(K) &l = 13 14,000 77%
7H11H(®) &l =) 13 14,000 77%
7H12H (%) &l = 13 15,000 75%
7H13H(H) &l =) 13 14,000 77%
7H14H(H) &l = 13 14,000 77%
7H15H(N) f& ] =) 13 11,590 81%
7H16H(K) &l = 13 11,590 81%
7H17H(XK) e ] =) 13 14,000 77%
7H18H(:&) &l il= 13 14,000 77%
7H19H(L) &l =) 13 17,500 71%
7H20H(H) &l il= 13 14,000 77%
7H21H(H) &l =) 13 14,000 77%
7H22H(X) &l il= 13 14,000 77%
7H23H(K) & ] =) 13 11,590 81%
7H24H(K) &l il= 13 14,000 77%
7H25H(5&) &l =) 13 14,000 77%
7H26H(L) &l il= 13 14,000 77%
7H27H(H) &l =) 13 14,000 77%
7H28H(H) &l il= 13 14,000 77%
7H29H(X) & ] =) 13 15,000 75%
7H30H(K) &l = 13 14,000 77%
7H31H(K) & =) 13 14,000 77%
8H1H(&) &l =3 13 14,590 76%
8H2H(L) &l =) 13 14,590 76%
8H3H(H) &l =3 13 14,590 76%
8H4H(A) & =) 13 14,590 76%
8H5H(X) &l =3 13 14,590 76%
8H6H(K) & =) 13 14,590 76%
8H7H(K) &l =3 13 14,590 76%
8H18H(H) & =) 13 14,000 77%
8H19H(N) &l =3 13 11,590 81%
8H20H(K) & =) 13 11,590 81%
8H21H(K) &l =3 13 14,000 77%
8H22H (&) &l =) 13 14,000 77%
8H23H(L) &l =3 13 14,000 77%
8H24H(H) &l =) 13 14,000 77%
8H25H(H) &l =3 13 14,000 77%
8H26H(X) &l (= 13 11,590 81%
8H27H(K) &l =3 13 11,590 81%
8H28H(K) &l (= 13 11,590 81%
8H29H (&) &l =3 13 14,000 77%
8H30H(X) &l =) 13 14,000 77%
8H31H(H) &l =3 13 14,000 77%
S5H8H(K) = fE 14 17,500 70%
S5H13H(XN) =y &l 14 14,000 76%
5H14H(K) = fE 14 15,500 73%
S5H17H(L) =y &l 14 19,500 66%
5H19H(H) = &l 14 17,500 70%
5H20H(X) =y &l 14 17,500 70%
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SE31 [Xf& )
H(K E
5ﬁ23'3(ﬁ§ e & B
5H24H lli= = 14 _ 23|
() = 12 =
5H25H yllI=) — 14 17,500
(H) TS f& 19 70%
SH27H(N = = 14 ,500
()\) Z *EEIE_‘ 1 66%
5528H = = 12 7,500
(7K) N &l 1 70%
5H29H (JIl=, = 12 9,000
() Y fahE 67%
5830H yllI=) = 14 17,500 0
58310 (=) = 12 19,500 0
() e 1] 17.5 66%
68A3H(N ylI=) = 14 171500 9
(X = P 70%
684H = = 14 17,500 0
(7K) = gzt 70%
6858 S, = 14 14,000 0
(®) = P 76%
6H6H (&) e & 14 14’000 760/2
P e & = 2 76%
= 4 L
6@95(5) llli=) {2 14 17,000 1%
(ﬁ) L *EEEJ 1 71%
68108 (X = - 12 4,000
(X) s il 14 0 76%
63 118(K) = &M 14 000 76%
6812H yllif=) = 14 17,000 0
68138 = = 14 14,000 0
65 15H e = 14 4,000 0
(H) P el 1 76%
6816H = = 12 4,000
(BA) wa & 1 76%
6H17H(N lIf= = 14 4,000
(X P el 1 76%
68 18H = = 12 4,000
(7J<) 2 *EE'E_‘ 1 760/0
65 19H(K) = ] 14 74000 71%
65200 e = 14 14,000 ?
65216 fli= = 14 1,590 6
() T &l 14 0 80%
6)%235(}%) (= P 14 17,500 7(:)0/0
6824H (X =) = 2 14,000 b
()\) N *EE'EJ 1 760/0
652585 = = 14 4,000
(7J<) N *EEIEJ 1 760/0
6826H llli= = 14 4,000
(7K) N *EE'EJ 1 760/0
6527H (= = 12 7,000
(:t) N *EE'EJ 1 760/0
6529H (= = 12 1,590
(E) N *EEIEJ 1 800/0
(A) wa & 1 76%
7H1B(N = = 14 4,000
7820 (= = 14 14,000 :
(7-K) AN *EE'EJ ]_ 760/0
7836 (Ili= = 14 4,000
7848 = = 14 11,590 ;
7B58 (1) A il - s 81%
7ﬁ6E|(E|) 'ﬂJ.IEI\ 1&E 14 14’000 72%
7H8E () 2 &R 14 200 7%
789H = = 14 14,000 9
(k) W &l 1 77%
7H10H =) = 14 4,000
(7k) ,f AN *EEIEJ 1 770/0
(ﬁ) M= el 1 81%
5 (L) T f&E 14 000 77%
A138(H) e & 14 4 77%
(ﬁ) ,f AN *EEIEJ 1 770/0
7A158(N = 2 12 4,000
7 ()\) ,m_lj_\ *EEIIEJ 17.000 77%
H16H(K) 2 &= 14 1 ¢ 72%
7B178 (= = 14 4,000
18H (&) e a 14 14, 81%
= *E 14 IOOO 0
14 14,000 77%
3 77%
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7H19H(L) =) &l 14 14,000 77%
7H20H(H) e &l 14 14,000 77%
7H22B8(X) =) &l 14 15,000 75%
7H23H(K) e &l 14 14,000 77%
7H24H(K) =) &l 14 14,000 77%
7H25H (&) e &l 14 14,000 77%
7H26H (L) =) &l 14 14,000 77%
7H27H(H) e &l 14 14,000 77%
7H28H(H) =) &l 14 14,000 77%
7H29H(X) e &l 14 15,000 75%
7H30H(K) =) &l 14 14,000 77%
7H31H(K) e &l 14 14,000 77%
8H18H(H) =) &l 14 14,000 77%
8H19H(X) NS, &l 14 11,590 81%
8H20H(K) =) &l 14 11,590 81%
8H21H(XK) NS &l 14 14,000 77%
8H22H (%) =) &l 14 14,000 77%
8H23H(%) NS, &l 14 14,000 77%
8H24H(H) =) &l 14 14,000 77%
8H25H(H) NS &l 14 14,000 77%
8H26H(X) =) &l 14 11,590 81%
8H27H(K) NS, &l 14 11,590 81%
8H28H(K) =) &l 14 11,590 81%
8H29H (&) NS &l 14 14,000 77%
8H30H(L) =) &l 14 14,000 77%
8H31H(H) NS, &l 14 14,000 77%
S5H13H(X) &l =) 15 15,500 73%
5H14H(K) &l = 15 19,500 66%
S5H16H(%) &l file 15 19,000 67%
5H17H(%) &l = 15 19,500 66%
5H20H(X) &l =) 15 17,500 70%
5H21H(K) &l =) 15 19,000 67%
5H22H(K) &l =) 15 17,500 70%
S5H23H(:%) &l = 15 19,000 67%
5H25H(H) &l file 15 17,500 70%
5H27B(X) &l =) 15 17,500 70%
5H28H(K) &l =) 15 17,500 70%
5H29H(XK) &l = 15 18,000 69%
5H31H(L) &l file 15 17,500 70%
6H1H(H) &l =) 15 17,500 70%
6H2H(AH) &l =) 15 14,000 76%
6H3H(XN) &l =) 15 14,000 76%
6H4H(K) &l =) 15 14,000 76%
6H5H(K) &l =) 15 14,000 76%
6H6H (&) &l =) 15 14,000 76%
6H7H(%) &l =) 15 14,000 76%
6H10H(CN) &l =) 15 14,000 76%
6H11H(K) &l =) 15 14,000 76%
6H12H(K) &l = 15 14,000 76%
6H15H(H) &l =) 15 17,500 70%
6H16H(H) &l = 15 17,000 71%
6H17H(XN) &l =) 15 11,590 80%
6H18H(K) & =) 15 14,000 76%
6H19H(K) &l =) 15 11,590 80%
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$55E 0 XS ®% \

S _ _ mE 213/
68210(1) E% ﬁ; 12 05 T
68226/(8) = e 15 T Lo
68248 (X) i e 15 S ioo5 S5
68256 (K) = e 15 ot S0
68266 (K) a e 15 THLn S00
68276(%) = e 15 o e
658286 (1) i e 15 FRT05 Lo
65296 (H) = e 15 T o
68308(8) i e 15 05 Lo
7B1R(X) = e 15 i Sio
7B28(K) i e 15 THLn Sio
7B3A(K) = e 15 o o
7B40(&) R s 15 TR e
7B5E (L) ol e 15 T e
7B6E(H) R e 15 T o
7B78(8) = e 15 T e
7B8E(N) R e 15 ET S
7H9H(K) ol e 15 e Sio
78 108 (A) R e 15 T o
7B11H (%) = e 15 T e
7B128(1) R e 15 T S
7B138(8) ol e 15 T S
7B158(K) R e 15 TR e
7B 16H (K) = e 15 T o
7B17E(A) R e 15 T S
7B 188 (&) E e 15 T e
7B198 (1) R s 15 TR e
7B208(8) ol e 15 o e
7B218(8) R e 15 TR e
7B228(K) ) e 15 o e
7B238(K) R e 15 TR e
7B248(K) ) e 15 o e
7B258(%) R s 15 TR e
78268 (L) ol e 15 o e
7B278(8) R e 15 TR e
7B288(8) ) e 15 o e
7B298(X) R e 15 TR e
7B308 (K) ) e 15 o e
7A31A(A) & e 15 TR e
8H18E(H) Em e 15 > e
8B 198 (X) =T e 15 e ST
8B 205 () Em e 15 ot oo
88218 (K) & e 15 ot o
8E220(2) Em e 15 . e
882368(1) =T e 15 TN e
8E240(H) ol e 15 . =
882568 (8) =T e 15 TN e
8B 26 (X) ol e 15 et o
88278(X) =T e 15 T Sio
8H28E (&) ol e 15 ot 510
85290 (%) =T e 15 ot o
82 30E(L) T e 15 13'888 e
8H31 = ’ T

B(8) T e 15 14.000 7%




IBEX4Hi

e P %

B _ _ T 2151
SA1208(8) e iig e 200 e
2RTSE00 e *gm 16 15,500 73%
5H 140 () a =5 e 200 o
ETEETES e *gm 16 16,500 72%
Hioa(s) TS $§ﬁ 16 18,500 68%
5H208(X) A &5 T 200 fe
52208 (&) a = e T e,
SPIes e *gm 16 18,500 68%
Hoen(s) TS $§ﬁ 16 18,500 68%
FEIen e *gm 16 16,500 72%
55280 () a =5 e wieo0 o
5H298(K) A &5 T 200 o
SH300(&) = e e T too
5H31A (L) e =5 e 500 o

() e 1;@ 16 16,500 72%

SEEICa T *Em 16 17,500 70%

e e 1;@ 16 13,000 78%

e e *gm 16 13,000 78%

e e 1:@ 16 17,500 70%

ELETEn e *gm 16 13,000 78%

G e 1;@ 16 13,000 78%

S eon (s e *gm 16 13,000 78%
68 108 (N) = e T Sio0d e
65 110 (K) e =5 e 13000 e
68128 (k) = e T 251500 e
65 130(%) e =5 T 13000 e
68178 (N) a &F e 13000 e
65 180 () e &5 e 13000 e
65198 (R) A e e 13000 e
TS e ;E‘ 16 13,000 78%
SR e *gm 16 17,000 71%
658230(8) e &5 e 12590 S0
68248 (N) na e e 13000 e
65250 () e &5 e 13000 e
TS e *Elﬁ 16 13,000 78%
e e ;E‘ 16 11,590 80%
S FoeE () e *Elﬁ 16 15,000 74%
5o (0] e ;E‘ 16 13,000 78%
65305 (8) a &F e 13000 S

B0 T ;E 16 13,000 78%

PETeS e ;m 16 11,590 81%

EEETES S *EEJ 16 11,590 81%

ereTes e ;m 16 13,000 79%

EreTes T ;E 16 13,000 79%

e e ;m 16 13,000 79%

e T ;E 16 13,000 79%

LRS00 e ;m 16 13,000 79%

L OB (K] e *EEJ 16 11,590 81%
O ) e ;m 16 11,590 81%
7B110(%) e =5 e 13000 Lo
IR oE(E e ;m 16 13,000 79%
e e ;E 16 13,000 79%
LETeR00 e *zm 16 11,590 81%

=] 16 11,590 81%




IBEX4Hi

f55RE P #% —

EEER 5%
7H16H(K) =) &l 16 11,590 81%
7H17H(K) e &l 16 13,000 79%
7H18H(®) =) &l 16 13,000 79%
7H19H(L) e &l 16 13,000 79%
7H20H(H) =) &l 16 13,000 79%
7H22H(X) e &l 16 13,000 79%
7H23H(K) =) &l 16 11,590 81%
7H24H(K) e &l 16 13,000 79%
7H25H(®) =) &l 16 13,000 79%
7H26H(L) e &l 16 13,000 79%
7H27H(H) =) &l 16 13,000 79%
7H28H(H) e &l 16 13,000 79%
7H29H(X) =) &l 16 15,000 75%
7H30H(K) NS, &l 16 13,000 79%
7H31H(K) =) &l 16 15,000 75%
8H18H(H) NS &l 16 13,000 79%
8H19H(X) =) &l 16 11,590 81%
8H20H(K) NS, &l 16 11,590 81%
8H21H(K) =) &l 16 13,000 79%
8H22H (%) NS &l 16 13,000 79%
8H23H(L) =) &l 16 13,000 79%
8H24H(H) NS, &l 16 13,000 79%
8H25H(H) =) &l 16 11,590 81%
8H26H(X) NS &l 16 11,590 81%
8H27H(K) =) &l 16 11,590 81%
8H28H(K) NS, &l 16 11,590 81%
8H29H(&) =) &l 16 13,000 79%
8H30H(X) =) &l 16 13,000 79%
S5H8H(R) &l file 17 18,000 69%
SH13H(X) &l =) 17 15,500 73%
5H14H(K) &l file 17 18,000 69%
5H16H(&E) &l = 17 19,000 67%
5H20H(X) &l file 17 20,000 65%
5H28H(K) &l =) 17 18,000 69%
S5H30H(&®) &l file 17 18,000 69%
S5H31H(L) &l = 17 20,000 65%
6H3H(N) &l file 17 14,500 75%
6H4H(K) &l =) 17 14,500 75%
6H5H(K) &l file 17 14,500 75%
6H6H(E) & =) 17 14,500 75%
6H7H(X) &l =) 17 14,500 75%
68 108 () & filie 17 14,500 75%
6H11H(K) &l =) 17 17,000 71%
6H13H (&) &l =) 17 12,500 78%
6H14H(L) &l =) 17 17,500 70%
6H17H(XN) &l =) 17 17,000 71%
6H18H(K) &l =) 17 11,590 80%
6H19H(K) &l =) 17 14,500 75%
6H20H (&) &l =) 17 14,500 75%
6H21H(%) fa =) 17 14,500 75%
6H23H(H) &l = 17 17,000 71%
68248 () & filie 17 14,500 75%
6H25H(K) & =) 17 14,500 75%
6H26H(K) &l =) 17 11,590 80%




IBEX4Hi

f55RE P #% —

EEER 5%
6H27H(E) &l =) 17 17,500 70%
6H28H (%) & e 17 14,500 75%
6H30H(H) &l =) 17 14,500 75%
7H1HCN) & e 17 14,500 76%
7H2H(K) &l =) 17 14,500 76%
7H3H(K) & e 17 14,500 76%
7HA4H (&) &l =) 17 14,500 76%
7H6H(H) & e 17 14,500 76%
7H7H(H) &l =) 17 14,500 76%
7H8H(N) & e 17 14,500 76%
7H9H(K) &l =) 17 14,500 76%
7H10H(K) & e 17 14,500 76%
7H11H(E) &l =) 17 14,500 76%
7H12H(%) &l = 17 14,500 76%
7H13H(H) &l e 17 14,500 76%
7H14H(H) &l = 17 14,500 76%
7H15H(CN) &l e 17 14,500 76%
7H16H(K) &l = 17 14,500 76%
7H17H(K) &l e 17 14,500 76%
7H18H(&E) &l = 17 14,500 76%
7H19H(L) &l e 17 14,500 76%
7H20H(H) &l = 17 17,500 71%
7H21H(H) &l e 17 17,500 71%
7H22B(X) &l = 17 17,000 72%
7H23H(K) &l e 17 17,500 71%
7H24H(K) &l = 17 14,500 76%
7H25H(&®) &l file 17 14,500 76%
7H26H(%) & =) 17 14,500 76%
7H27H(H) &l file 17 17,500 71%
7H28H(H) &l =) 17 14,500 76%
7H29H(X) &l file 17 14,500 76%
7H30H(K) &l =) 17 14,500 76%
7H31H(K) &l file 17 14,500 76%
8H18H(H) &l =) 17 14,500 76%
8H19H(X) &l file 17 11,590 81%
8H20H(K) &l =) 17 11,590 81%
8H21H(K) &l file 17 14,500 76%
8H22H (&%) & =) 17 14,500 76%
8H23H(L) &l file 17 14,500 76%
88246 (H) & filie 17 14,500 76%
8H25H(H) &l =) 17 14,500 76%
8H26H(N) &l =) 17 11,590 81%
8H27H(K) &l =) 17 11,590 81%
8H28H(K) &l =) 17 11,590 81%
8H29H(&) &l =) 17 14,500 76%
8H30H(L) &l =) 17 14,500 76%
8H31H(H) &l =) 17 14,500 76%
S5H8H(XK) =) &l 18 17,500 70%
5H11H(H) =) &l 18 14,000 76%
5H12H(H) =) &l 18 15,500 73%
S5H13H(CN) =) e ] 18 17,500 70%
5H14H(K) =) &l 18 17,500 70%
5H17H(L) e &l 18 17,500 70%
5H19H(H) =) &l 18 17,500 70%




IBEX4Hi

f&E%&H
: (X
e T e :
Sﬁ Z1EY = = %
22H(K) = i -
5H24H8(1) s = r - il
5826H(8) i i : - .
P - o T 17,500 70%
58288 (/K) = an r = -
5829H(XK) = 1=IE - 5500 -
58308 (%) = an r - -
6H28(8) = 1=IE - 70 -
683H(N) = = r - -
68548 (K) = 1=IE - 750 -
6835 (K) = = r - -
6H6H(2) = 1=IE - 500 -
687H(1) = = r - :
6H8H(H) = & - 5000 -
689H(8) = = r - -
68108 (N) = = r - -
68311H(K) = &) o o0 -
68128 (K) = = r = -
68513H(2) = &) o 250 -
68148 (1) s = r - -
68517H(N) = &) o o0 -
68 18H(K) s = r - -
6H19H(A) = &) o 5000 -
68218 (1) = = r - -
6823H(A) = &) o 5000 -
68248 (N) = = r - -
68258 (K) =) &) - L1550 -
6826H(K) = = r - -
6827H(&) =) &) o 700 -
68288 (1) = = r - -
68308 (A) =) &) o L350 -
7B1H(N) = = r v -
782H(0K) = &) o 700 -
7H3H(K) = = r - -
784H(2) = &) o L350 -
7H58(1) = = r - -
7B6H(H) = &) o L5500 -
7B78(8) = = r - -
7B8H(N) = &) o L1550 -
7H9H(K) = = r - -
i - i s 17,000 81%
7H11H(®) = = r - .
7B 12H(+) =) 12 o L350 -
7H148(8) = = r - -
7B 158 (N) =) 12 ) o 5000 -
7H16H(K) = = r - :
78 17H(K) =) 12 ) o LS00 -
7H18H () = = r - -
7B 19H(+) =) 12 o L350 -
7H208(8) = = r - -
7821H(8) =) 12 - 5000 -
7H228(N) = = r - :
& &) T s -
o 18 14,000 o
18 17,500 L
11,590 Sio
81%




IBEX4Hi

f55RE P #% —

EEER 5%
7H23H(K) =) &l 18 11,590 81%
7H24H(K) e &l 18 14,000 77%
7H25H(®) =) &l 18 14,000 77%
78268 (1) fils i 18 11,500 81%
7H27H(H) =) &l 18 14,000 77%
7H28H(H) e &l 18 14,000 77%
7H29H(X) =) &l 18 11,590 81%
7H30H(K) e &l 18 11,590 81%
7H31H(K) =) &l 18 14,000 77%
8H1H(&E) e &l 18 14,590 76%
8H2H(L) =) &l 18 14,590 76%
8536 (H) fils 8 18 14,590 76%
8H4H(H) =) &l 18 14,590 76%
8H5H(X) NS, &l 18 14,590 76%
8H6H(K) =) &l 18 14,590 76%
8H7H(K) NS &l 18 14,590 76%
8H18H(H) =) &l 18 14,000 77%
8H19H(X) NS, &l 18 11,590 81%
8H20H(K) =) &l 18 11,590 81%
8H21H(K) NS &l 18 14,000 77%
8H22H (%) =) &l 18 14,000 77%
8H23H(%) NS, &l 18 14,000 77%
8H24H(H) =) &l 18 14,000 77%
8H25H(H) NS &l 18 11,590 81%
8H26H(X) =) &l 18 11,590 81%
8H27H(K) NS, &l 18 11,590 81%
8H28H(K) =) &l 18 11,590 81%
8H29H (&%) =) &l 18 14,000 77%
8H30H(L) =) &l 18 14,000 77%
8H31H(H) =) &l 18 14,000 77%
S5H9H(&) &l file 19 20,000 65%
SH13H(X) &l =) 19 14,000 76%
5H14H(K) &l =) 19 18,000 69%
S5H17H(L) &l = 19 20,000 65%
5H20H(X) &l =) 19 20,000 65%
5H24H(%) &l = 19 18,000 69%
5H27H(X) &l =) 19 18,000 69%
5H28H(K) &l =) 19 18,000 69%
5H29H(K) &l =) 19 18,000 69%
S5H30H (%) &l =) 19 18,000 69%
S5H31H(L) &l =) 19 18,000 69%
6H3H(XN) &l =) 19 12,500 78%
6H4H(K) &l =) 19 12,500 78%
6H5H(K) &l =) 19 14,500 75%
6H6H (&) &l =) 19 14,500 75%
6H10H(N) &l =) 19 14,500 75%
6H11H(K) &l =) 19 17,000 71%
6H12H(K) &l =) 19 14,500 75%
6H13H (&) &l =) 19 17,500 70%
6H16H(H) &l =) 19 14,500 75%
6H17H(CN) &l = 19 14,500 75%
6H18H(K) &l =) 19 14,500 75%
6H20H (&) & =) 19 14,500 75%
6H21H(L) &l =) 19 11,590 80%




IBEX4Hi

f55RE P #% —

EEER 5%
6H23H(H) &l =) 19 14,500 75%
6H25H(K) & e 19 14,500 75%
6H26H(K) &l =) 19 14,500 75%
6H27H(&) & e 19 14,500 75%
6H28H (L) &l =) 19 14,500 75%
6H29H(H) & e 19 15,000 74%
7H1HN) &l =) 19 14,500 76%
7H2H(K) & e 19 11,590 81%
7H3H(K) &l =) 19 14,500 76%
7H4H(E) & e 19 14,500 76%
7H7H(H) &l =) 19 14,500 76%
7H8H(N) & e 19 11,590 81%
7H9H(K) &l =) 19 11,590 81%
7H10H(K) &l = 19 14,500 76%
7H11H(E) &l e 19 14,500 76%
7H12H(%) & = 19 14,500 76%
7H13H(H) &l e 19 14,500 76%
7H14H(H) &l = 19 14,500 76%
7H158(X) &l e 19 14,500 76%
7H16H(K) &l = 19 15,000 75%
7H17H(K) &l =) 19 14,500 76%
7H18H(&E) & = 19 14,500 76%
7H19H(L) &l e 19 14,500 76%
7H20H(H) &l = 19 14,500 76%
7H22H(X) &l =) 19 15,000 75%
7H23H(K) &l = 19 14,500 76%
7H25H(&®) &l file 19 14,500 76%
7H26H(%) & =) 19 14,500 76%
7H27H(H) &l file 19 17,500 71%
7H298 () & filie 19 15,000 75%
7H30H(K) &l =) 19 14,500 76%
7H31H(K) &l =) 19 14,500 76%
8H18H(H) &l =) 19 14,500 76%
8H19H(X) &l =) 19 11,590 81%
8H20H(K) &l file 19 11,590 81%
8H21H(XK) &l =) 19 14,500 76%
8H22H(&) &l file 19 14,500 76%
8H23H(%) & =) 19 14,500 76%
8H24H(H) &l file 19 14,500 76%
8H25H(H) &l =) 19 14,500 76%
8H26H(N) &l =) 19 11,590 81%
8H27H(K) &l =) 19 11,590 81%
8H28H(K) &l =) 19 11,590 81%
8H29H (&) &l =) 19 14,500 76%
8H30H(L) &l =) 19 14,500 76%
8H31H(H) &l =) 19 14,500 76%
5H8H(K) =) 2= 20 12,760 66%
S5H9H(E) =) ZaE 20 12,760 66%
5H10H(L) =) 2z 20 13,760 63%
5H11H(H) =) 2oz 20 13,260 64%
5H12H(H) =) 2z 20 12,760 66%
SH13H(X) =) 2oz 20 12,760 66%
5H14H(K) e 2oz 20 12,760 66%
S5H15H(XK) =) 2z 20 12,760 66%




aE&e

(X5

EE

IBEX4Hi

5H16H (&
5817H Eii T
5H18H(H) e a5 -
5H19H(B) s Gai . : iu
5820H(N) i = . - .
5H21H(K) = ZhE o D -
5H228(K) = SoE : = -
5H23H(2) =y ZhE o o -
5H24H8(1) = SoE : = -
5H25H(8) =y ZhE o o -
5H268(8) = SoE : - .
5E27H(N) =y ZhE o e -
58288 (K) = SoE : - -
. - so 2L 14,260 64%
58308 (&) = oo - = -
5H31H(1) = ZhE o o -
6851H(H) = e - = :
6828 (8) = oo T = -
. - = 2 12,760 71%
-~ - o 20 12,760 66%
- SE(*) i 2ok = 10,760 66%
i s sar 2 10,760 71%
687H(1) Wa ZhE e o -
688H(H) = oo . - :
659H(8) WE 2R e i -
68108 (N) = SoE : - -
. : - 20 12,760 70%
68128 (K) = e : - -
6813H(%) s 2R o 5560 -
68148 (1) = SOz - - -
- : - - 10,760 82%
6816H(8) = SOz - = :
68178H(N) s 2R & o -
68 18H(K) = SOz - 5 -
. - o 20 8,760 66%
68208 (2) = SOz - = -
6821H(1) s 2R & o -
68228 (8) = SOz - : :
68238(A) s 2R & BhL -
68248 (N) = SOz - z :
68258 (7K) e 2R & 7250 -
- s 2ok < 7,260 74%
. - o 20 9,260 80%
- . = 20 12,760 75%
6529H(H) s ZhE & 5750 -
- 4 sk = 9,760 75%
7E1E(N) s ZhE & 8560 -
: . = 20 8,260 66%
7838 (X) s ZhE & AL -
7848(&) = ooE : - -
7E5H(1) s ZhE & cre -
= . = 20 6,760 83%
s - o 20 8,260 83%
e e 2ok < 7,260 79%
; - 2 > 81%
- 2 s 76%
2 e 81%
2260 81%
83%




aE&e

(X5

EE

IBEX4Hi

7B9H (K)
78108 T
78 1152) e 55 : N |
: ) mJA 2 _ 23|=%
12H(1) 5 : 0 :
m - = 1 83%
g : = 2,760 0
. - = 67%
14H(A) = : s x 0
7B 15H(N = o= 2 7250 -
: 165(7J<) T2 e : 7,260 79%
78 ) Wa S0k O , .
17H(K) = : 0 = 0
. - = 81%
18H (&) = : s £ 0
: - = 7 81%
9H(*%) : 0 = 0
78208 (H = o= o o7 -
782 ) i=) e 6 =
1H(A) z 0 = 0
78228 (N = o= o 6750 -
i ) - 2 . 83%
i : & ,760 0
m - = 83%
24H(K) = : 0 = 0
7H258(& = = : 6750 -
782 ) =) S 0 6 =
6H(X) : 0 = 0
78278(8 = = & s -
i ) - ao : 83%
8H(H) : 0 = 0
7E29H (N T e 2 - -
78 ) e Bl 0 , .
30H(CK) = : 0 = 0
m - = 76%
= : < 6,760 ()
: . = 83%
i : ssp 2 9,760 0
8H2H (1) k= 2 = 2 6.0 -
883H(H = o e AL -
e ) = = .
i : & 7,760 0
8H5H(N) e gEE o 7750 -
8H6H(K) il gEE 2 AL -
887H(K) = o & o -
8H18H(H T i 2 . -
88 ) Wa Dol 0 , .
19H(N) 5 : 0 = 0
88208 (7K T = 2 . -
88 ) Wa Dol 0 , .
21H(K) 5 : 0 = 0
8H22H(& =) = o oo -
882 ) = e 6 =
3H(X) : s = 0
8H24H(8 =) = o 6750 -
8A25H( ﬁ) e - % A -
8H2 ) = e ; -
= . & ,760 0
gz T2 o 2 7,760 80%
. 285(7'() i 25E 20 6,760 80%
| ) - so . : 83%
2 : & ,760 0
Sﬁ - = 83%
30H(XE) = : 0 = O
8H31H(H = = & cre -
5}%8E|(7|<)) e — % c7e0 -
SHoH (&) ZEE CLE= 20 c70 =
= 2o E e .
10H(X) = = o i 0
SA11H(H) 25 = 21 5760 =
2= 2o E e -
12H(AH) = = o i 0
SA138(N) 25 = 21 10760 o
2= ZhE e .
14H(K) = = o a0 0
58158 (K) ZhE ﬂui o O .
5H16H(&) ZHhE ﬂui 2 5760 -
o o {mz 21 8,760 76%
o mli . 5220 76%
: 21 10,760 o
10,760 Lo
71%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x
S5H18H(H) ZaE e 21 8,760 76%
S5H19H(A) ZhE = 21 10,760 71%
5H20H(X) ZaE e 21 8,760 76%
S5H21H(K) ZhE = 21 8,760 76%
5H22H(XK) ZaE e 21 8,760 76%
5H23H(E) ZhE = 21 10,760 71%
5H24H(%) ZaE e 21 8,760 76%
S5H25H(H) ZhE = 21 10,760 71%
S5H26H(H) ZaE e 21 8,760 76%
S5H27H(N) ZhE = 21 8,760 76%
5H28H(K) BEE e 21 8,760 76%
5H29H(XK) ZhE = 21 8,760 76%
5H30H (&) ZaE e 21 8,760 76%
S5H31H(L) 2EE il= 21 8,760 76%
681H(H) ZaE =) 21 8,760 76%
6H2H(A) 2EE il= 21 10,760 71%
6H3B(X) ZaE =) 21 8,760 76%
6H48(0K) 2EE = 21 6,760 82%
6H5H(R) ZaE =) 21 6,760 82%
6H6H(E) 2EE il= 21 10,760 71%
6H7H(L) ZaE =) 21 10,760 71%
6H8H(H) 2EE il= 21 8,760 76%
689H(A) ZaE =) 21 8,760 76%
6H108(N) 2EE il= 21 8,760 76%
6H11H(K) BEE =) 21 11,260 70%
6H12H(K) 2EE = 21 12,260 67%
6H13H(&) ZaE =) 21 10,760 71%
6H14H(X) 2EE = 21 8,760 76%
65 15H(H) ZaE =) 21 8,760 76%
6H16H(H) 2EE = 21 8,760 76%
6H17H(N) ZaE =) 21 6,760 82%
6H18H(K) 2EE = 21 6,760 82%
6H19H(K) ZaE =) 21 8,760 76%
6H20H(E) 2EE = 21 8,760 76%
6H21H(X) ZaE =) 21 8,760 76%
6H22H(H) 2EE = 21 7,260 80%
6823H(H) ZaE =y 21 8,760 76%
6H24H(XN) 2EE = 21 6,760 82%
6H25H(K) g 2Y=s] =) 21 6,760 82%
6H26H(K) “aE =) 21 6,760 82%
6H27H(&) ZaE =) 21 8,760 76%
6H28H (%) “aE =) 21 8,260 78%
6H29H(H) ZaE =) 21 8,260 78%
6H30H(H) “aE =) 21 7,260 80%
7H1HCN) ZaE =) 21 6,760 83%
7H2B(K) “aE =) 21 7,260 81%
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- : i 39 8,600 83%
i - cs 52 8,600 84%
- - : i 39 8,600 84%
7822H(N) = IN=] 5 10500 .
7H238(0K) s L2 - = -
7824H(XK) = IN=] 5 0100 .
- 5 s 29 10,100 81%
7827H(8) = /N=] 5 10 -
- 5 s 22 9,100 83%
7B29H(N) = /N=] 5 .10 -
78308 (K) = = = - -
P - cs 52 9,100 81%
8H3H(H) = = = - -
8H4H(H) = /N=] 5 10 -
= 5 s 22 9,100 83%
. - s 32 10,100 83%
= 5 s 22 10,100 81%
8818H(8) = IN=] 5 1010 -
8H19H(N) = = = = -
s NS = 0500 -
zs 29 10,600 S0
39 9,100 o5
8,600 S
84%
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8H20H(K) W=y L5 39 8,600 84%
8H21H(K) NS, NS 39 8,600 84%
8H22H (&) W=y L5 39 10,100 81%
8H23H(L) NS, NS 39 9,100 83%
8H24H(H) W=y L5 39 8,600 84%
8H25H(H) NS, NS 39 8,600 84%
8H26H(XN) W=y L5 39 9,100 83%
8H27H(K) NS, NS 39 8,600 84%
8H28H(K) W=y L5 39 8,600 84%
8H29H (&) NS, NS 39 10,100 81%
8H30H(x) W=y INS; 39 9,100 83%
8H31H(H) NS, NS 39 8,600 84%
S5H9H(E) L5 =) 40 10,600 79%
S5H11H(H) /NS = 40 9,100 82%
5H12H(H) L5 =) 40 10,100 80%
S5H13H(AN) /NS = 40 10,100 80%
5H14H(K) INZ] =) 40 10,600 79%
5H15H(XK) /NS il= 40 10,600 79%
5H18H(H) L5 =) 40 10,100 80%
S5H20H(AN) /NS il= 40 10,600 79%
5H21H(K) INZ] =) 40 10,100 80%
S5H25H(H) /NS = 40 10,100 80%
5H26H(H) L5 =) 40 10,100 80%
S5H27H(N) /NS il= 40 10,600 79%
5H28H(K) L5 =) 40 10,600 79%
5H29H(XK) /NS = 40 10,100 80%
5H30H(s&) NS =) 40 9,100 82%
5H31H(%) /NS = 40 10,600 79%
682H(A) NS =) 40 10,100 80%
6H3H(N) L5 (U=} 40 9,100 82%
6H4H(K) NS =) 40 8,600 83%
6H5H(K) /NS = 40 10,600 79%
6H6H(E) NS =) 40 10,600 79%
6H8H(H) /NS = 40 10,100 80%
6H9H(AH) NS =) 40 10,600 79%
6H11H(K) /NS = 40 9,100 82%
6H12H(K) NS =y 40 10,600 79%
6H14H(X) /NS = 40 9,100 82%
65 15H(H) NS =) 40 10,100 80%
6H16H(H) /NS =3 40 9,100 82%
6H17H(X) L5 (= 40 10,600 79%
6H18H(K) /NS =3 40 10,100 80%
6H19H(K) L5 (= 40 10,100 80%
6H20H (&) /NS =3 40 9,100 82%
6H21H (%) L5 =) 40 9,100 82%
6H24H(N) /NS =3 40 8,100 84%
6H25H(K) L5 (= 40 8,100 84%
6H26H(K) /NS =3 40 8,600 83%
6H27H(&) L5 = 40 10,600 79%
6H28H (L) NS =3 40 10,600 79%
68529H(H) L5 = 40 9,100 82%
6H30H(H) NS =3 40 8,100 84%
7H1HCN) L5 =) 40 10,100 81%
7H2B8(K) NS =3 40 8,600 84%
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7H3B(K) NS =) 40 10,100 81%
7H4H (&) INZ; = 40 10,100 81%
7H5H(%) NS =) 40 10,100 81%
7H6H(H) L5 = 40 9,100 83%
7H7H(H) NS =) 40 10,100 81%
7H8H(N) L5 = 40 10,100 81%
7H9H(K) NS e 40 9,100 83%
7H10H(XK) INZ; = 40 8,600 84%
7H11H(5&) L5 =) 40 10,100 81%
7H12H (%) INZ; = 40 10,100 81%
7H13H(H) NS =) 40 9,100 83%
7H14H(A) L5 = 40 8,600 84%
7H15H(N) L5 =) 40 8,600 84%
7H16H(K) /NS = 40 9,100 83%
7H17H(K) L5 =) 40 8,600 84%
7H18H (&) /NS = 40 10,600 80%
7H19H(L) INZ] =) 40 10,600 80%
7H20H(H) /NS = 40 10,100 81%
7H21H(H) L5 =) 40 9,100 83%
7H22H(N) /NS = 40 9,100 83%
7H23H(K) INZ] =) 40 9,100 83%
7H24H(K) /NS = 40 10,100 81%
7H25H (&) L5 =) 40 10,600 80%
7H26H(L) /NS = 40 10,100 81%
7H27H(H) L5 =) 40 8,600 84%
7H29H(N) /NS = 40 9,100 83%
7H30H(K) NS =) 40 9,100 83%
7H31H(XK) /NS = 40 9,100 83%
8H1H(E) NS =) 40 10,600 80%
8H2H(L) /NS = 40 10,600 80%
8H3H(H) NS =) 40 10,100 81%
8H4H(H) /NS = 40 9,100 83%
8H5H(KX) NS =) 40 9,100 83%
8H6H(K) /NS = 40 9,100 83%
8H7H(RK) NS =) 40 10,100 81%
8H18H(H) /NS = 40 10,100 81%
8H19H(N) NS =y 40 8,100 85%
8H20H(K) /NS = 40 8,100 85%
8H21H(K) NS =) 40 8,100 85%
8H22H(&) /NS =3 40 9,100 83%
8H23H(X) L5 =) 40 9,100 83%
8H24H(H) /NS =3 40 8,600 84%
8H25H(H) L5 (= 40 8,600 84%
8H26H(XN) /NS =3 40 8,100 85%
8H27H(K) L5 (= 40 8,100 85%
8H28H(K) /NS =3 40 8,100 85%
8H29H (&) L5 =) 40 10,100 81%
8H30H(%) /NS =3 40 9,100 83%
8H31H(H) L5 = 40 8,100 85%
S5H7B(K) =y IN=; 41 10,100 80%
S5H8H(XK) = IN=; 41 9,100 82%
S5H9H(E) =y IN=; 41 10,100 80%
S5H10H(L) = IN=] 41 9,100 82%
S5H11H(H) =y IN=; 41 10,100 80%
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5H128(B
ST ICN T
58158 (K) e = -
2 = 3 - ESEE >
5817H (1) i is . - .
S5H19H(B) = /N=] i 510 -
. - Lo = 10,100 83%
5H21H(K) = /N=] i 10500 -
. - Lo = 10,600 80%
. - s X 10,600 79%
5H24H8(1) = Lo i - -
P - e = 10,100 80%
5H268(8) = Lo i - -
S5H27H(N) = /N=] i 300 -
5H28H(K) = L2 i - .
. - s X 10,600 82%
58308(2) = = i i -
5H31H(1) s Lo i - -
681H(H) = L5 i a0 -
682H(8) = e i . -
683H(N) = L5 i a0 -
684H(K) = Lo i - -
685H(K) = L5 i 500 -
6878 (L) = Lo i - -
688H(H) = L5 i 10 -
6839H(8) = e i - -
685108 (N) = L5 i 10 -
6811H0K) = Le i - -
. . i2 o 10,600 82%
68138 (D) = L2 i - -
68148 (1) = L5 i s -
6815H(8) = L2 i . -
. . i2 a1 9,100 83%
68178 (N) = L2 i - -
. . i2 a1 10,600 82%
- . zs i1 10,100 79%
6821H(1) = IN=] i 8500 -
68228 (8) = L2 i o -
68238(8) = IN=] i 510 -
68248 (N) = L2 i i -
. - cs 2 9,100 80%
- . s i1 10,100 82%
68527H(&) = /N=] i S0 -
6828H(1) = = i - -
. - s = 8,600 84%
- 5 s 41 8,100 83%
i - s 4 10,100 84%
: 5 s 41 8,600 80%
7H3H(XK) = L5 i 8500 -
= 5 s 41 8,600 80%
i - s = 8,600 83%
i : s o 8,600 849,
i - s - 8,600 84%
= 5 s i1 9,100 84%
; - i X 83%
- i nL 83%
41 10,100 5o
9,100 o5
83%
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7H9H(K) W=y INS; 41 8,600 84%
7H10H(K) NS, NS 41 8,600 84%
7H11H(®) W=y INS; 41 10,100 81%
7H12H (%) NS, NS 41 9,100 83%
7H13H(H) W=y INS; 41 9,100 83%
7H14H(H) NS, NS 41 9,100 83%
7H15H(N) W=y INS; 41 8,600 84%
7H16H(K) NS, NS 41 9,100 83%
7H17H(XK) W=y INS; 41 8,600 84%
7H18H(E) NS, NS 41 10,100 81%
7H19H(L) W=y INS; 41 10,100 81%
7H20H(H) NS, NS 41 10,600 80%
7H21H(H) W= INS; 41 10,600 80%
7H22H(N) =3 L5 41 10,100 81%
7H23H(K) =y L5 41 10,600 80%
7H24H(K) =y L5 41 9,100 83%
7H25H (&) =y L5 41 10,600 80%
7H26H(L) NS, L5 41 9,100 83%
7H27H(H) =y L5 41 10,100 81%
7H28H(H) = L5 41 9,100 83%
7H29H(X) =y L5 41 8,600 84%
7H30H(K) =y L5 41 9,100 83%
7H31H(K) =y L5 41 9,100 83%
8H1H(E) NS L5 41 10,100 81%
8H2H(L) =y L5 41 8,600 84%
8H3H(H) =y L5 41 9,100 83%
8H4H(A) = L5 41 9,100 83%
8H5H(X) =3 L5 41 8,600 84%
8H6H(K) = L5 41 9,100 83%
8H7H(K) =3 L5 41 9,100 83%
8H18H(H) = L5 41 8,100 85%
8H19H(N) (=} NS 41 8,100 85%
8H20H(K) = L5 41 8,100 85%
8H21H(K) =3 L5 41 8,100 85%
8H22H (&) = L5 41 10,100 81%
8H23H(X) =) L5 41 8,100 85%
8H24H(H) =y L5 41 8,100 85%
8H25H(H) =3 L5 41 8,100 85%
8H26H(N) = L5 41 8,100 85%
8H27H(K) W=y IN=; 41 8,100 85%
8H28H(K) W=y L5 41 8,100 85%
8H29H (&) W=y IN=; 41 8,100 85%
8H30H(X) W=y IN=] 41 8,100 85%
8H31H(H) W=y IN=; 41 8,100 85%
S5H7H(K) L5 (= 42 10,100 80%
S5H8H(K) /NS =3 42 8,600 83%
S5H9H(E) L5 =) 42 10,100 80%
5H10H(L) /NS =) 42 10,100 80%
5H11H(H) L5 = 42 10,600 79%
5H12H(H) NS =) 42 10,600 79%
S5H13H(X) L5 (= 42 10,100 80%
S5H14H(K) NS =3 42 10,600 79%
5H15H(K) L5 =) 42 10,600 79%
5H17H(L) NS =) 42 10,600 79%
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SH208(K) mi ﬁ; 23 T0}05 S00
SA21R(K) RS e 42 T 530
5H228(K) RS e 42 ¥ So0
5H23H(2) RS e 42 T S
5H268(8) RS e 42 T0ico5 Lo
58276 (X) RS e 42 T o
58 28H (K) RS e 42 k05 S0
58290 (A) RS e 42 TR 505
5B30H(2) RS e 42 ER S0
5B31H (1) RS e 42 e o
6526 (8) fRE e 42 5450 oo
6830(X) LB e 42 SR S50
6 54E () RS e 42 R =
6556 () LB e 42 T S0
6560(%) RS e 42 T 500
68708(1) LE e 42 P s
658E(H) RS e 42 e o
65 108(N) LE e 42 5 T
68110 (K) RS e 42 T T
65128 (kK) LB e 42 e oo
68130 (2) RS e 42 R S0
68 145 (1) LE e 42 T 500
68158 (0) LB e 42 T S
65160(8) LE e 42 5 T
68178 (X) RS e 42 i b
65 18E (k) LB e 42 e S50
68 195 (A) LB e 42 W 5o
65200(2) LB e 42 e S50
68210(1) LB e 42 N S50
65240(N) LB e 42 i 505
68256 (X) LB e 42 T S0
65260 (k) LB e 42 oo s
68276(%) LB e 42 T 550
65280(1) LB e 42 i 505
65306 (8) LB e 42 N 5o
7B1A(X) LB e 42 o 52
7B28(K) LB e 42 W 550
7B38(kK) LB e 42 o 500
7B48(&) fRE e 42 Tt S
7B5E (L) LB e 42 o 530
7B68(H) LB e 42 N 530
7B78(8) LB e 42 S 5o
7B8E(N) LB e 42 KIS 530
7B9E(K) LB e 42 e 5o
7B 108 (X) LB e 42 T S
7B118(S) LB e 42 i 50
7B128(1) fRE e 42 T S
7B138(8) LB e 42 N 515
7B148(8) LB e 42 o s
7B 158 (X) LB e 42 e 510
7B168(K) LB e 42 ¥ 530
72 178(K) fRE e 42 196 110000 515
e , 81%

(&) fRE e 42 5,100 83%
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7H19H(L) NS =) 42 10,600 80%
7H20H(H) INZ; = 42 10,100 81%
7H21H(H) NS =) 42 10,600 80%
7H22H(N) L5 = 42 10,100 81%
7H23H(K) L5 =) 42 9,100 83%
7H24H(K) L5 = 42 9,100 83%
7H25H(5&) NS =) 42 10,100 81%
7H26H (%) INZ; = 42 10,100 81%
7H28H(H) L5 =) 42 10,100 81%
7H29H(N) INZ; = 42 10,100 81%
7H30H(K) L5 =) 42 8,600 84%
7H31H(K) L5 = 42 9,100 83%
8H1H(E) L5 =) 42 10,600 80%
8H2H(L) /NS = 42 10,100 81%
8H3H(H) L5 =) 42 10,100 81%
8H4H(H) /NS = 42 10,100 81%
8HS5H(X) INZ] =) 42 8,600 84%
8H6H(K) /NS = 42 10,100 81%
8H7H(RK) L5 =) 42 10,100 81%
8H18H(H) /NS = 42 10,100 81%
8H19H(N) INZ] =) 42 8,100 85%
8H20H(K) /NS = 42 8,100 85%
8H21H(K) L5 =) 42 8,100 85%
8H22H(&) /NS = 42 8,100 85%
8H23H(X) L5 =) 42 8,100 85%
8H24H(H) /NS = 42 8,100 85%
8H25H(H) NS =) 42 8,100 85%
8H26H(XN) /NS = 42 8,100 85%
8H27H(K) LS =) 42 8,100 85%
8H28H(K) /NS = 42 8,100 85%
8H29H (&) NS =) 42 8,600 84%
8H30H(L) L5 = 42 9,100 83%
8H31H(H) NS =) 42 8,100 85%
S5H8H(K) (=} NS 43 9,100 82%
S5H9H(E) = L5 43 10,100 80%
5H10H(%) =3 L5 43 10,100 80%
5H12H(H) =y L5 43 9,100 82%
S5H13H(XN) =3 L5 43 8,600 83%
5H14H(K) = L5 43 9,100 82%
5H17H(L) W=y IN=; 43 10,100 80%
5H19H(H) W=y L5 43 10,100 80%
5H20H(X) W=y IN=; 43 10,600 79%
5H21H(K) W=y L5 43 8,600 83%
5H22H(XK) W=y IN=; 43 10,100 80%
S5H24H(%) W=y IN=] 43 10,100 80%
S5H26H(H) W=y IN=; 43 9,100 82%
5H27B(X) W=y L5 43 10,100 80%
S5H28H(K) W=y IN=; 43 9,100 82%
5H29H(K) = IN=; 43 10,600 79%
5H31H(%) =y IN=; 43 10,100 80%
681H(H) = L5 43 10,600 79%
6H2H(H) =y IN=; 43 8,100 84%
6H3H(X) = IN=] 43 8,600 83%
6H48(K) =y IN=; 43 8,600 83%




aE&e

(X5

EE

IBEX4Hi

6858 (A&
A T e
6878 (1) e e E
6839H(8) = L 43 - il
685108 (N) i is : . .
6811H(K) = /N=] - 5100 -
. - L8 = 9,100 80%
. - s 22 8,100 82%
68148 (1) = Lo i . .
68158(H) = = s - -
6816H(8) = Lo i o -
i - e X 10,100 79%
68188 (/K) = Lo i o -
68 19H(K) = /N=] - 10500 -
68228 (8) = L2 43 o -
. 4 Lo X 10,100 79%
68248 (N) = = 43 - -
68258 (K) = Lo s o -
. . i2 23 10,100 79%
68278 (&) = Lo s - -
6828H (1) = L5 - c0 =
- T s 5 8,100 84%
6H308(8) = L5 - 510 -
7B18(N) = Lo s = -
7H2H(K) = NS - 0500 -
7B3H(K) = e 43 o -
7H4H (%) = NS - a0 -
7H58(1) = Le s - -
7H6H(8) = L5 - s =
7878(8) = L2 i - -
7H8H(N) = L5 - 300 :
7898 (K) = Le 43 - -
7B10H(X) = IN=] - 5100 .
7H118(2) = L2 i = -
7812H (1) = L5 - s -
7H138(8) = L2 i - -
7814H(8) = IN=] - 0100 .
7E158(AN) = L2 i - -
78B16H(K) = IN=] - 60 -
- : s = 10,600 84%
7818H (%) = IN=] - 8500 .
i + s = 8,600 81%
i - cs 2 8,600 84%
- - 5 s 43 8,600 84%
7822H(N) = /N=] - 510 -
7H238(0K) = Le i = -
7824H(XK) = L5 - 0560 -
7H258(2) = = 43 : -
P - cs 2 9,100 80%
7H278(8) = Le i . -
7828H(8) = IN=] - 60 -
7EH298(N) = Lo i i -
7B 30H(K) = IN=] - 510 -
7H318(XK) = Lo i - -
s NS - e -
- 43 oL 83%
i T 84%
9,100 S5
83%
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8H1H(E) W=y INS; 43 8,600 84%
8H2H(L) NS, NS 43 8,600 84%
8H3H(H) W=y INS; 43 9,100 83%
8H4H(H) NS, NS 43 10,100 81%
8HS5H(X) W=y INS; 43 9,100 83%
8H6H(K) NS, NS 43 10,100 81%
8H7H(K) W=y INS; 43 10,600 80%
8H18H(H) NS, NS 43 9,100 83%
8H19H(XN) W=y INS; 43 8,100 85%
8H20H(K) NS, NS 43 8,100 85%
8H21H(K) W=y INS; 43 8,100 85%
8H22H(E) NS, NS 43 8,100 85%
8H23H(L) W= INS; 43 8,100 85%
8H24H(H) =3 L5 43 9,100 83%
8H25H(H) =y L5 43 8,100 85%
8H26H(N) (U= NS 43 8,100 85%
8H27H(K) =y L5 43 8,100 85%
8H28H(XK) (U= NS 43 8,100 85%
8H29H (&) =y L5 43 8,100 85%
8H30H(X) NS L5 43 8,100 85%
8H31H(H) =y L5 43 9,100 83%
S5H7B(K) /NS il= 44 10,600 79%
S5H8H(XK) L5 =) 44 10,100 80%
S5H9H(E) /NS il= 44 10,600 79%
5H12H(H) L5 =) 44 10,100 80%
SH13H(X) /NS = 44 10,100 80%
5H14H(K) LS =) 44 10,600 79%
5H15H(XK) /NS = 44 10,600 79%
5H16H(5&) NS =) 44 10,600 79%
S5H17H(L) /NS = 44 10,600 79%
5H18H(H) NS =) 44 10,600 79%
5H20H(X) /NS = 44 8,600 83%
5H21H(K) LS =) 44 8,600 83%
5H22H(XK) /NS = 44 10,100 80%
5H25H(H) NS =) 44 10,100 80%
S5H26H(H) /NS = 44 10,600 79%
S5H27H(X) NS =) 44 10,100 80%
S5H28H(K) /NS = 44 9,100 82%
S5H29H(XK) NS =) 44 8,100 84%
S5H30H (&) /NS =3 44 10,600 79%
S5H31H(%) L5 =) 14 8,600 83%
6H1H(H) /NS =3 44 10,600 79%
6H2H(H) L5 (= 44 10,100 80%
6H3H(N) L5 (=} 44 8,100 84%
6H4H(K) L5 (= 44 10,100 80%
6H5H(K) /NS =3 44 9,100 82%
6H7H(XL) L5 =) 14 9,100 82%
6H9H(H) /NS =3 44 10,600 79%
6H10H(X) L5 (= 44 10,100 80%
6H11H(K) NS =3 44 9,100 82%
6H12H(K) L5 (= 44 8,100 84%
6H13H (%) NS =3 44 10,600 79%
6H14H (L) L5 =) 44 10,100 80%
6H16H(H) NS =3 44 10,100 80%
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S __ _ mE 213/
BT he T . T o
68 195 (&) RS e 44 i S0
65205 (%) RS e 44 T0e05 o
68210(1) RS e 44 TR S0
68248 (X) RS e 44 T0e05 o
68256 (K) RS e 44 oy S
65266 (K) RS e 44 N 50
682768(%) RS e 44 T o5
658286 (1) RS e 44 T 53
65300 (3) fRE e 44 T S5t
7B1A(K) RS e 44 e S
7B28(K) LB e 44 Y 50
7B38(kK) RS e 44 9 S
7B4E (%) LE e 42 TN Sio
7B58(1) RS e 44 o S
7B6E(H) LE e 42 e 530
7B78(8) RS e 44 ST o3
7B8E(N) LB e 42 o 0
7B98 () RS e 44 T S0
7B 108 (A) LE e 42 e S
7B11R(&) RS e 44 T S0
7H12H(%) INZ; = 44 B o
7B 135(8) LB e 42 i 510
7B 145 () LE e 42 e 500
7B158(K) RS e 44 o cao
7H16H(K) INZ] = 44 e o
7B17H(A) LB e 44 R 50
7B18E (%) LB e 42 e S0
7B198(1) LB e 44 T S5
7B208(8) LB e 42 . 510
7B218(8) LB e 44 T S0
7B228(K) LB e 42 P St
7B238(K) LB e 44 R 50
7B248(K) LB e 42 W 50
7B258(%) LB e 44 R 5o
78268 (L) LB e 42 P S
7B278(8) LB e 42 e 510
7B288(8) LB e 42 s S0%
7B 295 (X) LB e 44 T a5
7B308(K) LB e 42 e 53
7B318 (k) LhE e 44 N 53
SE1E(D) LB e 42 e 505
8B28(L) fRE e 44 T 507
EEEIG)) LB e 42 N 515
8B4E(8) LB e 44 o S
8E5E(X) LB e 42 o 530
8868 (K) LB e 44 > S
8B7E (%) LB e 42 o 530
85180 (8) LB e 44 T 5o
8B 198 (X) LB e 42 o =
88208 (X) LB e 44 ¥ =
82215 K) fRE e 44 2'188 =
e , 85%

(&) fRE e 44 8.100 85%
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8H23H(X) NS =) 44 8,100 85%
8H24H(H) INZ; = 44 8,100 85%
8H25H(H) NS =) 44 8,600 84%
8H26H(XN) L5 = 44 8,100 85%
8H27H(K) L5 =) 44 8,100 85%
8H28H(K) L5 = 44 8,600 84%
8H29H (&) NS =) 44 8,100 85%
8H30H (L) INZ; = 44 8,100 85%
8H31H(H) L5 =) 44 8,100 85%
S5H8H(K) =y ALIR 45 7,830 79%
S5H9H(E) W=y ALIR 45 7,830 79%
S5H13H(AN) NS, ALIR 45 7,330 80%
S5H14H(K) (= ALIR 45 7,830 79%
5H15H(XK) =3 ALIE 45 7,830 79%
5H16H(5) =y ALIR 45 7,830 79%
S5H17H(L) =y ALIE 45 7,830 79%
5H18H(H) =y ALIR 45 7,830 79%
S5H19H(AH) =y ALIE 45 7,830 79%
S5H20H(X) =y ALIR 45 7,830 79%
S5H21H(K) = ALIE 45 7,830 79%
S5H22H(K) =y ALIR 45 7,830 79%
S5H23H(:) =y ALIE 45 7,330 80%
5H28H(K) (= ALIR 45 7,330 80%
5H29H(XK) = ALIE 45 7,830 79%
5H30H (&) =y ALIR 45 7,830 79%
6H2H(AH) =y ALIE 45 7,330 80%
6H3B(X) = ALIR 45 7,830 79%
6H4H(K) =3 ALIR 45 7,830 79%
6H5H(R) = ALIR 45 7,830 79%
6H8H(H) =3 ALIR 45 7,330 80%
6H9H(AH) = ALIR 45 7,830 79%
6H11H(K) =3 ALIR 45 7,830 79%
6H12H(K) = ALIR 45 7,830 79%
6H13H(E) =3 ALIR 45 7,830 79%
65 15H(H) = ALIR 45 7,830 79%
6H16H(H) =3 ALIR 45 7,330 80%
6H18H(K) =y ALIR 45 7,830 79%
6H19H(K) =3 ALIR 45 7,830 79%
68522H(H) = ALIR 45 7,830 79%
6H24H(N) W=y ALIR 45 7,830 79%
6H25H(K) W=y ALIR 45 6,330 83%
6H26H(K) W=y ALIR 45 7,830 79%
6H27H(&) W=y ALIR 45 7,830 79%
6H29H(H) W=y ALIR 45 6,330 83%
6H30H(H) W=y ALIR 45 7,830 79%
7H1B(KX) W=y ALIR 45 5,330 86%
7H2H(K) W=y ALIR 45 6,330 84%
7H3B(K) W=y ALIR 45 5,330 86%
7H4B(E) = ALIR 45 5,330 86%
7H5H(L) =y ALIR 45 5,330 86%
7H6H(H) = ALIR 45 7,830 80%
7H7H(8) =y ALIR 45 7,330 81%
7H8H(N) = ALIR 45 6,330 84%
7H9H(K) =y ALIR 45 7,330 81%
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7H10H(XK) (= ALIR 45 6,330 84%
7H11HGE) =y ALIR 45 7,830 80%
7H12H(L) W=y ALIR 45 7,830 80%
7H13H(H) =y ALIR 45 7,830 80%
7H14H(H) W=y ALIR 45 5,330 86%
7H15H(N) =y ALIR 45 7,830 80%
7H16H(K) (= ALIR 45 5,330 86%
7H17H(K) =y ALIR 45 7,830 80%
7H18H(5&) W=y ALIR 45 5,330 86%
7H20H(H) =y ALIR 45 7,830 80%
7H21H(H) W=y ALIR 45 7,830 80%
7H22H(N) =y ALIR 45 6,330 84%
7H23H(K) (= ALIR 45 5,330 86%
7H24H(K) =3 ALIE 45 6,330 84%
7H25H (&) =y ALIR 45 7,330 81%
7H26H(L) =y ALIE 45 5,330 86%
7H27H(H) =y ALIR 45 7,830 80%
7H28H(H) =y ALIE 45 5,330 86%
7H29H(X) (= ALIR 45 7,830 80%
7H30H(K) = ALIE 45 7,330 81%
7H31H(K) (= ALIR 45 5,330 86%
8H1H(E) =y ALIE 45 6,830 83%
8H2H(L) =y ALIR 45 7,830 80%
8H3H(H) = ALIE 45 6,830 83%
8H4H(A) =y ALIR 45 6,830 83%
8H5H(XN) =y ALIE 45 6,830 83%
8H6H(K) (= ALIR 45 6,830 83%
8H7H(K) =3 ALIR 45 6,830 83%
8H18H(H) (= ALIR 45 7,330 81%
8H19H(XN) =3 ALIR 45 6,830 83%
8H20H(K) (= ALIR 45 7,330 81%
8H21H(K) =3 ALIR 45 7,330 81%
8H22H (&) = ALIR 45 6,830 83%
8H24H(H) =3 ALIR 45 6,830 83%
8H25H(H) (= ALIR 45 6,830 83%
8H26H(XN) =3 ALIR 45 6,830 83%
8H27H(K) (= ALIR 45 6,830 83%
8H28H(K) =3 ALIR 45 6,830 83%
8H29H (&) = ALIR 45 7,830 80%
S5H8H(K) ALIE =3 46 6,830 82%
S5H9H(E) ALIR =) 46 7,830 79%
S5H10H(%) ALIE =3 46 7,830 79%
5H11H(H) ALIR =) 46 7,830 79%
S5H14H(K) ALIE =3 46 7,830 79%
S5H15H(K) ALIR (= 46 7,830 79%
5H16H(5) ALIE =3 46 6,830 82%
S5H17H(%) ALIR =) 46 7,830 79%
S5H18H(H) ALIE =3 46 7,830 79%
5H19H(H) ALIR (= 46 7,830 79%
5H20H(X) ALIE =3 46 7,830 79%
5H21H(K) ALIR (= 46 7,830 79%
5H22H(XK) ALIE =3 46 7,330 80%
5H23H(5&) ALIR =) 46 6,330 83%
5H24H(L) ALIR =3 46 7,830 79%
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5H25H(H) ALIR =) 46 7,830 79%
5H26H(H) ALIR e 46 7,830 79%
S5H27H(X) ALIR =) 46 7,830 79%
5H28H(K) ALIR e 46 7,330 80%
S5H29H(XK) ALIR =) 46 7,330 80%
5H30H(&) ALIR e 46 6,330 83%
5H31H(L) ALIR =) 46 7,830 79%
6H1H(H) AL e 46 7,330 80%
6H2H(H) ALIR =) 46 7,830 79%
6H3H(X) ALIR e 46 5,330 86%
6H4H(K) ALIR =) 46 6,330 83%
6H5H(K) ALIR e 46 7,830 79%
6H7H(L) ALIR =) 46 7,330 80%
6A8E(B) LR filie 46 7,330 80%
6H9H(H) ALIR e 46 7,830 79%
6H10H(X) ALIR =) 46 6,330 83%
6H11H(K) ALIR e 46 7,830 79%
6H12H(K) ALIR = 46 7,830 79%
6H13H (&) ALIR e 46 7,830 79%
6H14H(%) ALIR = 46 7,830 79%
6H15H(H) ALIR e 46 7,830 79%
6H16H(H) ALIR = 46 7,830 79%
6H17H(X) ALIR e 46 7,330 80%
6H18H(K) ALIR =) 46 7,330 80%
6H19H(K) ALIR e 46 7,330 80%
6H208 (%) ALI% e 26 7,830 79%
6H21H(L) ALIR file 46 7,830 79%
6H22H(H) ALIR = 46 7,830 79%
6H23H(H) ALIR =) 46 7,330 80%
6H24H(N) ALIR = 46 5,330 86%
6H25H(K) ALIR =) 46 7,830 79%
6H26H(K) ALIR = 46 7,330 80%
6H27H (&) ALIR file 46 6,330 83%
6H28H (%) ALIR = 46 7,830 79%
6H29H(H) ALIR file 46 7,830 79%
6H30H(H) ALIR = 46 7,330 80%
7H1H(X) ALIR =) 46 5,330 86%
7H2H(K) ALIR = 46 6,330 84%
7H3H(R) ALIR =) 46 5,330 86%
7H4H (&) ALIR =) 46 6,330 84%
7H5H(L) ALIR =) 46 5,330 86%
7H6H(H) ALIR =) 46 7,330 81%
7B7E ) ALI% e 46 6,330 84%
7H8H(N) ALIR =) 46 6,330 84%
7H9H(K) ALIR =) 46 5,330 86%
7H10H(XK) ALIR =) 46 6,330 84%
7H11H(®) ALIR =) 46 5,330 86%
7H12H(L) ALIR =) 46 5,330 86%
7H13H(H) ALIR =) 46 7,330 81%
7H14H(H) ALIR =) 46 5,330 86%
7H15H(CN) ALIR = 46 6,330 84%
7H16H(K) ALIR =) 46 5,330 86%
7H17H(K) ALIR =) 46 7,830 80%
7H18H(s®) ALIR =) 46 5,330 86%
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7H19H(L) ALIR =) 46 5,330 86%
7H20H(H) ALIR e 46 7,330 81%
7H21H(H) ALIR =) 46 5,330 86%
7H22B(X) ALIR e 46 7,830 80%
7H23H(K) ALIR =) 46 5,330 86%
7H24H(K) ALIR e 46 5,330 86%
7H25H(®) ALIR =) 46 7,830 80%
78268 (1) ALI% il 26 7,330 81%
7H27H(H) ALIR =) 46 5,330 86%
7H28H(H) ALIR e 46 5,330 86%
7H29H(X) ALIR =) 46 5,330 86%
7H30H(K) ALIR e 46 5,330 86%
7H31H(K) ALIR =) 46 5,330 86%
8H1H(E) ALIR =) 46 6,830 83%
8H2H(%) ALIR e 46 6,830 83%
8H3H(H) ALIR =) 46 6,830 83%
8H4H(H) ALIR e 46 6,830 83%
8H5H(X) ALIR =) 46 6,830 83%
8H6H(K) ALIR e 46 6,830 83%
8H7H(K) ALIR =) 46 6,830 83%
8H18H(H) ALIR e 46 6,830 83%
8H19H(X) ALIR =) 46 6,830 83%
8H20H(K) ALIR e 46 6,830 83%
8H21H(K) ALIE = 46 6,830 83%
8H22H (%) ALIR e 46 7,330 81%
8H23H(%) ALIR =) 46 6,830 83%
8H24H(H) ALIR file 46 6,830 83%
8H25H(H) ALIR = 46 7,330 81%
8H26H(X) ALIR =) 46 6,830 83%
8H27H(K) ALIR = 46 6,830 83%
8H28H(K) ALIR =) 46 6,830 83%
8H29H (&) ALIR = 46 6,830 83%
8H30H(L) ALIR file 46 6,830 83%
8H31H(H) ALIR = 46 6,830 83%
S5H8H(R) =) ALIR 47 7,830 79%
S5H9H(&E) =) ALIR 47 7,830 79%
5H12H(H) =) ALIR 47 7,830 79%
SH 136 () s ALI% 47 6,830 82%
5H14H(K) =) ALIR 47 7,330 80%
S5H15H(XK) =) ALIR 47 7,830 79%
S5H16H(®) =) ALIR 47 7,830 79%
5H17H(L) =) ALIR 47 7,830 79%
5H19H(H) =) ALIR 47 7,830 79%
S5H20H(X) =) ALIR 47 6,830 82%
5H21H(K) =) ALIR 47 7,830 79%
S5H22H(XK) =) ALIR 47 7,830 79%
S5H23H(&) =) ALIR 47 6,830 82%
5H24H(L) =) ALIR 47 7,830 79%
5H25H(H) =) ALIR 47 7,830 79%
5H26H(H) =) ALIR 47 7,830 79%
5H27H(CN) =) ALIR 47 7,830 79%
55288 (K) e ALI% 47 7,830 79%
5H29H(K) e ALIR 47 7,830 79%
55308 (%) e 1LI% 47 7,330 80%
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S5H31H(%) W=y ALIR 47 7,830 79%
6H2H(AH) =y ALIR 47 7,830 79%
6H3H(N) W=y ALIR 47 7,830 79%
6H48(K) NS, ALIR 47 7,330 80%
6H6H(E) W=y ALIR 47 7,830 79%
6H7H(L) NS, ALIR 47 7,830 79%
6H8H(H) W=y ALIR 47 7,830 79%
6H9H(A) =y ALIR 47 7,830 79%
6H10H(XN) (= ALIR 47 7,330 80%
6H11H(K) NS, ALIR 47 6,330 83%
6H12H(K) (= ALIR 47 7,830 79%
6H14H (L) =y ALIR 47 7,830 79%
6H15H(H) W= ALIR 47 7,830 79%
6H16H(H) =3 ALIE 47 6,330 83%
6H17H(N) (= ALIR 47 7,830 79%
6H18H(K) =y ALIE 47 5,330 86%
6H19H(K) (= ALIR 47 7,830 79%
6H20H (&) =y ALIE 47 7,830 79%
6H21H(X) =y ALIR 47 7,830 79%
6H22H(H) = ALIE 47 7,830 79%
6823H(H) =y ALIR 47 7,330 80%
6H248(XN) =y ALIE 47 7,330 80%
6H25H(K) (= ALIR 47 7,330 80%
6H26H(K) = ALIE 47 7,330 80%
6H27H(:&) =y ALIR 47 7,830 79%
6H28H (L) =y ALIE 47 7,830 79%
68529H(H) = ALIR 47 7,830 79%
6H30H(H) =3 ALIR 47 7,830 79%
7H1HCN) (= ALIR 47 5,330 86%
7H2B(K) =3 ALIR 47 6,330 84%
7H3H(K) = ALIR 47 6,330 84%
7H4B(E) =3 ALIR 47 5,330 86%
7H5H(X) = ALIR 47 5,330 86%
7H6H((H) =3 ALIR 47 6,330 84%
7H7H(H) = ALIR 47 7,330 81%
7H8H(X) =3 ALIR 47 6,330 84%
7H9H(K) (= ALIR 47 5,330 86%
7H10H(XK) =3 ALIR 47 7,330 81%
7H11H(&) = ALIR 47 7,830 80%
7H12H(L) W=y ALIR 47 7,830 80%
7H13H(H) W=y ALIR 47 7,330 81%
7H14H(H) W=y ALIR 47 5,330 86%
7H15H(X) W=y ALIR 47 5,330 86%
7H16H(K) W=y ALIR 47 5,330 86%
7H17H(K) W=y ALIR 47 6,330 84%
7H18H(5&) W=y ALIR 47 5,330 86%
7H19H(L) W=y ALIR 47 5,330 86%
7H20H(H) W=y ALIR 47 5,330 86%
7H21H(H) = ALIR 47 5,330 86%
7H22H(X) =y ALIR 47 7,830 80%
7H23H(K) = ALIR 47 5,330 86%
7H24H(XK) =y ALIR 47 5,330 86%
7H25H (&) = ALIR 47 7,830 80%
7H26H(%) =y ALIR 47 7,830 80%
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7H27H(H) W=y ALIR 47 5,330 86%
7H28H(A) =y ALIR 47 7,330 81%
7H29H(N) (= ALIR 47 5,330 86%
7H30H(K) NS, ALIR 47 5,330 86%
7H31H(XK) (= ALIR 47 7,330 81%
8H1H(&) NS, ALIR 47 6,830 83%
8H2H(L) W=y ALIR 47 7,330 81%
8H3H(H) =y ALIR 47 6,830 83%
8H4H(H) W=y ALIR 47 6,830 83%
8H5H(XN) =y ALIR 47 6,830 83%
8H6H(K) (= ALIR 47 6,830 83%
8H7H(RK) =y ALIR 47 6,830 83%
8H18H(H) W= ALIR 47 7,330 81%
8H19H(XN) =3 ALIE 47 6,830 83%
8H20H(K) (= ALIR 47 6,830 83%
8H21H(K) =y ALIE 47 7,330 81%
8H22H (&) =y ALIR 47 7,330 81%
8H23H(X) =y ALIE 47 7,830 80%
8H24H(H) =y ALIR 47 6,830 83%
8H25H(H) = ALIE 47 6,830 83%
8H26H(N) (= ALIR 47 6,830 83%
8H27H(K) =y ALIE 47 6,830 83%
8H28H(K) (= ALIR 47 6,830 83%
8H29H (&) = ALIE 47 6,830 83%
8H30H(x) =y ALIR 47 7,830 80%
8H31H(H) =y ALIE 47 6,830 83%
SH8H(RK) AL =) 48 7,830 79%
S5H9H(E) ALIE =3 48 7,830 79%
S5H10H(L) AL =) 48 7,830 79%
S5H11H(H) ALIE =3 48 7,830 79%
5H14H(K) AL =) 48 7,330 80%
5H15H(XK) ALIE =3 48 6,830 82%
5H16H(5&) AL =) 48 7,830 79%
S5H17H(L) ALIE =3 48 7,830 79%
5H18H(H) AL =) 48 7,830 79%
S5H19H(A) ALIE =3 48 7,830 79%
S5H20H(X) AL =y 48 7,830 79%
S5H21H(K) ALIE =3 48 7,830 79%
S5H22H(XK) AL =) 48 7,330 80%
5H23H(5) ALIE =3 48 7,830 79%
S5H24H(%) ALIR =) 48 7,830 79%
S5H25H(H) ALIE =3 48 7,830 79%
5H26H(H) ALIR (= 48 7,830 79%
5H27H(X) ALIE =3 48 7,830 79%
5H28H(K) ALIR (= 48 6,830 82%
5H29H(XK) ALIE =3 48 6,330 83%
5H30H(s&) ALIR =) 48 6,330 83%
S5H31H(%) ALIE =3 48 7,830 79%
6H2H(H) ALIR (= 48 7,830 79%
6H3B(X) ALIE =3 48 5,330 86%
6H4H(K) ALIR (= 48 7,830 79%
6H5H(K) ALIE =3 48 7,830 79%
6H6H(E) ALIR =) 48 7,830 79%
6H7H(L) ALIR =3 48 7,830 79%
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6H9H(H) ALIR e 48 7,830 79%
6H10H(XN) ALI = 48 7,830 79%
6H11H(K) AL e 48 7,830 79%
6H12H(K) ALI = 48 6,330 83%
6H13H(E) ALIR e 48 7,830 79%
6H14H(L) ALI = 48 7,830 79%
6H16H(H) ALIR e 48 7,830 79%
6H17H(CXN) ALI = 48 7,330 80%
6H18H(K) AL e 48 7,830 79%
6H19H(K) ALI = 48 7,330 80%
6H20H (&) ALIR e 48 7,830 79%
6H21H(L) ALI = 48 5,330 86%
6H22H(H) ALIR e 48 7,830 79%
6H23H(H) ALIR il= 48 7,830 79%
6H24H(N) AL =) 48 7,830 79%
6H25H(K) ALIE il= 48 7,330 80%
6H26H(K) AL =) 48 7,830 79%
6H27H (&) ALIE il= 48 7,330 80%
6H28H (%) ALIR =) 48 7,830 79%
6H30H(H) ALIE il= 48 7,830 79%
7H1HCN) AL =) 48 5,330 86%
7H2B(K) ALIE il= 48 5,330 86%
7H3H(K) AL =) 48 5,330 86%
7HA4B(GE) ALIE il= 48 7,830 80%
7H5H(X) ALIR =) 48 6,330 84%
7H6H(H) ALIE = 48 5,330 86%
7H7H(H) AL =) 48 6,330 84%
7H8H(X) ALIE =3 48 5,330 86%
7H9H(K) AL =) 48 5,330 86%
7H10H(XK) ALIE =3 48 5,330 86%
7H11H(&) AL =) 48 5,330 86%
7H12H(L) ALIE =3 48 6,330 84%
7H13H(H) AL =) 48 7,330 81%
7H14H(H) ALIE =3 48 7,830 80%
7H15H(X) AL =) 48 6,330 84%
7H16H(K) ALIE =3 48 5,330 86%
7H17H(K) AL =y 48 5,330 86%
7H18H (&) ALIE =3 48 6,330 84%
7H19H(L) AL =) 48 5,330 86%
7H20H(H) ALIE =3 48 5,330 86%
7H22B(X) ALIR (= 48 7,330 81%
7H23H(K) ALIE =3 48 5,330 86%
7H24H(K) ALIR (= 48 5,330 86%
7H25H (&) ALIE =3 48 5,330 86%
7H26H(L) ALIR =) 48 5,330 86%
7H27H(H) ALIE =3 48 7,830 80%
7H28H(H) ALIR (= 48 7,330 81%
7H29H(N) ALIE =3 48 5,330 86%
7H30H(K) ALIR (= 48 7,830 80%
7H31H(XK) ALIE =3 48 6,330 84%
8H1H(E) ALIR = 48 6,830 83%
8H2H(L) ALIE =3 48 6,830 83%
8H3H(H) ALIR =) 48 6,830 83%
8H4H(H) ALIR =3 48 6,830 83%
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8H5H(N) AL e 48 6,830 83%
8H6H(K) ALI = 48 6,830 83%
8H7H(K) AL e 48 6,830 83%
8H18H(H) ALI = 48 7,330 81%
8H19H(XN) AL e 48 6,830 83%
8H20H(K) ALI = 48 7,830 80%
8H21H(K) AL e 48 6,830 83%
8H22H(E) ALI = 48 7,830 80%
8H24H(H) ALIR e 48 6,830 83%
8H26H(XN) ALI = 48 6,830 83%
8H27H(K) AL e 48 6,830 83%
8H28H(K) ALI = 48 6,830 83%
8H29H (&) ALIR e 48 6,830 83%
8H30H(X) ALIR il= 48 7,330 81%
S5H8H(R) (= ALIR 49 7,830 79%
SH9H(E) =y ALIE 49 7,830 79%
5H12H(H) =y ALIR 49 7,830 79%
S5H13H(AN) =y ALIE 49 7,330 80%
5H14H(K) (= ALIR 49 6,830 82%
5H15H(XK) = ALIE 49 7,830 79%
5H16H(5) =y ALIR 49 7,330 80%
S5H17H(L) =y ALIE 49 7,830 79%
5H18H(H) =y ALIR 49 7,830 79%
S5H20H(AN) = ALIE 49 7,330 80%
5H21H(K) (= ALIR 49 6,330 83%
5H22H(XK) =y ALIE 49 7,830 79%
5H23H(5&) = ALIR 49 7,330 80%
S5H24H(%) =3 ALIR 49 6,830 82%
5H25H(H) = ALIR 49 7,830 79%
5H27H(X) =3 ALIR 49 7,830 79%
S5H28H(K) (= ALIR 49 6,830 82%
5H29H(XK) =3 ALIR 49 7,330 80%
5H30H(s%) = ALIR 49 6,830 82%
5H31H(%) =3 ALIR 49 7,830 79%
681H(H) = ALIR 49 7,830 79%
6H2H(H) =3 ALIR 49 6,330 83%
6H3B(X) (= ALIR 49 5,330 86%
6H4H(K) =3 ALIR 49 7,830 79%
6H5H(R) (= ALIR 49 7,330 80%
6H6H(E) W=y ALIR 49 6,330 83%
6H7H(XL) W=y ALIR 49 7,830 79%
6H8H(H) W=y ALIR 49 7,830 79%
689H(H) W=y ALIR 49 7,330 80%
6H108(XN) W=y ALIR 49 5,330 86%
6H11H(K) W=y ALIR 49 7,330 80%
6H12H(K) W=y ALIR 49 7,830 79%
6H13H(&) W=y ALIR 49 7,830 79%
6H14H(L) W=y ALIR 49 7,830 79%
6H15H(H) = ALIR 49 7,830 79%
6H16H(H) =y ALIR 49 6,330 83%
6H17H(X) = ALIR 49 6,330 83%
6H18H(K) =y ALIR 49 7,830 79%
6H19H(K) =y ALIR 49 7,830 79%
6H20H (&) =y ALIR 49 7,830 79%
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6H21H(L) W=y ALIR 49 7,330 80%
6H22H(H) =y ALIR 49 7,830 79%
6H23H(H) W=y ALIR 49 7,830 79%
6H24H(XN) =y ALIR 49 7,330 80%
6H25H(K) (= ALIR 49 5,330 86%
6H26H(K) =y ALIR 49 7,330 80%
6H27H(E) W=y ALIR 49 7,830 79%
6H28H (L) =y ALIR 49 7,330 80%
6H29H(H) W=y ALIR 49 7,830 79%
6H30H(H) =y ALIR 49 7,830 79%
7H1B(KX) (= ALIR 49 5,330 86%
7H2B(K) NS, ALIR 49 5,330 86%
7H3B(K) (= ALIR 49 7,330 81%
7H4B(GE) =3 ALIE 49 7,330 81%
7H5H(X) =y ALIR 49 6,330 84%
7H6H(H) =y ALIE 49 6,330 84%
7H7H(H) =y ALIR 49 6,330 84%
7H8H(N) =y ALIE 49 5,330 86%
7H9H(K) (= ALIR 49 6,330 84%
7H10H(K) = ALIE 49 7,330 81%
7H11H(&) =y ALIR 49 7,830 80%
7H12H(L) =y ALIE 49 5,330 86%
7H13H(H) =y ALIR 49 7,830 80%
7H14H(H) = ALIE 49 5,330 86%
7H15HX) (= ALIR 49 5,330 86%
7H16H(K) =y ALIE 49 5,330 86%
7H17H(K) = ALIR 49 5,330 86%
7H18H(5&) =3 ALIR 49 5,330 86%
7H19H(L) = ALIR 49 5,330 86%
7H20H(H) =3 ALIR 49 5,330 86%
7H21H(H) (= ALIR 49 5,330 86%
7H22H(X) =3 ALIR 49 5,330 86%
7H23H(K) (= ALIR 49 5,330 86%
7H24H(XK) =3 ALIR 49 5,330 86%
7H25H (&) = ALIR 49 7,830 80%
7H26H (%) =3 ALIR 49 6,330 84%
7H27H(H) =y ALIR 49 7,830 80%
7H28H(AH) =3 ALIR 49 5,330 86%
7H29H(X) = ALIR 49 5,330 86%
7H30H(K) W=y ALIR 49 5,330 86%
7H31H(K) W=y ALIR 49 5,330 86%
8H1H(E) W=y ALIR 49 6,830 83%
8H2H(L) W=y ALIR 49 6,830 83%
8H3H(H) W=y ALIR 49 6,830 83%
8H4H(H) W=y ALIR 49 6,830 83%
8HS5H(X) W=y ALIR 49 6,830 83%
8H6H(K) W=y ALIR 49 6,830 83%
8H7H(K) W=y ALIR 49 6,830 83%
8H18H(H) = ALIR 49 7,830 80%
8H19H(AN) =y ALIR 49 6,830 83%
8H20H(K) = ALIR 49 6,830 83%
8H21H(K) =y ALIR 49 6,830 83%
8H22H (&) = ALIR 49 6,830 83%
8H23H(X) =y ALIR 49 6,830 83%
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8H24H(H) W=y ALIR 49 6,830 83%
8H25H(H) =y ALIR 49 6,830 83%
8H26H(XN) (= ALIR 49 6,830 83%
8H27H(K) NS, ALIR 49 6,830 83%
8H28H(K) (= ALIR 49 6,830 83%
8H29H (&) =y ALIR 49 6,830 83%
8H30H(%) W=y ALIR 49 6,830 83%
8H31H(H) =y ALIR 49 7,830 80%
S5H8H(RK) AL e 50 7,830 79%
5H9H (&) ALIR = 50 7,330 80%
S5H10H(L) ALIR e 50 7,830 79%
S5H11H(H) ALI = 50 7,830 79%
S5H14H(K) AL e 50 6,830 82%
5H15H(XK) ALIR il= 50 7,830 79%
5H16H(5) ALIR =) 50 7,830 79%
S5H18H(H) ALIE il= 50 7,830 79%
S5H20H(X) AL =) 50 7,830 79%
S5H21H(K) ALIE il= 50 7,830 79%
S5H22H(XK) AL =) 50 7,830 79%
S5H23H(:) ALIE il= 50 7,830 79%
S5H24H(%) ALIR =) 50 7,830 79%
S5H25H(H) ALIE il= 50 7,830 79%
S5H27H(X) AL =) 50 7,830 79%
5H28H(K) ALIE il= 50 7,830 79%
5H29H(XK) AL =) 50 7,330 80%
S5H30H () ALIE = 50 7,330 80%
682H(A) AL =) 50 7,830 79%
6H3B(X) ALIE =3 50 7,330 80%
6H4H(K) AL =) 50 7,830 79%
6H5H(K) ALIE =3 50 7,830 79%
6H6H(E) AL =) 50 7,830 79%
6H7H(L) ALIE =3 50 7,830 79%
6H9H(A) AL =) 50 7,830 79%
6H10H(XN) ALIE =3 50 7,830 79%
6H11H(K) AL =) 50 5,330 86%
6H12H(K) ALIE =3 50 5,330 86%
6H14H (L) AL =y 50 7,830 79%
6H16H(H) ALIE =3 50 7,830 79%
6H17H(N) AL =) 50 7,830 79%
6H18H(K) ALIE =3 50 7,830 79%
6H19H(K) ALIR (= 50 7,830 79%
6H20H (&) ALIE =3 50 7,330 80%
6H21H (%) ALIR (= 50 7,830 79%
6H23H(H) ALIE =3 50 7,830 79%
6H24H(X) ALIR (= 50 7,830 79%
6H25H(K) ALIE =3 50 7,830 79%
6H26H(K) ALIR (= 50 7,330 80%
6H27H (&) ALIE =3 50 7,830 79%
6H28H (%) ALIR (= 50 7,830 79%
6H29H(H) ALIE =3 50 7,830 79%
6H30H(H) ALIR (= 50 7,330 80%
7H1B(X) ALIE =3 50 5,330 86%
7H2H(K) ALIR =) 50 5,330 86%
7H3H(K) ALIR =3 50 5,330 86%
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7B4E (%) LR = 50 6,330 84%
7H5H(L) ALIR e 50 7,330 81%
7H7H(H) ALIR =) 50 5,330 86%
7888 (X ALI% e 50 7,330 81%
7H9H(K) ALIR =) 50 5,330 86%
7A10B(K) ALI% e 50 7,330 81%
7H11H(E) ALIR =) 50 7,330 81%
7H12H(L) AL e 50 6,330 84%
7H13H(H) ALIR =) 50 7,830 80%
7H14H(H) ALIR e 50 7,830 80%
7H15H(X) ALIR =) 50 5,330 86%
7H16H(K) ALIR e 50 5,330 86%
7H17H(K) ALIR =) 50 5,330 86%
7H18E (%) ALI% filie 50 7,330 81%
7H19H(L) ALIR e 50 7,830 80%
7H208(H) LR filie 50 5,330 86%
7H21H(H) ALIR e 50 5,330 86%
7H228 () LR filie 50 5,330 86%
7H23H(K) ALIR =) 50 6,330 84%
7H24H(K) ALIR =) 50 5,330 86%
7H25H(&®) ALIR e 50 7,830 80%
78268 (+) ALI% filie 50 7,830 80%
7H27H(H) ALIR e 50 5,330 86%
7H28H(H) ALIR =) 50 5,330 86%
7H29H(X) ALIR =) 50 5,330 86%
7H30H(K) ALIR =) 50 7,330 81%
7H31H(K) ALIR =) 50 5,330 86%
8A1E(2) iLIE e 50 7,830 80%
8H2H(%) ALIR =) 50 7,830 80%
8H3H(H) ALIR = 50 7,830 80%
8H4H(H) ALIR =) 50 6,830 83%
8H5H(X) ALIR = 50 6,830 83%
8H6H(K) ALIR =) 50 6,830 83%
8H7H(K) ALIE = 50 6,830 83%
8H18H(H) ALIR =) 50 6,830 83%
8H19H(N) ALIR = 50 7,330 81%
8H20H(K) ALIR =) 50 6,830 83%
8H21H(K) ALIR = 50 6,830 83%
8H22H(&) ALIR =) 50 6,830 83%
8H23H(L) ALIR =) 50 7,330 81%
8H24H(H) ALIR =) 50 6,830 83%
8H25H(H) ALIR =) 50 7,330 81%
8H26H(N) ALIR =) 50 6,830 83%
8H27H(K) ALIR =) 50 6,830 83%
8H28H(K) ALIR =) 50 6,830 83%
8H29H (&) ALIR =) 50 7,830 80%
8H30H(L) ALIR =) 50 7,830 80%
5H10H(L) KPR =) 51 8,360 80%
5H11H(H) KBR = 51 8,360 80%
5H12H(H) KPR =) 51 8,360 80%
S5H13H(CN) KBR = 51 8,360 80%
5B 146 (K) xR filie 51 7,860 81%
5H15H(K) ABR =) 51 7,860 81%
S5H16H(%) ABR =) 51 8,360 80%
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SH18E(H) xR ﬁ; gi T S0
58208 (X) xR e 51 e S0
5B21H (K) xR e 51 T S00
5226 () xR e 51 ey S1o
SH230(%) xR e 51 T S0
5H240(1) xR e 51 ey S1o
5H258(H) xR e 51 L Sio
58276 (X) xR e 51 e oo
58 28H (K) xR e 51 L Sio
5H29H () xR e 51 P a0
SH308(%) xR e 51 L 550
5B31H (1) xR e 51 = aio
65 3E (N) xR e 51 e oo
6545 () xR e 51 e oo
6556 () xR e 51 L S0
6565 (%) xR e 51 o 205
6878(1) xR e 51 p S0
65 108(N) xR e 51 o 205
68110 (K) xR e 51 p Soo
65128 (kK) xR e 51 o o5
68 140(1) xR e 51 o S0
65150(H) xR e 51 L 505
6816E(8) xR e 51 p o5
68178(N) xR e 51 r 53
68 188 (X) xR e 51 o S0
65190 (k) xR e 51 o o5
68200 (%) xR e 51 o 53
68210(1) xR e 51 e 505t
682268(8) xR e 51 e S0%
65230(8) xR e 51 o 205t
68248 (N) xR e 51 T S5
68 25E () xR e 51 e 53
65265 (A) xR e 51 o 5o
65270(2) xR e 51 e 505
6528E(1) xR e 51 T S5
65290(H) xR e 51 L 515
65306 (8) xR e 51 L a5
7E1E(K) xR e 51 e 52t
7B28(K) xR e 51 e 50
7B38(K) xR e 51 i 50
7B48(&) xR e 51 e 507
7B5E (L) xR e 51 i 50
7B68(H) xR e 51 e 507
7B78(8) xR e 51 i 50
7B8E(N) xR e 51 e 507
7B9E(K) xR e 51 i 50
7B 108 (X) xR e 51 e 507
7B118(&) xR e 51 . 50
7B128(1) xR e 51 e 507
7B138(8) xR e 51 i =
7B148(8) xR e 51 T 0
7B158(N) xR e 51 o aio
7168 (K) AR a 2560 S

= 51 6,860 84%
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7H17H(XK) ABR e 51 6,860 84%
7H18H(5&) AN (=3 51 6,860 84%
7H19H(L) ABR e 51 6,860 84%
7H20H(H) AN (=3 51 6,860 84%
7H21H(H) ABR e 51 6,860 84%
7H22H(N) AN (=3 51 8,360 80%
7H23H(K) ABR e 51 6,860 84%
7H24H(K) AN (=3 51 6,860 84%
7H25H(5&) ABR e 51 6,860 84%
7H26H(L) AN (=3 51 6,860 84%
7H27H(H) ABR e 51 6,860 84%
7H28H(A) AN (=3 51 6,860 84%
7H29H(N) ABR e 51 6,860 84%
7H30H(K) AN il= 51 6,860 84%
7H31H(K) AN =) 51 6,860 84%
8H1H(E) AN il= 51 6,860 84%
8H2H(L) AN =) 51 6,860 84%
8H3H(H) AN il= 51 8,360 80%
8H4H(A) AN =) 51 8,360 80%
8HS5H(N) AN il= 51 8,360 80%
8H6H(K) AN =) 51 6,860 84%
8H7H(K) AN il= 51 7,860 82%
8H18H(H) AN =) 51 6,860 84%
8H19H(XN) AN il= 51 6,860 84%
8H20H(K) AP =) 51 6,860 84%
8H21H(K) AN = 51 6,860 84%
8H22H (&) ABR =) 51 6,860 84%
8H23H(L) AN =3 51 6,860 84%
8H24H(H) ABR =) 51 6,860 84%
8H25H(H) AN =3 51 6,860 84%
8H26H(N) ABR =) 51 6,860 84%
8H27H(K) AN =3 51 6,860 84%
8H28H(K) ABR =) 51 6,860 84%
8H29H (&) AN =3 51 7,860 82%
8H30H(X) ABR =) 51 6,860 84%
8H31H(H) AN =3 51 6,860 84%
SH8H(RK) =y ABR 52 8,360 80%
S5H9H(E) =3 AP 52 7,360 82%
S5H10H(L) = ABR 52 8,360 80%
S5H11H(H) W=y AP 52 8,360 80%
5H12H(H) W=y N 52 7,860 81%
S5H13H(XN) W=y AP 52 8,360 80%
5H14H(K) W=y N 52 7,860 81%
5H15H(XK) W=y AP 52 7,860 81%
5H19H(H) W=y N 52 8,360 80%
5H20H(X) W=y AP 52 7,860 81%
5H21H(K) W=y N 52 8,360 80%
5H22H(XK) W=y AP 52 7,860 81%
S5H24H(%) = ABR 52 8,360 80%
5H27H(X) =y KB 52 7,360 82%
5H28H(K) = N 52 8,360 80%
5H29H(XK) =y KB 52 7,860 81%
5H30H(s&) =y KB 52 8,360 80%
S5H31H(%) =y AP 52 8,360 80%




aE&e

(X5

EE

IBEX4Hi

6818 (H
P T
683H(N) e = -
684H(K) = 2 = = =
685H(AK) i n : - .
= . - 52 6,860 80%
o - o 22 6,860 83%
6H9H(8) = KB = o -
68108 (N) = o = - -
. - 5 = 8,360 83%
68128 (K) = =B > - -
685148 (1) = PN = i -
6816H(8) = o = . -
685 17H(N) = PN = i -
68 18H(K) = = > - -
685 19H(K) = PN = i -
68208(2) = 2 > - -
68218 (1) = = > - -
6822H(H) = N 2 s -
68238 (8) = = > - -
. - = - 8,360 81%
68258 (K) = = > - -
6826H (K) = N 2 i -
68278 (&) = = > : -
6828H (1) = N 2 o -
68298 () = = > : -
6830H(8) = PN 2 i -
7B1H(N) = = > : -
782B(0K) = KPR 2 i -
7H3H(K) = B 52 - -
P - = > 6,860 83%
- : ~ 22 6,860 83%
7B6H(H) = KPR 2 i -
- - : ~ 22 6,860 84%
7BA8H(N) = KPR 2 s -
7898 (K) = B 52 - -
P - = > 6,860 80%
. : ~ 22 6,860 84%
P - = > 6,860 84%
7E138(8) = = > - .
P - = > 6,860 84%
- 5 ~ 22 8,360 84%
7B 16H(K) = KPR 25 o .
i + A 2 6,860 82%
i - X 22 6,860 84%
i + A 2 6,860 84%
7820H(H) = KPR 25 i -
i + A 2 6,860 84%
78228 (N) = KPR 25 i -
i + A 2 6,860 84%
i - X 22 6,860 84%
i : A 22 6,860 84%
i - % 22 8,360 84%
- 5 . 22 6,860 80%
s KR 2 KT -
- > 5560 84%
- b3 80%
6,860 S
84%
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7H28H(H) W=y AP 52 6,860 84%
7H29H(N) =y AN 52 6,860 84%
7H30H(K) W=y AP 52 6,860 84%
7H31H(K) =y AN 52 6,860 84%
8H1H(E) W=y AP 52 8,360 80%
8H3H(H) =y N 52 8,360 80%
8H4H(H) W=y AP 52 8,360 80%
8HS5H(XN) =y AN 52 6,860 84%
8H6H(K) W=y AP 52 6,860 84%
8H7H(RK) =y AN 52 8,360 80%
8H18H(H) W=y AP 52 6,860 84%
8H19H(XN) =y N 52 6,860 84%
8H20H(K) W= AP 52 6,860 84%
8H21H(K) =3 AN 52 6,860 84%
8H22H (&) =y AP 52 6,860 84%
8H23H(X) =y AN 52 6,860 84%
8H24H(H) =y AP 52 6,860 84%
8H25H(A) =y KB 52 6,860 84%
8H26H(N) =y AP 52 6,860 84%
8H27H(K) = AN 52 6,860 84%
8H28H(K) =y AP 52 6,860 84%
8H29H (&) =y KB 52 6,860 84%
8H30H(x) =y AP 52 7,860 82%
8H31H((H) = AN 52 6,860 84%
S5H8H(R) AN =) 53 8,360 80%
S5H9H(E) AN = 53 7,860 81%
S5H10H(L) ABR =) 53 8,360 80%
S5H11H(H) AN =3 53 8,360 80%
5H12H(H) AN =) 53 8,360 80%
S5H13H(XN) AN =3 53 8,360 80%
5H14H(K) AN =) 53 7,360 82%
5H15H(XK) AN =3 53 7,860 81%
5H16H(5&) ABR =) 53 7,860 81%
S5H17H(L) AN =3 53 8,360 80%
5H18H(H) ABR =) 53 8,360 80%
5H20H(X) AN =3 53 8,360 80%
5H21H(K) AN =y 53 7,360 82%
5H22H(XK) AN =3 53 8,360 80%
5H23H(5&) ABR =) 53 8,360 80%
5H24H(L) AN =3 53 8,360 80%
5H25H(H) ABR (= 53 7,860 81%
5H27H(X) AN =3 53 7,860 81%
5H28H(K) ABR (= 53 7,860 81%
5H29H(XK) AN =3 53 7,860 81%
5H30H(s&) ABR (= 53 7,860 81%
S5H31H(%) AN =3 53 8,360 80%
6H3H(X) ABR (= 53 7,860 81%
6H48(K) AN =3 53 6,860 83%
6H5H(K) ABR (= 53 7,860 81%
6H6H(E) AN =3 53 8,360 80%
6H7H(L) ABR (= 53 7,860 81%
6H8H(H) AN =3 53 8,360 80%
6H10H(N) AN e 53 7,860 81%
6H11H(K) ABR =3 53 6,860 83%
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6H12H(K) ABR e 53 7,860 81%
6H14H(X) AN (=3 53 8,360 80%
6H15H(H) ABR e 53 8,360 80%
6H16H(H) AN (=3 53 8,360 80%
6H17H(XN) ABR e 53 6,860 83%
6H18H(K) AN (=3 53 6,860 83%
6H19H(K) ABR e 53 6,860 83%
6H20H (&) AN (=3 53 6,860 83%
6H21H(L) ABR =) 53 6,860 83%
6H23H(H) AN (=3 53 7,860 81%
6H24H(N) ABR e 53 6,860 83%
6H25H(K) AN (=3 53 6,860 83%
6H26H(K) ABR e 53 6,860 83%
6H27H (&) AN il= 53 8,360 80%
6H28H (%) AN =) 53 8,360 80%
6H30H(H) AN il= 53 7,860 81%
7H1HCN) AN =) 53 6,860 84%
7H2B(K) AN il= 53 6,860 84%
7H3H(K) AN =) 53 6,860 84%
7HA4B(GE) AN il= 53 6,860 84%
7H5H(X) AN =) 53 6,860 84%
7H6H(H) AN il= 53 8,360 80%
7H7H(H) AN =) 53 8,360 80%
7H8H(N) AN il= 53 6,860 84%
7H9H(K) AP =) 53 6,860 84%
7H10H(K) AN = 53 6,860 84%
7H11H(&) ABR =) 53 6,860 84%
7H12H(L) AN =3 53 6,860 84%
7H14H(H) ABR =) 53 6,860 84%
7H15H(N) AN =3 53 6,860 84%
7H16H(K) AN =) 53 6,860 84%
7H17H(XK) AN =3 53 6,860 84%
7H18H(5&) ABR =) 53 6,860 84%
7H19H(L) AN =3 53 6,860 84%
7H20H(H) ABR =) 53 6,860 84%
7H21H(AH) AN =3 53 6,860 84%
7H22H(X) ABR =y 53 8,360 80%
7H23H(K) AN =3 53 6,860 84%
7H24H(K) ABR =) 53 6,860 84%
7H25H (&) AN =3 53 6,860 84%
7H26H(L) ABR (= 53 7,860 82%
7H27H(H) AN =3 53 8,360 80%
7H28H(H) ABR (= 53 8,360 80%
7H29H(N) AN =3 53 8,360 80%
7H30H(K) ABR (= 53 6,860 84%
7H31H(XK) AN =3 53 6,860 84%
8H1H(E) ABR (= 53 6,860 84%
8H2H(L) AN =3 53 8,360 80%
8H3H(H) ABR (= 53 8,360 80%
8HS5H(X) AN =3 53 7,860 82%
8H6H(K) ABR (= 53 8,360 80%
8H7H(K) AN =3 53 6,860 84%
8H18H(H) AN e 53 6,860 84%
8H19H(XN) ABR =3 53 6,860 84%
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8H20H(K) ABR e 53 6,860 84%
8H21H(K) AN (=3 53 6,860 84%
8H22H (&) ABR e 53 6,860 84%
8H23H(X) AN (=3 53 6,860 84%
8H24H(H) ABR e 53 6,860 84%
8H25H(H) AN (=3 53 6,860 84%
8H26H(XN) ABR e 53 6,860 84%
8H27H(K) AN (=3 53 6,860 84%
8H28H(K) ABR e 53 6,860 84%
8H29H (&) AN (=3 53 6,860 84%
8H30H(x) ABR e 53 6,860 84%
8H31H(H) AN (=3 53 8,360 80%
S5H9H(E) W= AP 54 7,860 81%
S5H10H(L) =3 AN 54 8,360 80%
5H12H(H) =y AP 54 8,360 80%
S5H13H(AN) =y AN 54 7,860 81%
5H14H(K) =y AP 54 7,860 81%
5H15H(XK) =y KB 54 7,860 81%
5H16H(5) =y AP 54 7,360 82%
S5H18H(H) = AN 54 7,860 81%
5H19H(H) =y AP 54 8,360 80%
S5H20H(AN) =y KB 54 7,860 81%
5H21H(K) =y AP 54 7,360 82%
5H22H(XK) = AN 54 7,860 81%
5H23H(5) =y AP 54 8,360 80%
S5H24H(%) =y KB 54 7,860 81%
5H25H(H) = ABR 54 8,360 80%
5H27H(X) =3 AP 54 8,360 80%
5H28H(K) = ABR 54 7,860 81%
5H29H(XK) =3 AP 54 8,360 80%
5H30H(s&) = ABR 54 7,860 81%
5H31H(%) =3 AP 54 8,360 80%
681H(H) = ABR 54 8,360 80%
6H2H(AH) =3 AP 54 6,860 83%
6H3B(X) = ABR 54 6,860 83%
6H4H(K) =3 AP 54 6,860 83%
6H5H(R) =y ABR 54 6,860 83%
6H6H(E) =3 AP 54 8,360 80%
6H7H(L) = ABR 54 7,860 81%
6H8H(H) W=y AP 54 8,360 80%
689H(H) W=y N 54 7,860 81%
6H108(XN) W=y AP 54 8,360 80%
6H11H(K) W=y N 54 7,860 81%
6H12H(K) W=y AP 54 7,860 81%
6H13H(&) W=y N 54 8,360 80%
6H14H(L) W=y AP 54 6,860 83%
6H16H(H) W=y N 54 7,860 81%
6H17H(CN) W=y AP 54 6,860 83%
6H18H(K) = N 54 6,860 83%
6H19H(K) =y KB 54 6,860 83%
6H20H (&) = N 54 7,860 81%
6H21H (%) =y KB 54 6,860 83%
6H22H(H) =y KB 54 8,360 80%
6H23H(H) =y AP 54 8,360 80%
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68248 (N
65258 (7J<; T
68268 (K) e = -
68278 (2) T e . : i“
. - o - 6,860 25
6829H(H) = PN 2 i -
6830H(8) = o z - -
7H1EX) = KB 2 T -
7828 (0K) = =B z - -
7B 3H(K) IE N > s -
i - o 2 8,360 80%
- - = 4 6,860 80%
i - o 2 6,860 84%
7B78((B) = PN 2 o -
i + o 2 6,860 84%
i - s = 8,360 84%
7E108(K) = 2 z - -
= 2 5 2 6,860 84%
P - o - 6,860 84%
- 2 5 2 6,860 84%
7814H(8B) = N > T -
7E158(AN) = = z . .
P - o - 6,860 84%
7E178(K) = = z . .
78B18H(2) = N > i -
7H198 (1) = B z - .
i - = - 6,860 84%
= 2 5 2 6,860 84%
78228 (N) = KPR > i -
7H238(0K) = B z - .
P - = > 6,860 84%
- : ~ o4 6,860 84%
P - = > 6,860 84%
7H278(8) Alis = z - -
7828H(B) = KPR 2 i -
- : ~ o4 6,860 84%
i - = > 6,860 84%
- : ~ o4 6,860 84%
8H1H(2) = KPR 2 s -
882H(*) = B z - .
88H3H(H) = KPR 2 i -
884H(8) = 2B z - .
. - j(lyi > 6,860 84%
8H6H(K) = 2B 54 - -
. - X = 6,860 84%
8H18H(A) = 2B 54 - -
8H19H(N) s == z - -
8H20H(K) = 2B 54 - .
8H21H(K) = KPR 2 i -
- + A 2 6,860 84%
. - X = 6,860 84%
- : A 2 6,860 849,
8825H(8) = KPR 2 o -
8H26H(N) = B z - .
s AR 2 i -
- z 2 560 84%
z o 84%
6,860 307
84%
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8H27H(K) W=y AP 54 6,860 84%
8H28H(K) =y AN 54 6,860 84%
8H29H (&) W=y AP 54 6,860 84%
8H30H(X) =y AN 54 6,860 84%
8H31H(H) W=y AP 54 6,860 84%
S5H8H(K) AN e[ 55 7,050 76%
S5H9H(E) ABR @] 55 9,550 67%
S5H10H(L) ABR fe ] 55 13,550 53%
S5H11H(H) ABR @] 55 13,050 55%
S5H12H(A) AN =lid 55 9,550 67%
S5H13H(XN) ABR @] 55 8,550 70%
5H14H(K) AN =lid 55 8,550 70%
5H15H(XK) ABR @] 55 9,550 67%
S5H16H() AN e ] 55 9,550 67%
S5H17H(%) AN @] 55 8,550 70%
S5H18H(H) AN fa ] 55 9,550 67%
5H19H(H) AN @] 55 7,050 76%
S5H20H(N) AN e ] 55 9,550 67%
5H21H(K) AN il 55 9,550 67%
5H22H(XK) AN e ] 55 9,550 67%
5H23H(5&) AN il 55 9,550 67%
S5H24H(%) AN e ] 55 13,550 53%
5H25H(H) AN @] 55 8,550 70%
S5H26H(H) AN e ] 55 9,550 67%
S5H27H(X) AN il 55 9,550 67%
S5H28H(K) AN e ] 55 9,550 67%
S5H29H(XK) ABR fE 55 9,550 67%
5H30H (&) AN &l 55 8,550 70%
S5H31H(%) ABR fE 55 9,550 67%
6H1H(H) AN &[] 55 7,550 74%
682H(A) ABR ] 55 8,550 70%
6H3B(X) AN ] 55 8,550 70%
6H4H(K) ABR ] 55 8,550 70%
6H5H(K) AN &[] 55 7,550 74%
6H6H(E) ABR ] 55 8,550 70%
6H7H(L) AN &l 55 8,550 70%
688H(H) ABR ] 55 6,050 79%
6H9H(A) AN &[] 55 7,050 76%
6H10H(N) ABR ] 55 7,050 76%
6H11H(K) AN @] 55 7,050 76%
6H12H(K) ABR il 55 7,050 76%
6H13H(E) AN &l 55 7,050 76%
6H14H(X) ABR il 55 8,550 70%
6H15H(H) AN @] 55 7,550 74%
6H16H(H) ABR il 55 7,050 76%
6H17H(CN) AN @] 55 6,050 79%
6H18H(K) ABR il 55 7,050 76%
6H19H(K) AN @] 55 7,050 76%
6H20H (&) ABR fE 55 7,050 76%
6H21H (%) AN &l 55 13,050 55%
68522H(H) ABR fE 55 7,050 76%
6H23H(H) AN &[] 55 6,050 79%
6H24H(N) AN fe ] 55 6,050 79%
6H25H(K) ABR @] 55 6,050 79%
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6H26H(K) ABR @] 55 6,050 79%
6H27H(&) AN =lid 55 7,050 76%
6H28H (%) ABR @] 55 7,550 74%
6H29H(H) AN =lid 55 6,050 79%
6H30H(H) ABR @] 55 6,050 79%
7H1B(CX) AN e[ 55 6,050 80%
7H2B(K) ABR @] 55 6,050 80%
7H3B(K) AN fe ] 55 6,050 80%
7H48(E) ABR @] 55 6,050 80%
7H5H(TL) AN =lid 55 8,550 72%
7H6H((H) ABR @] 55 7,050 77%
7H7H(R) AN =lid 55 6,050 80%
7H8H(X) ABR @] 55 6,050 80%
7H9H(K) AN &l 55 6,050 80%
7H10H(K) AN @] 55 6,050 80%
7H11H(E) AN fa ] 55 7,550 75%
7H12H(L) AN il 55 8,550 72%
7H13H(H) AN e ] 55 7,050 77%
7H14H(H) AN @] 55 6,050 80%
7H15H(N) AN &l 55 6,050 80%
7H16H(K) AN @] 55 6,050 80%
7H17H(K) AN &l 55 6,050 80%
7H18H(5&) AN @] 55 6,050 80%
7H19H(L) AN e ] 55 7,050 77%
7H20H(H) AN il 55 7,050 77%
7H21H(H) AN &l 55 6,050 80%
7H22H(X) ABR ] 55 6,050 80%
7H23H(K) AN ] 55 6,050 80%
7H24H(K) ABR ] 55 6,050 80%
7H25H (&) AN &l 55 6,050 80%
7H26H(L) ABR fE 55 7,050 77%
7H27H(H) AN ] 55 7,050 77%
7H28H(H) ABR ] 55 6,050 80%
7H29H(N) AN &[] 55 6,050 80%
7H30H(K) ABR ] 55 7,550 75%
7H31H(XK) AN ] 55 6,050 80%
8H1H(E) ABR il 55 7,050 77%
8H2H(L) AN &[] 55 7,050 77%
8H3H(H) ABR fE 55 7,050 77%
8H4H(H) AN @] 55 7,050 77%
8H5H(KX) ABR il 55 7,050 77%
8H6H(K) AN @] 55 7,050 77%
8H7H(XK) ABR il 55 7,050 77%
8H18H(H) AN @] 55 6,050 80%
8H19H(X) ABR il 55 6,050 80%
8H20H(K) AN @] 55 6,050 80%
8H21H(K) ABR il 55 6,050 80%
8H22H(&) AN &l 55 6,050 80%
8H23H(X) ABR fE 55 6,050 80%
8H24H(H) AN &[] 55 6,050 80%
8H25H(H) ABR fE 55 7,550 75%
8H26H(XN) AN &[] 55 6,050 80%
8H27H(K) AN fe ] 55 6,050 80%
8H28H(K) ABR @] 55 6,050 80%
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8H29H (&) ABR @] 55 6,050 80%
8H30H(X) AN =lid 55 6,050 80%
8H31H(H) ABR @] 55 6,050 80%
S5H8H(RK) &l AN 56 8,050 72%
S5H9H(E) &l AP 56 9,050 69%
S5H10H(L) &l N 56 13,050 55%
S5H11H(H) &l AP 56 9,050 69%
S5H12H(A) &l AN 56 8,050 72%
S5H13H(XN) f& ] AP 56 9,050 69%
5H14H(K) &l AN 56 9,050 69%
5H15H(XK) f& ] AP 56 9,050 69%
5H16H(&) &l N 56 9,050 69%
5H17H(L) &l AP 56 9,050 69%
S5H18H(H) &l AN 56 8,050 72%
5H19H(H) &l AP 56 9,050 69%
S5H20H(N) &l AN 56 8,050 72%
5H21H(K) & ] AP 56 9,050 69%
5H22H(XK) &l KB 56 9,050 69%
5H23H(5&) &l AP 56 9,050 69%
S5H24H(%) &l AN 56 9,050 69%
5H25H(H) &l AP 56 9,050 69%
S5H26H(H) &l KB 56 9,050 69%
S5H27H(X) & ] AP 56 8,050 72%
S5H28H(K) &l AN 56 9,050 69%
5H29H(XK) & ] AP 56 9,050 69%
S5H30H () &l KB 56 9,050 69%
S5H31H(%) &l ABR 56 9,050 69%
6H1H(H) &l AP 56 6,050 79%
682H(A) & ABR 56 7,050 76%
6H3B(X) &l AP 56 7,050 76%
6H4H(K) & ABR 56 7,050 76%
6H5H(K) &l AP 56 7,050 76%
6H6H(E) &l ABR 56 7,050 76%
6H7H(L) &l AP 56 7,050 76%
688H(H) &l ABR 56 6,050 79%
6H9H(A) &l AP 56 7,050 76%
6H10H(N) & ABR 56 7,050 76%
6H11H(K) &l AP 56 6,050 79%
6H12H(K) & ABR 56 7,050 76%
6H13H(E) &l AP 56 7,050 76%
6H14H(X) &l N 56 8,050 72%
6H15H(H) &l AP 56 6,050 79%
6H16H(H) &l N 56 6,050 79%
6H17H(CN) &l AP 56 7,050 76%
6H18H(K) &l N 56 7,050 76%
6H19H(K) &l AP 56 7,050 76%
6H20H (&) &l ABR 56 7,050 76%
6H21H(L) &l AP 56 7,050 76%
68522H(H) &l ABR 56 7,050 76%
6H23H(H) &l KB 56 7,050 76%
6H24H(X) &l N 56 6,050 79%
6H25H(K) &l KB 56 7,050 76%
6H26H(K) &l KB 56 6,050 79%
6H27H(E) &l AP 56 7,050 76%
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6H28H (%) &l AP 56 6,050 79%
6H29H(H) &l AN 56 8,050 72%
6H30H(H) &l AP 56 6,050 79%
7H1B(CX) &l AN 56 6,050 80%
7H2B(K) f& ] AP 56 7,050 77%
7H3B(K) &l N 56 7,050 77%
7H4B(E) &l AP 56 7,050 77%
7H5H(TL) &l AN 56 7,050 77%
7H6H((H) &l AP 56 7,050 77%
7H7H(R) &l AN 56 6,050 80%
7H8H(X) f& ] AP 56 6,050 80%
7H9BH(K) &l N 56 6,050 80%
7H10H(XK) e ] AP 56 6,050 80%
7H11H(E) &l AN 56 6,050 80%
7H12H(L) &l AP 56 7,050 77%
7H13H(H) &l AN 56 7,050 77%
7H14H(H) &l AP 56 6,050 80%
7H15H(N) &l KB 56 6,050 80%
7H16H(K) & ] AP 56 6,050 80%
7H17H(K) &l AN 56 6,050 80%
7H18H(5&) &l AP 56 6,050 80%
7H19H(L) &l KB 56 7,050 77%
7H20H(H) &l AP 56 7,050 77%
7H21H(H) &l AN 56 7,050 77%
7H22H(X) & ] AP 56 6,050 80%
7H23H(K) &l KB 56 6,050 80%
7H24H(K) & ABR 56 6,050 80%
7H25H (&) &l AP 56 6,050 80%
7H26H(L) &l ABR 56 7,050 77%
7H27H(H) &l AP 56 7,050 77%
7H28H(H) & ABR 56 6,050 80%
7H29H(N) &l AP 56 6,050 80%
7H30H(K) & ABR 56 6,050 80%
7H31H(XK) &l AP 56 6,050 80%
8H1H(E) &l ABR 56 8,050 73%
8H2H(L) &l AP 56 7,050 77%
8H3H(H) &l ABR 56 7,050 77%
8H4H(H) &l AP 56 7,050 77%
8HS5H(X) & ABR 56 7,050 77%
8H6H(K) &l AP 56 7,050 77%
8H7H(XK) &l N 56 7,050 77%
8H18H(H) &l AP 56 6,050 80%
8H19H(X) &l N 56 6,050 80%
8H20H(K) &l AP 56 6,050 80%
8H21H(K) &l N 56 6,050 80%
8H22H(&) &l AP 56 6,050 80%
8H23H(X) &l ABR 56 6,050 80%
8H24H(H) &l AP 56 6,050 80%
8H25H(H) &l N 56 6,050 80%
8H26H(XN) &l KB 56 6,050 80%
8H27H(K) &l N 56 6,050 80%
8H28H(K) &l KB 56 6,050 80%
8H29H (&) &l KB 56 6,050 80%
8H30H(x) &l AP 56 6,050 80%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x
8H31H(H) &l AP 56 6,050 80%
S5H8H(K) 2EE &l 59 7,440 78%
S5H9H(E) ZaE @] 59 6,940 79%
5H10H(%) ZhE &l 59 8,440 75%
S5H12H(H) ZaE @] 59 7,440 78%
S5H13H(N) ZhE &l 59 8,440 75%
S5H14H(K) ZaE @] 59 6,940 79%
5H15H(XK) ZhE &l 59 6,940 79%
5H16H(5) ZaE @] 59 8,440 75%
S5H18H(H) ZhE &l 59 6,940 79%
S5H19H(H) ZaE @] 59 7,440 78%
S5H20H(XN) ZhE &l 59 8,440 75%
S5H21H(K) ZaE @] 59 8,440 75%
5H22H(XK) 2EE &l 59 7,440 78%
5H23H(5&) ZaE @] 59 6,940 79%
S5H24H(%) 2EE fa ] 59 8,440 75%
5H25H(H) ZaE @] 59 6,940 79%
S5H26H(H) 2EE &l 59 7,440 78%
S5H27H(X) ZaE @] 59 8,440 75%
S5H28H(K) 2EE e ] 59 6,940 79%
S5H29H(XK) ZaE @] 59 7,440 78%
S5H30H () 2EE e ] 59 6,940 79%
S5H31H(%) ZaE @] 59 8,440 75%
6H1H(H) 2EE e ] 59 8,440 75%
682H(A) ZaE @] 59 8,440 75%
6H3B(XN) 2EE e ] 59 6,940 79%
6H4H(K) ZaE ] 59 6,940 79%
6H5H(K) 2EE ] 59 6,940 79%
6H6H(E) ZaE ] 59 7,440 78%
6H7H(L) 2EE &[] 59 6,940 79%
688H(H) ZaE ] 59 6,940 79%
6H9H(A) 2EE ] 59 6,940 79%
6H10H(N) ZaE ] 59 6,940 79%
6H11H(K) 2EE &l 59 6,940 79%
6H12H(K) ZaE ] 59 6,940 79%
6H13H(E) 2EE &l 59 8,440 75%
6H14H (L) ZaE ] 59 6,940 79%
6H15H(H) 2EE &[] 59 6,940 79%
68516H(H) ZaE ] 59 6,940 79%
6H17H(CN) “aE @] 59 6,940 79%
6H18H(K) ZaE ] 59 6,940 79%
6H19H(K) “aE &l 59 7,440 78%
6H20H (&) ZaE ] 59 8,440 75%
6H21H(L) “aE @] 59 8,440 75%
68522H(H) ZaE e ] 59 6,940 79%
6H23H(H) “aE @] 59 7,440 78%
6H24H(N) ZaE e ] 59 6,940 79%
6H25H(K) “aE &l 59 6,940 79%
6H26H(K) ZaE e ] 59 6,940 79%
6H27H (%) ZaE &[] 59 8,440 75%
6H28H (%) ZaE e ] 59 7,440 78%
6H29H(H) ZaE &[] 59 7,440 78%
6H30H(H) ZhE fe ] 59 7,440 78%
7H1B(KX) ZaE @] 59 6,940 81%
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7H2B(K) ZaE @] 59 6,940 81%
7H3B(K) 2EE &l 59 6,940 81%
7H48(E) ZaE @] 59 6,940 81%
7H5H(TE) ZhE &l 59 6,940 81%
7H6H((H) ZaE @] 59 6,940 81%
7H7H(R) 2EE &l 59 6,940 81%
7H8H(X) ZaE @] 59 6,940 81%
7H9BH(K) ZhE &l 59 6,940 81%
7H10H(XK) ZaE @] 59 6,940 81%
7H11HGE) ZhE &l 59 6,940 81%
7H12H(L) ZaE @] 59 7,440 79%
7H13H(H) ZhE &l 59 6,940 81%
7H14H(H) ZaE @] 59 6,940 81%
7H15H(N) 2EE &l 59 6,940 81%
7H16H(K) ZaE @] 59 6,940 81%
7H17H(K) 2EE fa ] 59 7,440 79%
7H18H(5&) ZaE @] 59 6,940 81%
7H19H(L) 2EE &l 59 6,940 81%
7H20H(H) ZaE @] 59 6,940 81%
7H21H(H) 2EE e ] 59 8,440 76%
7H22H(X) ZaE @] 59 8,440 76%
7H23H(K) 2EE &l 59 6,940 81%
7H24H(K) ZaE @] 59 6,940 81%
7H25H(:®) 2EE &l 59 6,940 81%
7H26H(L) ZaE @] 59 8,440 76%
7H27H(H) 2EE &l 59 6,940 81%
7H28H(H) ZaE ] 59 6,940 81%
7H29H(N) 2EE ] 59 6,940 81%
7H30H(K) ZaE ] 59 6,940 81%
7H31H(XK) 2EE &[] 59 6,940 81%
8H1H(E) ZaE ] 59 6,940 81%
8H2H(L) 2EE ] 59 6,940 81%
8H3H(H) ZaE ] 59 6,940 81%
8H4H(H) 2EE &[] 59 6,940 81%
8HS5H(X) ZaE ] 59 7,440 79%
8H6H(K) 2EE ] 59 6,940 81%
8H7H(RK) ZaE ] 59 8,440 76%
8H18H(H) 2EE &[] 59 6,940 81%
8H19H(N) ZaE ] 59 6,940 81%
8H20H(K) “aE @] 59 6,940 81%
8H21H(K) ZaE ] 59 6,940 81%
8H22H(&) “aE @] 59 8,440 76%
8H23H(X) ZaE ] 59 7,440 79%
8H24H(H) “aE @] 59 6,940 81%
8H25H(H) ZaE e ] 59 7,440 79%
8H26H(XN) “aE @] 59 6,940 81%
8H27H(K) ZaE e ] 59 6,940 81%
8H28H(K) “aE @] 59 6,940 81%
8H29H (&) ZaE e ] 59 6,940 81%
8H30H(L) ZaE &[] 59 6,940 81%
8H31H(H) ZaE e ] 59 6,940 81%
S5H8H(K) &l ZoaE 60 8,440 75%
S5H9H(E) &l ZhE 60 7,440 78%
S5H10H(L) &l ZaE 60 6,940 79%
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S5H11H(H) &l ZHaE 60 8,440 75%
S5H13H(N) &l ZhE 60 8,440 75%
S5H14H(K) &l ZHaE 60 8,440 75%
5H15H(XK) &l ZhE 60 6,940 79%
5H16H(5) &l ZHaE 60 6,940 79%
5H17H(%) &l ZhE 60 6,940 79%
S5H18H(H) &l ZHaE 60 8,440 75%
S5H21H(K) &l ZhE 60 6,940 79%
S5H22H(XK) &l ZHaE 60 6,940 79%
5H23H(GE) &l ZhE 60 6,940 79%
5H24H(%) &l ZHaE 60 8,440 75%
S5H25H(H) &l ZhE 60 8,440 75%
S5H26H(H) &l ZHaE 60 8,440 75%
S5H27H(N) &l ZhE 60 7,440 78%
5H28H(K) &l ZEaE 60 6,940 79%
5H29H(XK) &l BEE 60 6,940 79%
5H30H (&) &l ZEaE 60 6,940 79%
S5H31H(L) &l “EE 60 7,440 78%
681H(H) &l ZEE 60 8,440 75%
6H2H(AH) &l ZhE 60 7,440 78%
6H3B(X) &l ZEaE 60 6,940 79%
6H48(0K) &l “EE 60 6,940 79%
6H5H(R) &l ZEE 60 6,940 79%
6H6H(E) &l BEE 60 6,940 79%
6H7H(L) &l ZEaE 60 6,940 79%
6H9H(H) &l “EE 60 6,940 79%
6H10H(X) &l ZHaE 60 6,940 79%
6H11H(K) &l Bz 60 6,940 79%
6H12H(K) &l ZHaE 60 7,440 78%
6H13H(E) &l “EE 60 6,940 79%
6H14H (L) &l ZHaE 60 8,440 75%
6H16H(H) &l Bz 60 8,440 75%
6H17H(X) &l ZHaE 60 6,940 79%
6H18H(K) &l “EE 60 6,940 79%
6H19H(K) &l ZHaE 60 8,440 75%
6H20H(E) &l Bz 60 8,440 75%
6H21H(X) &l ZaE 60 6,940 79%
6H22H(H) &l “EE 60 8,440 75%
6H23H(H) &l ZHaE 60 8,440 75%
6H24H(N) &l ZaE 60 6,940 79%
6H25H(K) &l ZhE 60 6,940 79%
6H26H(K) &l ZaE 60 6,940 79%
6H27H(&) &l ZhE 60 6,940 79%
6H28H (%) &l ZaE 60 7,440 78%
68529H(H) &l 2R 60 8,440 75%
6H30H(H) &l ZaE 60 6,940 79%
7H1H(CX) &l ZhE 60 6,940 81%
7H2B(K) &l “aE 60 6,940 81%
7H3H(K) &l ZhE 60 6,940 81%
7H4B(E) &l ZoaE 60 7,440 79%
7H5H(X) &l ZhE 60 7,440 79%
7H6H(H) &l ZoaE 60 6,940 81%
7H7H(H) &l ZhE 60 6,940 81%
7H8H(X) &l ZaE 60 6,940 81%
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7H9H(K) &l ZHaE 60 6,940 81%
7H10H(XK) &l ZhE 60 6,940 81%
7H11H(E) &l ZHaE 60 6,940 81%
7H12H (%) &l ZhE 60 6,940 81%
7H13H(H) &l ZHaE 60 6,940 81%
7H14H(AH) &l ZhE 60 6,940 81%
7H15HX) &l ZHaE 60 6,940 81%
7H16H(K) &l ZhE 60 6,940 81%
7H17H(K) &l ZHaE 60 6,940 81%
7H18H(E) &l ZhE 60 7,440 79%
7H19H(L) &l ZHaE 60 8,440 76%
7H20H(H) &l ZhE 60 8,440 76%
7H21H(H) &l ZHaE 60 6,940 81%
7H22H(N) &l BEE 60 8,440 76%
7H23H(K) &l ZEaE 60 6,940 81%
7H24H(K) &l BEE 60 6,940 81%
7H25H (&) &l ZEaE 60 6,940 81%
7H26H(L) &l “EE 60 8,440 76%
7H27H(H) &l ZEE 60 7,440 79%
7H28H(H) &l BEE 60 7,440 79%
7H29H(X) &l ZEaE 60 6,940 81%
7H30H(K) &l “EE 60 7,440 79%
7H31H(K) &l ZEE 60 6,940 81%
8H1H(E) &l BEE 60 8,440 76%
8H2H(L) &l ZEaE 60 8,440 76%
8H3H(H) &l “EE 60 8,440 76%
8H4H(H) &l ZHaE 60 6,940 81%
8H5H(X) &l Bz 60 6,940 81%
8H6H(K) &l ZHaE 60 8,440 76%
8H7H(K) &l “EE 60 8,440 76%
8H19H(X) &l ZHaE 60 6,940 81%
8H20H(K) &l Bz 60 6,940 81%
8H21H(K) &l ZHaE 60 7,440 79%
8H22H(%&) &l “EE 60 7,440 79%
8H23H(X) &l ZHaE 60 8,440 76%
8H24H(H) &l Bz 60 8,440 76%
8H25H(H) &l ZaE 60 6,940 81%
8H26H(XN) &l “EE 60 6,940 81%
8H27H(K) &l ZHaE 60 6,940 81%
8H28H(K) &l ZaE 60 6,940 81%
8H29H (&) &l ZhE 60 6,940 81%
8H30H(%) &l ZaE 60 6,940 81%
8H31H(H) &l ZhE 60 6,940 81%
S5H8H(R) “aE DAV 61 10,500 67%
5H12H(H) ZaE PAV) 61 10,500 67%
S5H13H(XN) “aE PA) 61 9,500 70%
5H14H(K) ZaE PAV) 61 9,500 70%
5H15H(K) g 2Y=] A5 61 8,500 74%
5H21H(K) ZaE PAV) 61 9,000 72%
5H22H(XK) ZaE DAV 61 10,500 67%
5H23H(5&) ZaE PAV) 61 10,500 67%
S5H26H(H) ZaE PA) 61 10,500 67%
S5H27H(X) ZhE PAa) 61 9,000 72%
5H28H(K) ZaE A 61 9,000 72%
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5H29H(XK) ZaE A 61 10,500 67%
6H1H(H) ZhE PAV) 61 9,000 72%
6H2H(H) ZaE DAV 61 9,000 72%
6H3B(XN) ZhE PAV) 61 9,000 72%
6H4H(K) ZaE A 61 8,500 74%
6H5H(K) ZhE PAV) 61 9,500 70%
6H6H(E) ZaE DAV 61 10,500 67%
6H8H(H) ZhE PAV) 61 9,000 72%
6H9H(H) ZaE DAV 61 9,000 72%
6H10H(N) ZhE PAV) 61 9,000 72%
6H11H(K) ZaE A 61 9,000 72%
6H12H(K) ZhE PAV) 61 8,500 74%
6H13H(E) ZaE PA) 61 9,500 70%
6H15H(H) ZhE PAV) 61 9,500 70%
6H16H(H) ZaE X5 61 8,500 74%
6H17H(CXN) ZhE PA) 61 8,500 74%
6H18H(K) ZaE PA) 61 8,000 75%
6H19H(K) 2EE PAV) 61 9,000 72%
6H20H (&) ZaE X5 61 10,500 67%
6H21H(L) ZhE PAV) 61 9,500 70%
6H22H(H) ZaE X5 61 8,500 74%
6H23H(H) ZhE PA) 61 8,500 74%
6H24H(N) ZaE PA) 61 8,500 74%
6H25H(K) ZhE PAV) 61 7,500 77%
6H26H(K) ZaE PA) 61 8,000 75%
6H27H(E) ZhE PAV) 61 9,500 70%
6H28H (%) ZaE PAV) 61 9,500 70%
6H29H(H) ZhE PA) 61 8,000 75%
6H30H(H) ZaE PAV) 61 8,000 75%
7H1B(X) ZhE PA) 61 8,000 76%
7H2H(K) ZaE PAV) 61 8,500 75%
7H3B(K) 2EE PA) 61 8,000 76%
7H48(E) ZaE PAV) 61 9,000 73%
7H5H(TL) ZhE PA) 61 9,500 72%
7H6H(H) ZaE PAV) 61 8,000 76%
7H7H(8) ZhE PA) 61 8,000 76%
7H8H(N) ZaE PAV) 61 8,000 76%
7H9H(K) ZhE PA) 61 7,500 78%
7H10H(K) ZaE PAV) 61 8,000 76%
7H11H(®) ZaE PA) 61 9,000 73%
7H12H(L) ZaE PAV) 61 9,500 72%
7H13H(H) “aE PA) 61 8,000 76%
7H14H(H) ZaE PAV) 61 8,000 76%
7H15H(N) “aE PA) 61 8,000 76%
7H16H(K) ZaE PAV) 61 8,000 76%
7H17H(XK) “aE DAV 61 8,500 75%
7H18H(5&) ZaE PAV) 61 9,500 72%
7H20H(H) “aE PA) 61 9,500 72%
7H21H(H) ZaE PAV) 61 9,500 72%
7H22H(X) ZaE PA) 61 9,500 72%
7H23H(K) ZaE PAV) 61 9,500 72%
7H24H(K) BEE A5 61 9,500 72%
7H25H (&) ZhE PAa) 61 9,500 72%
7H26H(%) ZaE A 61 10,500 69%
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7H27H(H) ZaE A 61 9,000 73%
7H28H(A) ZhE PAV) 61 7,500 78%
7H29H(N) ZaE A5 61 9,500 72%
7H30H(K) ZhE PAV) 61 7,500 78%
7H31H(XK) ZaE A 61 8,000 76%
8H1H(&) ZhE PAV) 61 9,500 72%
8H2H(L) ZaE A 61 10,500 69%
8H3H(H) 2EE PAV) 61 9,000 73%
8H4H(H) ZaE A5 61 8,000 76%
8H5H(XN) 2EE PAV) 61 8,500 75%
8H6H(K) ZaE A 61 8,000 76%
8H7H(RK) 2EE PAV) 61 9,500 72%
8H18H(H) ZaE PA) 61 8,500 75%
8H19H(XN) ZhE PA) 61 8,500 75%
8H20H(K) ZaE PA) 61 8,500 75%
8H21H(XK) 2EE PA) 61 8,500 75%
8H22H (&) ZaE PA) 61 9,500 72%
8H23H(L) ZhE PAV) 61 9,500 72%
8H24H(H) ZaE PA) 61 8,500 75%
8H25H(H) ZhE PA) 61 7,500 78%
8H26H(N) ZaE PA) 61 9,000 73%
8H27H(K) ZhE PA) 61 8,500 75%
8H28H(K) ZaE PA) 61 9,500 72%
8H29H(E) 2hE A5 61 8,500 75%
8H30H(x) ZaE PA) 61 10,500 69%
8H31H(H) ZhE PAV) 61 9,000 73%
SH8H(RK) PAV) ZHaE 62 9,000 72%
5H10H(%) PAV) Bz 62 10,500 67%
5H11H(H) PAV) ZHaE 62 10,500 67%
S5H13H(XN) PAV) “EE 62 9,000 72%
5H14H(K) PAV) ZHaE 62 9,000 72%
S5H15H(XK) PAV) Bz 62 9,500 70%
S5H17H(%) PAV) ZHaE 62 9,500 70%
S5H18H(H) PAV) “EE 62 9,500 70%
5H19H(H) PAV) ZHaE 62 9,500 70%
5H20H(X) PAV) Bz 62 9,000 72%
5H21H(K) PAV) ZaE 62 8,000 75%
5H22H(XK) PAV) “EE 62 8,500 74%
5H23H(5&) PAV) ZHaE 62 9,500 70%
5H24H(L) PAV) ZaE 62 10,500 67%
5H25H(H) PAV) ZhE 62 9,000 72%
S5H26H(H) PAV) ZaE 62 8,500 74%
5H27B(X) PAV) ZhE 62 8,500 74%
S5H28H(K) PAV) ZaE 62 8,500 74%
5H29H(K) PAV) 2R 62 8,500 74%
S5H30H (&) PAV) ZaE 62 9,500 70%
S5H31H(%) PAV) ZhE 62 9,500 70%
6H1H(H) PAV) “aE 62 9,000 72%
6H2H(H) PAV) ZhE 62 9,000 72%
6H3B(X) PAV) ZoaE 62 8,500 74%
6H4H(K) PAV) ZhE 62 8,500 74%
6H5H(K) PAV) ZoaE 62 8,500 74%
6H6H(E) PAV) “EE 62 9,500 70%
6H7H(L) %) ZaE 62 9,500 70%
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6H8H(H) ) ZHaE 62 8,500 74%
6H9H(H) PAV) ZhE 62 8,000 75%
6H10H(N) ) ZHaE 62 9,000 72%
6H11H(K) PAV) ZhE 62 8,500 74%
6H12H(K) ) ZHaE 62 9,000 72%
6H13H(E) PAV) BEE 62 9,500 70%
6H14H(L) %) ZHaE 62 9,000 72%
6H15H(H) PV ZhE 62 8,000 75%
6H16H(H) ) ZHaE 62 7,500 77%
6H17H(CXN) PAV) ZhE 62 8,000 75%
6H18H(K) ) ZHaE 62 8,500 74%
6H19H(K) PAV) ZhE 62 9,000 72%
6H20H (&) A7 ZHaE 62 9,000 72%
6H21H(L) PAV) BEE 62 8,500 74%
6822H(H) PA) ZEaE 62 8,500 74%
6H23H(H) PAV) BEE 62 8,000 75%
6H24H(N) PAV) ZEaE 62 8,500 74%
6H25H(K) PAV) ZhE 62 7,500 77%
6H26H(K) PA) ZEE 62 8,000 75%
6H27H(E) PAV) BEE 62 9,000 72%
6H28H (%) PAV) ZEaE 62 9,000 72%
6H29H(H) PAV) “EE 62 8,000 75%
6H30H(H) PAV) ZEE 62 8,000 75%
EN=IEN) PAV) BEE 62 8,000 76%
7H2H(K) PA) ZEaE 62 8,000 76%
7H3H(K) PAV) “EE 62 7,500 78%
7H48(E) PAV) ZHaE 62 7,500 78%
7H5H(L) PAV) Bz 62 8,000 76%
7H6H(H) PAV) ZHaE 62 8,000 76%
7H7H(8) PAV) “EE 62 8,000 76%
7H8H(KX) PAV) ZHaE 62 8,000 76%
7H9H(K) PAV) Bz 62 7,500 78%
7H10H(K) PAV) ZHaE 62 7,500 78%
7H11H(E) PAV) “EE 62 7,500 78%
7H12H(L) PAV) ZHaE 62 8,000 76%
7H13H(H) PAV) Bz 62 8,000 76%
7H14H(H) PAV) ZaE 62 7,500 78%
7H15H(N) PAV) “EE 62 8,000 76%
7H16H(K) PAV) ZHaE 62 7,500 78%
7H17H(XK) PAV) ZaE 62 7,500 78%
7H18H(5&) PAV) ZhE 62 10,500 69%
7H20H(H) PAV) ZaE 62 9,500 72%
7H21H(H) PAV) ZhE 62 9,500 72%
7H22H(X) PAV) ZaE 62 7,500 78%
7H23H(K) PAV) 2R 62 7,500 78%
7H24H(XK) PAV) ZaE 62 7,500 78%
7H25H (&) PAV) ZhE 62 9,000 73%
7H26H(L) PAV) “aE 62 9,500 72%
7H27H(H) PAV) ZhE 62 7,500 78%
7H28H(H) PAV) ZoaE 62 8,000 76%
7H29H(X) PAV) ZhE 62 8,000 76%
7H30H(K) PAV) ZoaE 62 8,000 76%
7H31H(K) PAV) ZhE 62 8,000 76%
8H1H(E) %) ZaE 62 8,000 76%
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8H2H(L) ) ZHaE 62 9,000 73%
8H3H(H) PAV) ZhE 62 8,000 76%
8H4H(H) ) ZHaE 62 8,000 76%
8HS5H(X) PAV) ZhE 62 8,000 76%
8H6H(K) ) ZHaE 62 8,000 76%
8H7H(RK) PAV) ZhE 62 8,000 76%
8H18H(H) %) ZHaE 62 10,500 69%
8H19H(XN) PV ZhE 62 8,000 76%
8H20H(K) ) ZHaE 62 7,500 78%
8H21H(K) PAV) ZhE 62 7,500 78%
8H22H (&) ) ZHaE 62 7,500 78%
8H23H(L) PAV) BEE 62 8,500 75%
8H24H(H) A7 ZHaE 62 7,500 78%
8H25H(H) PAV) BEE 62 7,500 78%
8H26H(N) PA) ZEaE 62 7,500 78%
8H27H(K) PAV) BEE 62 7,500 78%
8H28H(K) PAV) ZEaE 62 8,000 76%
8H29H (&) PAV) “EE 62 8,000 76%
8H30H(x) PA) ZEE 62 8,000 76%
8H31H((H) PAV) BEE 62 8,000 76%
S5H7H(K) ZaE PA) 65 10,500 67%
S5H8H(K) 2EE PAV) 65 9,500 70%
S5H9H(E) ZaE X5 65 9,500 70%
5H10H(%) ZhE PAV) 65 9,000 72%
SH13H(X) ZaE PA) 65 9,000 72%
S5H14H(K) ZhE PAV) 65 10,500 67%
S5H15H(K) ZaE PAV) 65 9,000 72%
5H16H(5&) ZhE PAV) 65 9,500 70%
S5H17H(%) ZaE PAV) 65 8,500 74%
5H20H(X) ZhE PAV) 65 9,500 70%
5H21H(K) ZaE PAV) 65 9,500 70%
5H22H(XK) 2EE PA) 65 10,500 67%
5H23H(5&) ZaE PAV) 65 10,500 67%
5H24H(%) ZhE PAV) 65 9,000 72%
5H25H(H) ZaE PAVJ) 65 9,500 70%
S5H26H(H) ZhE PAV) 65 9,500 70%
S5H27H(X) ZaE PAV) 65 9,000 72%
S5H28H(K) ZhE PAV) 65 9,000 72%
S5H29H(XK) ZaE PAV) 65 9,000 72%
S5H30H (&) “aE PA) 65 9,500 70%
S5H31H(%) ZaE PAV) 65 8,500 74%
6H2H(H) “aE PA) 65 9,000 72%
6H3B(X) ZaE PAV) 65 8,500 74%
6H48(K) “aE DAV 65 9,000 72%
6H5H(RK) ZaE PAV) 65 9,000 72%
6H6H(E) “aE PA) 65 9,000 72%
6H7H(XL) ZaE PAV) 65 9,000 72%
6H8H(H) “aE PA) 65 9,000 72%
6H9H(AH) ZaE PAV) 65 8,000 75%
6H10H(XN) ZaE PA) 65 9,000 72%
6H11H(K) ZaE PAV) 65 8,000 75%
6H12H(K) ZaE DAV 65 8,500 74%
6H13H(&) ZhE PAa) 65 10,500 67%
6H14H(L) ZaE A 65 8,500 74%
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6H15H(H) ZaE DAV 65 8,500 74%
6H16H(H) ZhE PAV) 65 8,500 74%
6H17H(N) ZaE A5 65 8,000 75%
6H18H(K) ZhE PAV) 65 7,500 77%
6H19H(K) ZaE A 65 8,000 75%
6H20H(E) ZhE PAV) 65 9,000 72%
6H21H(L) ZaE DAV 65 9,000 72%
6H22H(H) ZhE PAV) 65 10,500 67%
6H23H(H) ZaE DAV 65 8,500 74%
6H24H(XN) ZhE PAV) 65 7,500 77%
6H25H(K) ZaE A 65 8,000 75%
6H26H(K) ZhE PAV) 65 7,500 77%
6H27H (&) ZaE DAV 65 8,000 75%
6H28H (L) ZhE PA) 65 8,000 75%
68529H(H) ZaE X5 65 10,500 67%
6H30H(H) ZhE PA) 65 8,000 75%
7H1HCN) ZaE PA) 65 7,500 78%
7H2B(K) ZhE PA) 65 7,500 78%
7H3H(K) ZaE PA) 65 8,000 76%
7H4H (&) ZhE PA) 65 8,000 76%
7H5H(X) ZaE X5 65 7,500 78%
7H6H(H) ZhE PA) 65 8,500 75%
7H7H(H) ZaE X5 65 8,000 76%
7H8H(N) ZhE PA) 65 7,500 78%
7H9H(K) ZaE PA) 65 7,500 78%
7H10H(K) 2EE PA) 65 7,500 78%
7H11H(&) ZaE PAVJ) 65 8,000 76%
7H128(E) 2EE PA) 65 7,500 78%
7H13H(H) ZaE PAVJ) 65 8,000 76%
7H14H(H) ZhE PAV) 65 8,000 76%
7H15H(X) ZaE PAV) 65 7,500 78%
7H16H(K) ZhE PA) 65 7,500 78%
7H17H(K) ZaE PAV) 65 7,500 78%
7H18H (&) ZhE PAV) 65 9,500 72%
7H19H(L) ZaE PAVJ) 65 9,500 72%
7H20H(H) ZhE PA) 65 10,500 69%
7H21H(H) ZaE PAV) 65 9,500 72%
7H22H(X) ZhE PA) 65 7,500 78%
7H23H(K) ZaE PAV) 65 8,000 76%
7H24H(XK) “aE DAV 65 7,500 78%
7H25H (&) ZaE PAV) 65 8,000 76%
7H26H(L) ZaE PA) 65 8,000 76%
7H27H(H) ZaE PAV) 65 9,000 73%
7H28H(H) “aE PA) 65 8,000 76%
7H29H(X) ZaE PAV) 65 7,500 78%
7H30H(K) “aE DAV 65 7,500 78%
7H31H(K) ZaE PAV) 65 8,000 76%
8H1H(E) ZaE PA) 65 8,000 76%
8H2H(L) ZaE PAV) 65 7,500 78%
8H3H(H) ZaE PA) 65 9,000 73%
8H4H(A) ZaE PAV) 65 8,000 76%
8HS5H(X) ZaE PA) 65 8,000 76%
8H6H(’K) ZhE PAV) 65 8,000 76%
8H7H(K) ZaE A 65 8,500 75%
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8H18H(H) ZaE DAV 65 7,500 78%
8H19H(XN) ZhE PAV) 65 7,500 78%
8H20H(K) ZaE A5 65 7,500 78%
8H21H(K) ZhE PAV) 65 7,500 78%
8H22H (&) ZaE DAV 65 7,500 78%
8H23H (L) ZhE PAV) 65 7,500 78%
8H24H(H) ZaE DAV 65 8,500 75%
8H25H(H) ZhE PAV) 65 7,500 78%
8H26H(XN) ZaE A5 65 7,500 78%
8H27H(K) ZhE PAV) 65 8,000 76%
8H28H(K) ZaE A 65 7,500 78%
8H29H (&) ZhE PAV) 65 7,500 78%
8H30H(%) ZaE DAV 65 7,500 78%
8H31H((H) ZhE PA) 65 7,500 78%
S5H8H(XK) PA) ZEaE 66 9,500 70%
SH9H(E) PAV) BEE 66 10,500 67%
S5H10H(L) PAV) ZEaE 66 10,500 67%
S5H13H(AN) PAV) ZhE 66 10,500 67%
5H14H(K) PA) ZEE 66 10,500 67%
S5H20H(AN) PAV) ZhE 66 9,000 72%
5H21H(K) PAV) ZEaE 66 9,500 70%
S5H22H(XK) PAV) ZhE 66 9,500 70%
5H23H(5&) PAV) ZEE 66 9,500 70%
S5H27H(N) PAV) ZhE 66 10,500 67%
5H28H(K) PA) ZEaE 66 9,500 70%
S5H29H(XK) PAV) ZhE 66 10,500 67%
S5H31H(%) PAV) ZHaE 66 10,500 67%
6H2H(H) PAV) Bz 66 10,500 67%
6H3B(X) PAV) ZHaE 66 10,500 67%
6H4H(K) PAV) ZhE 66 9,000 72%
6H5H(K) PAV) ZHaE 66 8,000 75%
6H7H(L) PAV) ZhE 66 9,000 72%
688H(H) PAV) ZHaE 66 10,500 67%
6H9H(A) PAV) “EE 66 10,500 67%
6H10H(N) PAV) ZHaE 66 9,000 72%
6H11H(K) PAV) ZhE 66 9,000 72%
6H12H(K) PAV) ZaE 66 8,500 74%
6H13H(E) PAV) ZhE 66 8,500 74%
6H14H(X) PAV) ZHaE 66 8,500 74%
6H16H(H) PAV) ZaE 66 10,500 67%
6H17H(X) PAV) ZhE 66 8,500 74%
6H18H(K) PAV) ZaE 66 7,500 77%
6H19H(K) PAV) ZhE 66 8,500 74%
6H20H (&) PAV) ZaE 66 8,000 75%
6H21H (%) PAV) 2R 66 8,500 74%
6H23H(H) PAV) ZaE 66 8,000 75%
6H24H(X) PAV) ZhE 66 8,000 75%
6H25H(K) PAV) “aE 66 8,000 75%
6H26H(K) PAV) ZhE 66 7,500 77%
6H27H (%) PAV) ZoaE 66 7,500 77%
6H28H (%) PAV) ZhE 66 8,000 75%
6H29H(H) PAV) ZoaE 66 9,000 72%
6H30H(H) PAV) ZhE 66 8,000 75%
7H1B(KX) %) ZaE 66 8,000 76%
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7H2B(K) ) ZHaE 66 7,500 78%
7H3B(K) PAV) ZhE 66 8,000 76%
7H48(E) ) ZHaE 66 9,500 72%
7H5H(TE) PAV) BEE 66 8,000 76%
7H6H((H) ) ZHaE 66 9,500 72%
7H7H(R) PAV) ZhE 66 8,000 76%
7H8H(X) %) ZHaE 66 7,500 78%
7H9BH(K) PV ZhE 66 8,000 76%
7H10H(XK) ) ZHaE 66 8,000 76%
7H11HGE) PAV) g 2Ya] 66 9,000 73%
7H12H(L) ) ZHaE 66 8,000 76%
7H13H(H) PAV) ZhE 66 9,500 72%
7H14H(H) A7 ZHaE 66 8,500 75%
7H15H(N) PAV) BEE 66 8,000 76%
7H16H(K) PA) ZEaE 66 7,500 78%
7H17H(K) PAV) BEE 66 7,500 78%
7H18H(5&) PAV) ZEaE 66 10,500 69%
7H19H (%) PAV) “EE 66 10,500 69%
7H20H(H) PA) ZEE 66 10,500 69%
7H22H(N) PAV) BEE 66 7,500 78%
7H23H(K) PAV) ZEaE 66 8,000 76%
7H24H(XK) PAV) “EE 66 7,500 78%
7H25H (&) PAV) ZEE 66 9,500 72%
7H26H (1) PAV) BEE 66 8,000 76%
7H27H(H) PA) ZEaE 66 10,500 69%
7H28H(H) PAV) “EE 66 8,500 75%
7H29H(X) PAV) ZHaE 66 8,500 75%
7H30H(K) PAV) Bz 66 7,500 78%
7H31H(K) PAV) ZHaE 66 8,500 75%
8H1H(E) PAV) ZhE 66 9,500 72%
8H2H(L) PAV) ZHaE 66 9,000 73%
8H3H(H) PAV) ZhE 66 9,500 72%
8H4H(A) PAV) ZHaE 66 9,000 73%
8HS5H(X) PAV) ZhE 66 9,000 73%
8H6H(K) PAV) ZHaE 66 8,000 76%
8H7H(K) PAV) Bz 66 9,000 73%
8H18H(H) PAV) ZaE 66 10,500 69%
8H19H(XN) PAV) ZhE 66 8,000 76%
8H20H(K) PAV) ZHaE 66 7,500 78%
8H21H(K) PAV) ZaE 66 8,500 75%
8H22H (&) PAV) ZhE 66 9,000 73%
8H23H(%) PAV) ZaE 66 8,500 75%
8H24H(H) PAV) ZhE 66 9,500 72%
8H25H(H) PAV) ZaE 66 8,500 75%
8H26H(X) PAV) 2R 66 8,000 76%
8H27H(K) PAV) ZaE 66 7,500 78%
8H28H(K) PAV) ZhE 66 8,000 76%
8H29H (&) PAV) “aE 66 8,500 75%
8H30H(%) PAV) ZhE 66 7,500 78%
8H31H(H) PAV) ZoaE 66 9,000 73%
S5H7H(K) AN it 71 9,000 76%
S5H8H(R) AN it 71 8,500 78%
S5H9H(E) AN e 71 9,000 76%
S5H10H(L) ABR it 71 9,500 75%
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S5H11H(H) ABR it 71 8,500 78%
S5H12H(A) AN ot 71 9,000 76%
S5H13H(XN) ABR it 71 9,000 76%
5H14H(K) AN ot 71 8,500 78%
5H15H(XK) ABR it 71 7,500 80%
5H16H(&) AN ot 71 9,000 76%
S5H19H(H) ABR it 71 8,500 78%
S5H20H(N) AN ot 71 7,500 80%
S5H21H(K) ABR it 71 9,000 76%
5H22H(XK) AN ot 71 9,000 76%
5H23H(5&) ABR it 71 9,000 76%
S5H24H(%) AN ot 71 8,500 78%
S5H25H(H) ABR it 71 8,500 78%
S5H26H(H) AN it 71 8,000 79%
5H28H(K) AN ok 71 7,500 80%
S5H30H () AN it 71 7,500 80%
S5H31H(%) AN ok 71 7,500 80%
6H1H(H) AN it 71 7,500 80%
682H(A) AN ok 71 7,500 80%
6H3B(XN) AN it 71 7,500 80%
6H4H(K) AN ok 71 7,000 82%
6H5H(K) AN it 71 7,000 82%
6H6H(E) AN ok 71 8,500 78%
6H7H(L) AN it 71 8,500 78%
688H(H) AN ok 71 7,500 80%
6H9H(H) AN it 71 7,500 80%
6H10H(N) ABR ik 71 7,500 80%
6H11H(K) AN it 71 6,500 83%
6H12H(K) ABR ik 71 7,500 80%
6H13H(E) AN it 71 9,500 75%
6H14H (L) ABR ik 71 7,500 80%
6H15H(H) AN it 71 7,500 80%
6516H(H) ABR ik 71 7,500 80%
6H17H(XN) AN it 71 7,500 80%
6H18H(K) ABR ik 71 7,000 82%
6H19H(K) AN it 71 7,000 82%
6H20H (&) ABR ik 71 7,500 80%
6H21H (%) AN it 71 7,500 80%
68522H(H) ABR ik 71 7,500 80%
6H23H(H) AN it 71 7,000 82%
6H24H(N) AN it 71 8,000 79%
6H25H(K) AN it 71 7,000 82%
6H26H(K) AN it 71 7,000 82%
6H27H (&) AN it 71 7,000 82%
6H28H (%) AN ot 71 7,000 82%
6H29H(H) AN it 71 7,000 82%
6H30H(H) AN it 71 7,000 82%
7H1B(KX) AN it 71 6,500 84%
7H2H(K) AN it 71 6,500 84%
7H3H(K) AN it 71 7,000 83%
7H4B(E) AN it 71 7,500 81%
7H5H(L) AN it 71 7,500 81%
7H6H(H) AN e 71 7,000 83%
7H7H(R) ABR it 71 6,500 84%
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7H8H(X) ABR it 71 6,500 84%
7H9BH(K) AN ot 71 6,500 84%
7H10H(XK) ABR it 71 7,000 83%
7H11H(&) AN ot 71 7,000 83%
7H12H(L) ABR it 71 7,000 83%
7H13H(H) AN ot 71 7,000 83%
7H14H(H) ABR it 71 7,000 83%
7H15H(N) AN ot 71 7,000 83%
7H16H(K) ABR it 71 6,500 84%
7H17H(K) AN ot 71 7,000 83%
7H18H(5&) ABR it 71 7,500 81%
7H19H(L) AN ot 71 9,000 78%
7H20H(H) ABR it 71 8,500 79%
7H21H(H) AN it 71 8,000 80%
7H22H(X) AN ok 71 7,000 83%
7H23H(K) AN it 71 6,500 84%
7H24H(K) AN ok 71 7,000 83%
7H25H (%) AN it 71 7,000 83%
7H26H(L) AN ok 71 7,000 83%
7H27H(H) AN it 71 7,000 83%
7H28H(H) AN ok 71 6,500 84%
7H29H(N) AN it 71 6,500 84%
7H30H(K) AN ok 71 7,000 83%
7H31H(K) AN it 71 6,500 84%
8H1H(E) AN ok 71 8,000 80%
8H3H(H) AN it 71 9,000 78%
8H4H(A) ABR ik 71 7,500 81%
8H5H(X) AN it 71 7,000 83%
8H6H(K) ABR ik 71 7,000 83%
8H7H(K) AN it 71 7,000 83%
8H18H(H) ABR ik 71 6,500 84%
8H19H(XN) AN it 71 6,500 84%
8H20H(K) ABR ik 71 6,500 84%
8H21H(K) AN it 71 6,500 84%
8H22H (&) ABR ik 71 7,000 83%
8H23H(L) AN it 71 7,500 81%
8H24H(H) ABR ik 71 6,500 84%
8H25H(H) AN it 71 6,500 84%
8H26H(N) ABR ik 71 6,500 84%
8H27H(K) AN it 71 6,500 84%
8H28H(K) AN it 71 6,500 84%
8H29H (&) AN it 71 6,500 84%
8H30H(X) AN it 71 7,500 81%
8H31H(H) AN it 71 6,500 84%
S5H7H(K) b ABR 72 8,500 78%
S5H8H(K) poibi) AP 72 9,000 76%
S5H9H(E) b ABR 72 9,500 75%
S5H10H(%) poibi) AP 72 9,000 76%
5H11H(H) o) ABR 72 9,000 76%
S5H12H(H) Eoibi) KB 72 9,500 75%
S5H13H(X) o) ABR 72 9,000 76%
S5H14H(K) Eoibi) KB 72 9,000 76%
S5H15H(K) it KB 72 7,500 80%
5H17H(L) ok AP 72 9,500 75%
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S5H21H(K) b AP 72 8,500 78%
5H22H(XK) it AN 72 9,500 75%
5H23H(5&) b AP 72 9,500 75%
S5H24H(%) it AN 72 8,500 78%
S5H25H(H) b AP 72 8,500 78%
S5H26H(A) ik N 72 8,000 79%
S5H27H(X) b AP 72 9,500 75%
S5H28H(K) it AN 72 9,000 76%
5H29H(XK) b AP 72 9,000 76%
5H30H(&) it AN 72 9,000 76%
S5H31H(%) b AP 72 9,500 75%
6H1H(H) it N 72 7,500 80%
6H2H(H) b AP 72 8,000 79%
6H3B(XN) ik AN 72 7,500 80%
6H4H(K) Eolb) AP 72 7,500 80%
6H5H(K) ik AN 72 7,500 80%
6H6H(E) o) AP 72 8,000 79%
6H7H(L) Eoibi) KB 72 8,000 79%
688H(H) Eolb) AP 72 9,500 75%
6H9H(H) ik AN 72 8,000 79%
6H10H(N) o) AP 72 8,000 79%
6H11H(K) ik KB 72 8,000 79%
6H12H(K) Eolb) AP 72 8,500 78%
6H13H (&) ik AN 72 8,500 78%
6H14H (L) Eolb) AP 72 8,000 79%
6H15H(H) ik KB 72 8,000 79%
68516H(H) o) ABR 72 7,500 80%
6H17H(CXN) Eoibi) AP 72 8,000 79%
6H18H(K) b, ABR 72 7,500 80%
6H19H(K) Eoibi) AP 72 7,500 80%
6H20H (&) b, ABR 72 7,500 80%
6H21H (%) Eoibi) AP 72 8,000 79%
68522H(H) b, ABR 72 8,500 78%
6H23H(H) Eoibi) AP 72 8,000 79%
6H24H(X) b, ABR 72 8,000 79%
6H25H(K) Eoibi) AP 72 7,000 82%
6H26H(K) o) ABR 72 7,000 82%
6H27H (%) Eoibi) AP 72 9,500 75%
6H28H (%) b, ABR 72 8,000 79%
6H29H(H) poibi) AP 72 7,000 82%
6H30H(H) o) ABR 72 7,000 82%
7H1B(KX) poibi) AP 72 7,000 83%
7H2H(K) o) ABR 72 7,000 83%
7H3B(K) poibi) AP 72 9,000 78%
7H4B(E) b ABR 72 8,000 80%
7H5H(%) poibi) AP 72 8,000 80%
7H6H(H) b ABR 72 7,000 83%
7H7H(A) poibi) AP 72 7,000 83%
7H8H(N) o) ABR 72 6,500 84%
7H9H(K) Eoibi) KB 72 6,500 84%
7H10H(K) o) ABR 72 7,500 81%
7H11H(®) Eoibi) KB 72 8,000 80%
7H12H(L) it KB 72 8,000 80%
7H13H(H) ok AP 72 7,500 81%
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7H14H(H) b AP 72 7,000 83%
7H15H(N) it AN 72 7,000 83%
7H16H(K) b AP 72 7,000 83%
7H17H(K) it AN 72 7,000 83%
7H18H(5&) b AP 72 9,000 78%
7H19H(L) ik N 72 9,500 76%
7H20H(H) b AP 72 9,000 78%
7H21H(A) it AN 72 9,000 78%
7H22H(X) b AP 72 7,000 83%
7H23H(K) it AN 72 7,500 81%
7H24H(K) b AP 72 8,000 80%
7H25H (&) it N 72 7,500 81%
7H26H(L) b AP 72 8,000 80%
7H27H(H) ik AN 72 8,500 79%
7H28H(H) Eolb) AP 72 8,500 79%
7H29H(N) ik AN 72 8,000 80%
7H30H(K) o) AP 72 7,500 81%
7H31H(K) Eoibi) KB 72 7,500 81%
8H1H(E) Eolb) AP 72 7,500 81%
8H2H(L) ik AN 72 8,000 80%
8H3H(H) o) AP 72 8,000 80%
8H4H(H) ik KB 72 8,500 79%
8H5H(KX) Eolb) AP 72 8,000 80%
8H6H(K) ik AN 72 7,500 81%
8H7H(K) Eolb) AP 72 7,500 81%
8H18H(H) ik KB 72 7,000 83%
8H19H(N) o) ABR 72 6,500 84%
8H20H(7K) Eoibi) AP 72 7,000 83%
8H21H(K) b, ABR 72 7,000 83%
8H22H(&) Eoibi) AP 72 7,000 83%
8H23H(X) b, ABR 72 7,500 81%
8H24H(H) Eoibi) AP 72 7,000 83%
8H25H(H) b, ABR 72 7,500 81%
8H26H(XN) Eoibi) AP 72 6,500 84%
8H27H(K) b, ABR 72 6,500 84%
8H28H(K) Eoibi) AP 72 6,500 84%
8H29H (&) o) ABR 72 6,500 84%
8H30H(L) Eoibi) AP 72 7,500 81%
8H31H(H) b, ABR 72 6,500 84%
S5H7B(K) AN it 73 9,000 76%
S5H8H(RK) AN it 73 8,500 78%
S5H9H(E) AN it 73 9,000 76%
S5H10H(L) AN it 73 8,500 78%
S5H11H(H) AN it 73 9,000 76%
SH13H(X) AN ot 73 9,000 76%
S5H14H(K) AN it 73 8,500 78%
S5H15H(K) AN it 73 9,000 76%
S5H19H(H) AN it 73 9,000 76%
S5H20H(X) AN it 73 7,500 80%
S5H21H(K) AN it 73 9,000 76%
S5H22H(XK) AN it 73 8,500 78%
5H23H(5&) AN it 73 8,500 78%
S5H24H(%) AN e 73 8,500 78%
S5H25H(H) ABR it 73 8,500 78%
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S5H26H(H) ABR it 73 8,500 78%
S5H27H(N) AN ot 73 8,000 79%
5H28H(K) ABR it 73 8,000 79%
5H29H(XK) AN ot 73 8,500 78%
5H30H (&) ABR it 73 8,500 78%
S5H31H(L) AN ot 73 8,500 78%
6H1H(H) ABR it 73 9,000 76%
6H2H(AH) AN ot 73 8,000 79%
6H3H(N) ABR it 73 8,000 79%
6H48(K) AN ot 73 7,500 80%
6H5H(K) ABR it 73 7,500 80%
6H6H (%) AN ot 73 7,500 80%
6H7H(L) ABR it 73 7,500 80%
6H8H(H) AN it 73 7,000 82%
689H(A) AN ok 73 8,000 79%
6H108(N) AN it 73 6,500 83%
6H11H(K) AN ok 73 7,000 82%
6H12H(K) AN it 73 7,000 82%
6H13H(E) AN ok 73 8,000 79%
6H14H(X) AN it 73 8,000 79%
6H15H(H) AN ok 73 7,500 80%
6H16H(H) AN it 73 8,000 79%
6H17H(N) AN ok 73 7,500 80%
6H18H(K) AN it 73 8,000 79%
6H19H(K) AN ok 73 7,000 82%
6H20H (&) AN it 73 8,000 79%
6H21H(X) ABR ik 73 7,500 80%
6H22H(H) AN it 73 7,000 82%
68523H(H) ABR ik 73 7,500 80%
6H24H(XN) AN it 73 7,500 80%
6H25H(K) ABR ik 73 7,000 82%
6H26H(K) AN it 73 7,000 82%
6H27H(&) ABR ik 73 7,000 82%
6H28H (L) AN it 73 6,500 83%
68529H(H) ABR ik 73 7,500 80%
6H30H(H) AN it 73 8,000 79%
7H1HCN) ABR ik 73 7,000 83%
7H2B(K) AN it 73 7,000 83%
7H3H(K) ABR ik 73 7,000 83%
7H4B(E) AN it 73 7,500 81%
7H5H(X) AN it 73 7,000 83%
7H6H(H) AN it 73 8,500 79%
7H7H(H) AN it 73 7,500 81%
7H8H(X) AN it 73 7,000 83%
7H9H(K) AN ot 73 6,500 84%
7H10H(XK) AN it 73 6,500 84%
7H11H(&) AN it 73 7,500 81%
7H12H(L) AN it 73 7,500 81%
7H13H(H) AN it 73 9,000 78%
7H14H(H) AN it 73 7,500 81%
7H15H(X) AN it 73 7,000 83%
7H16H(K) AN it 73 7,000 83%
7H17H(K) AN e 73 7,000 83%
7H18H(5&) ABR it 73 9,500 76%
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7H19H(L) ABR it 73 8,500 79%
7H20H(H) AN ot 73 9,500 76%
7H21H(H) ABR it 73 9,500 76%
7H22H(N) AN ot 73 8,000 80%
7H23H(K) ABR it 73 7,000 83%
7H24H(K) AN ot 73 7,000 83%
7H25H(5&) ABR it 73 7,500 81%
7H26H(L) AN ot 73 7,500 81%
7H27H(H) ABR it 73 9,000 78%
7H28H(A) AN ot 73 8,500 79%
7H29H(N) ABR it 73 6,500 84%
7H30H(K) AN ot 73 7,000 83%
7H31H(XK) ABR it 73 7,500 81%
8H1H(E) AN it 73 7,500 81%
8H2H(L) AN ok 73 9,500 76%
8H3H(H) AN it 73 9,000 78%
8H4H(A) AN ok 73 9,000 78%
8H5H(XN) AN it 73 7,000 83%
8H6H(K) AN ok 73 7,000 83%
8H7H(K) AN it 73 7,000 83%
8H18H(H) AN ok 73 7,000 83%
8H19H(XN) AN it 73 7,000 83%
8H20H(K) AN ok 73 6,500 84%
8H21H(K) AN it 73 6,500 84%
8H22H (&) AN ok 73 9,000 78%
8H23H(X) AN it 73 7,000 83%
8H24H(H) ABR ik 73 7,500 81%
8H25H(H) AN it 73 7,500 81%
8H26H(N) ABR ik 73 6,500 84%
8H27H(K) AN it 73 6,500 84%
8H28H(K) ABR ik 73 6,500 84%
8H29H (&) AN it 73 7,500 81%
8H30H(X) ABR ik 73 8,000 80%
8H31H(H) AN it 73 7,500 81%
S5H8H(XK) b, ABR 74 7,500 80%
S5H9H(E) Eoibi) AP 74 8,500 78%
S5H10H(%) o) ABR 74 8,500 78%
S5H11H(H) Eoibi) AP 74 9,000 76%
5H12H(H) b, ABR 74 9,000 76%
S5H13H(XN) poibi) AP 74 9,000 76%
5H14H(K) o) ABR 74 9,000 76%
5H15H(XK) poibi) AP 74 9,000 76%
5H16H(5&) o) ABR 74 8,500 78%
5H17H(L) poibi) AP 74 9,000 76%
5H20B(X) b ABR 74 9,000 76%
S5H21H(K) poibi) AP 74 9,000 76%
5H22H(K) b ABR 74 9,000 76%
5H23H(5) poibi) AP 74 9,000 76%
S5H24H(%) o) ABR 74 8,500 78%
S5H25H(H) Eoibi) KB 74 7,500 80%
5H26H(H) o) ABR 74 8,000 79%
5H27H(X) Eoibi) KB 74 8,000 79%
S5H28H(K) it KB 74 8,500 78%
5H29H(XK) ok AP 74 8,500 78%
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5H30H(s&) b AP 74 8,000 79%
S5H31H(L) it AN 74 9,000 76%
6H1H(H) b AP 74 8,500 78%
6H2H(AH) it AN 74 7,500 80%
6H3B(X) b AP 74 8,000 79%
6H48(K) ik N 74 8,000 79%
6H5H(K) b AP 74 9,500 75%
6H6H (%) it AN 74 7,000 82%
6H7H(XL) b AP 74 8,000 79%
6H8H(H) it AN 74 8,500 78%
6H9H(H) b AP 74 8,000 79%
6H10H(XN) it N 74 9,000 76%
6H11H(K) b AP 74 7,500 80%
6H12H(K) ik AN 74 8,500 78%
6H13H(E) Eolb) AP 74 7,500 80%
6H14H(X) ik AN 74 8,000 79%
6H15H(H) o) AP 74 8,000 79%
6H16H(H) Eoibi) KB 74 8,000 79%
6H17H(X) Eolb) AP 74 7,000 82%
6H18H(K) ik AN 74 7,000 82%
6H19H(K) o) AP 74 8,000 79%
6H20H (&) ik KB 74 7,000 82%
6H21H(X) Eolb) AP 74 7,500 80%
6H22H(H) ik AN 74 8,000 79%
68523H(H) Eolb) AP 74 8,000 79%
6H248(XN) ik KB 74 8,000 79%
6H25H(K) o) ABR 74 7,000 82%
6H26H(K) Eoibi) AP 74 7,000 82%
6H27H(&) b, ABR 74 8,500 78%
6H28H (L) Eoibi) AP 74 7,000 82%
68529H(H) b, ABR 74 7,000 82%
6H30H(H) Eoibi) AP 74 6,500 83%
7H1H(X) b, ABR 74 6,500 84%
7H2B(K) Eoibi) AP 74 7,000 83%
7H3H(K) b, ABR 74 7,000 83%
7H4B(E) Eoibi) AP 74 7,500 81%
7H5H(X) o) ABR 74 7,000 83%
7H6H((H) Eoibi) AP 74 7,000 83%
7H7H(H) b, ABR 74 7,000 83%
7H8H(X) poibi) AP 74 7,000 83%
7H9H(K) o) ABR 74 6,500 84%
7H10H(XK) poibi) AP 74 7,000 83%
7H11H(&) o) ABR 74 9,000 78%
7H12H(L) poibi) AP 74 7,000 83%
7H13H(H) b ABR 74 8,500 79%
7H14H(H) poibi) AP 74 7,000 83%
7H15H(X) b ABR 74 7,000 83%
7H16H(K) poibi) AP 74 7,000 83%
7H17H(K) o) ABR 74 7,000 83%
7H18H(5&) Eoibi) KB 74 9,000 78%
7H19H(L) o) ABR 74 9,000 78%
7H20H(H) Eoibi) KB 74 8,500 79%
7H21H(A) it KB 74 9,500 76%
7H22H(X) ok AP 74 6,500 84%
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7H23H(K) b AP 74 6,500 84%
7H24H(K) it AN 74 6,500 84%
7H25H(5&) b AP 74 7,500 81%
7H26H(L) it AN 74 8,500 79%
7H27H(H) b AP 74 8,500 79%
7H28H(AH) ik N 74 7,000 83%
7H29H(X) b AP 74 6,500 84%
7H30H(K) it AN 74 7,000 83%
7H31H(K) b AP 74 7,000 83%
8H1H(%) it AN 74 7,500 81%
8H2H(L) b AP 74 7,500 81%
8H3H(H) it N 74 9,000 78%
8H4H(H) b AP 74 9,500 76%
8H5H(N) ik AN 74 8,000 80%
8H6H(K) Eolb) AP 74 8,000 80%
8H7H(K) ik AN 74 7,500 81%
8H18H(H) o) AP 74 6,500 84%
8H19H(XN) Eoibi) KB 74 6,500 84%
8H20H(K) Eolb) AP 74 6,500 84%
8H21H(K) ik AN 74 6,500 84%
8H22H (&) o) AP 74 7,500 81%
8H23H(X) ik KB 74 6,500 84%
8H24H(H) Eolb) AP 74 7,500 81%
8H25H(H) ik AN 74 6,500 84%
8H26H(X) Eolb) AP 74 6,500 84%
8H27H(K) ik KB 74 6,500 84%
8H28H(K) o) ABR 74 6,500 84%
8H29H (&) Eoibi) AP 74 6,500 84%
8H30H(X) b, ABR 74 6,500 84%
8H31H(H) Eoibi) AP 74 7,000 83%
SH8H(RK) ABR ERS 75 8,650 75%
S5H9H(E) AN RS 75 7,650 78%
S5H10H(L) ABR ERS 75 8,650 75%
S5H11H(H) AN ) 75 8,150 77%
5H12H(H) ABR ERS 75 8,650 75%
S5H13H(XN) AN RS 75 8,650 75%
5H14H(K) ABR ERS 75 8,650 75%
5H15H(XK) AN RS 75 7,650 78%
5H16H(5&) ABR ERS 75 7,650 78%
5H17H(L) AN RS 75 8,650 75%
5H18H(H) ABR RS 75 8,650 75%
5H20H(X) AN RS 75 7,650 78%
5H21H(K) ABR EERS 75 8,650 75%
5H22H(XK) AN RS 75 7,650 78%
5H23H(5&) ABR RS 75 7,650 78%
S5H25H(H) AN RS 75 8,150 77%
5H27B(X) ABR EERS 75 8,650 75%
S5H28H(K) AN RS 75 6,650 81%
5H29H(K) ABR ERS 75 6,650 81%
5H30H (&) AN RS 75 8,650 75%
S5H31H(%) ABR ERS 75 8,650 75%
6H2H(H) AN RS 75 5,650 84%
6H3B(X) AN EERS 75 5,650 84%
6H48(K) ABR RS 75 5,650 84%
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6H5H(K) ABR RS 75 5,650 84%
6H6H (&) KBR ERS /5 6,650 81%
6H7H(L) ABR RS 75 5,650 84%
6H8H(H) ABR RS /5 8,150 77%
6H9H(H) ABR RS 75 6,650 81%
6H10H(X) ABR RS /5 5,650 84%
6H11H(K) ABR RS 75 6,650 81%
6H12H(K) ABR RS /5 5,650 84%
6H13H(%&) ABR RS 75 5,650 84%
6H14H(L) KBR ERS /5 5,650 84%
6H16H(H) ABR RS 75 5,650 84%
6H17H(X) ABR RS /5 5,650 84%
6H18H(K) ABR RS 75 5,650 84%
6H19H(K) ABR RS /5 6,650 81%
6H20H (&) KPR RS 75 8,150 77%
6H21H(%) KPR RS /5 8,150 77%
6H22H(H) KPR RS 75 8,150 77%
6H23H(H) ABR RS /5 5,650 84%
6H24H(XN) KPR RS 75 5,650 84%
6H25H(K) ABR RS /5 5,650 84%
6H26H(K) KPR RS 75 5,650 84%
6H27H(E) KPR RS /5 8,150 77%
6H28H(L) KPR RS 75 8,150 77%
6H29H(H) ABR RS /5 6,650 81%
6H30H(H) KPR RS 75 5,650 84%
7H1H(N) ABR RS /5 5,650 85%
7H2H(K) KBR RS 75 5,650 85%
7H3H(K) KPR RS 75 5,650 85%
7H4H (&) KPR RS 75 5,650 85%
7H5H(X) KPR RS 75 5,650 85%
7H6H(H) KBR RS 75 5,650 85%
7H7H(H) KPR RS 75 5,650 85%
7H8H(X) KPR RS 75 5,650 85%
7H9H(K) KPR RS 75 5,650 85%
7H10H(K) KBR RS 75 5,650 85%
7H11H(ZE) KPR RS 75 5,650 85%
7H12H(L) KBR RS 75 5,650 85%
7H13H(H) KPR RS 75 5,650 85%
7H14H(H) KBR RS 75 5,650 85%
7H15H(X) KPR RS 75 5,650 85%
7H16H(K) KBR RS /75 5,650 85%
7H17H(K) KPR RS 75 5,650 85%
7H18H(&) KBR RS /75 5,650 85%
7H19H(L) KPR RS 75 5,650 85%
7H20H(H) KBR RS 75 8,150 78%
7H21H(H) KPR RS 75 8,150 78%
7H22H(CN) KBR RS /75 5,650 85%
7H23H(K) KPR RS 75 5,650 85%
7H24H(K) KBR ERS 75 5,650 85%
7H25H(&E) KPR RS 75 5,650 85%
7H26H(L) KBR RS 75 5,650 85%
7H27H(H) KPR RS 75 6,650 82%
7H28H(H) ABR RS /75 5,650 85%
7H29H(X) ABR RS 75 5,650 85%
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7H30H(K) ABR RS 75 5,650 85%
7H31H(K) ABR RS /5 5,650 85%
8H1H(%&) ABR RS 75 6,650 82%
8H2H(%) KBR RS /5 6,650 82%
8H3H(H) ABR RS 75 8,150 78%
8H4H(H) ABR RS /5 7,150 81%
8H5H(XN) ABR RS 75 6,650 82%
8H6H(K) ABR ERS /5 6,650 82%
8H7H(K) ABR RS 75 6,650 82%
8H18H(H) ABR RS /5 6,650 82%
8H19H(N) ABR RS 75 6,650 82%
8H20H(K) ABR RS /5 6,650 82%
8H21H(K) ABR RS 75 6,650 82%
8H22H (%) KPR RS /5 6,650 82%
8H23H(L) KPR RS 75 6,650 82%
8H25H(H) ABR RS /5 6,650 82%
8H26H(X) KPR RS 75 6,650 82%
8H27H(K) ABR RS /5 6,650 82%
8H28H(K) KPR RS 75 6,650 82%
8H29H (&%) KPR RS /5 6,650 82%
8H30H(L) KPR EET 75 6,650 82%
8H31H(H) ABR RS /5 6,650 82%
S5H8H(R) e KPR 76 8,150 77%
S5H9H(&E) RS KR 76 8,150 77%
5H10H(L) m' KPR 76 8,650 75%
5H11H(H) RS KR 76 7,650 78%
5H14H(K) u:' ABR 76 7,650 78%
S5H15H(XK) ERE KR 76 8,650 75%
S5H16H(%) u:' ABR 76 8,650 75%
5H17H(%) RS KR 76 8,650 75%
5H18H(H) u:' ABR 76 7,650 78%
S5H20H(X) RS KPR 76 8,650 75%
5H21H(K) B ABR 76 7,650 78%
5H22H(XK) ERE KPR 76 6,650 81%
S5H23H(&#) u:' ABR 76 8,650 75%
S5H24H(%) ERE KPR 76 6,650 81%
5H25H(H) u:' KBR 76 8,650 75%
S5H27H(X) RS ABR 76 8,650 75%
5H28H(K) B ABR 76 7,650 78%
5H29H(XK) ERE KPR 76 8,650 75%
S5H30H(&®) bljb KBR 76 7,650 78%
6H1H(H) ERE KPR 76 8,150 77%
6H2H(AH) bljb ABR 76 8,150 77%
6H3H(XN) ERE KPR 76 5,650 84%
6H4H(K) bljb KBR 76 5,650 84%
6H5H(K) ERE KPR 76 5,650 84%
6H6H (&) bljb KBR 76 8,150 77%
6H7H(%) ERE KPR 76 5,650 84%
6H8H(H) bljb KBR 76 8,150 77%
6896 (5) I K 76 5,650 84%
6H10H(N) bljb ABR 76 5,650 84%
6H11H(K) RS KPR 76 5,650 84%
6H12H(K) B ABR 76 8,150 77%
6H13H (%) RS KPR 76 5,650 84%
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6H14H(L) E AP 76 5,650 84%
6H15H(H) RER AN 76 5,650 84%
6H16H(H) S AP 76 5,650 84%
6H17H(N) RER AN 76 5,650 84%
6H18H(K) S AP 76 5,650 84%
6H19H(K) RER N 76 5,650 84%
6H20H (&) ERE AP 76 8,150 77%
6H21H (%) FE';EJ AN 76 5,650 84%
6H22H(H) S AP 76 8,150 77%
6H23H(H) RER AN 76 6,650 81%
6H24H(N) RS AP 76 5,650 84%
6H25H(K) ) N 76 5,650 84%
6H26H(K) RS AP 76 8,150 77%
6H27H (&) ERE ABR 76 5,650 84%
6H28H (%) m' AP 76 5,650 84%
6H29H(H) ) ABR 76 8,150 77%
6H30H(H) E AP 76 6,650 81%
7H1B(CN) ERE ABR 76 5,650 85%
7H2B(K) l:bl AP /76 5,650 85%
7H3H(K) ERS ABR 76 5,650 85%
7H4B(E) m' AP 76 6,650 82%
7H5H(X) ) ABR 76 5,650 85%
7H6H(H) E AP 76 5,650 85%
7H7H(A) ERE ABR 76 5,650 85%
7H8H(N) l:l:.l AP 76 5,650 85%
7H9H(K) ERS ABR 76 5,650 85%
7H10H(K) us' ABR 76 5,650 85%
7H11H(®) ERE KPR 76 5,650 85%
7H12H(L) m' ABR 76 5,650 85%
7H13H(H) ERE KPR 76 5,650 85%
7H14H(H) us' ABR 76 5,650 85%
7H15H(N) ) KPR 76 5,650 85%
7H16H(K) EeUT ABR 76 5,650 85%
7H17H(XK) ERS KPR 76 5,650 85%
7H18H(5&) m' ABR 76 6,650 82%
7H19H(L) ERE KPR 76 5,650 85%
7H20H(H) m' ABR 76 5,650 85%
7H21H(H) ) ABR 76 5,650 85%
7H22H(X) EeUT ABR 76 5,650 85%
7H23H(K) ERS KPR 76 5,650 85%
7H24H(K) bljb N 76 5,650 85%
7H25H(s%) ERS KPR 76 5,650 85%
7H26H(L) bljb ABR 76 5,650 85%
7H27H(H) ERS KPR 76 8,150 78%
7H28H(H) bljb N 76 5,650 85%
7H29H(N) ERS KPR 76 8,150 78%
7H30H(K) bljb N 76 5,650 85%
7H31H(XK) ERS AP 76 5,650 85%
8H2H(L) bljb ABR 76 6,650 82%
8H3H(H) ERS KPR 76 6,650 82%
8H4H(H) bljb N 76 6,650 82%
8HS5H(X) ) KPR 76 6,650 82%
8H6H(K) eSS KB 76 6,650 82%
8H7H(K) RS KPR 76 6,650 82%




aE&e

(X5

EE

IBEX4Hi

EEER F5|x
8H18H(H) E AP 76 8,150 78%
8H19H(N) E AN 76 6,650 82%
8H20H(K) E AP 76 6,650 82%
8H21H(K) E AN 76 6,650 82%
8H22H(&) S AP 76 6,650 82%
8H23H(X) RER N 76 6,650 82%
8H24H(H) RS AP 76 6,650 82%
8H25H(H) ) AN 76 6,650 82%
8H26H(XN) E AP 76 6,650 82%
8H27H(K) ) AN 76 6,650 82%
8H28H(K) S AP 76 6,650 82%
8H29H (&) ) N 76 6,650 82%
8H30H(%) E AP 76 6,650 82%
8H31H(H) ) AN 76 6,650 82%
SH7H(K) AN X5 77 9,500 62%
S5H8H(K) AN PAV) 77 7,500 70%
S5H9H(E) AN X5 77 7,500 70%
S5H11H(H) AN PAV) 77 9,500 62%
5H12H(H) AN X5 77 8,500 66%
SH13H(X) AN PA) 77 8,500 66%
5H14H(K) AN X5 77 8,500 66%
5H15H(XK) AN PA) 77 8,500 66%
5H16H(5) AN X5 77 8,500 66%
S5H17H(L) ABR PAV) 77 9,000 64%
5H18H(H) AN X5 77 9,000 64%
5H19H(H) AN PAV) 77 9,000 64%
S5H20H(X) ABR PAVJ) 77 7,500 70%
S5H21H(K) AN PAV) 77 7,500 70%
S5H22H(XK) ABR PAVJ) 77 9,000 64%
S5H23H(:%) KPR PAV) 77 8,500 66%
S5H24H(%) ABR PAVJ) 77 9,000 64%
S5H25H(H) AN PAV) 77 8,500 66%
5H26H(H) ABR PAVJ) 77 7,500 70%
S5H27H(X) AN PAV) 77 8,500 66%
5H28H(K) ABR PAVJ) 77 8,500 66%
5H29H(XK) AN PA) 77 9,000 64%
5H30H (&) ABR PAVJ) 77 8,500 66%
5H31H(%) KPR PAV) 77 8,500 66%
681H(H) ABR PAVJ) 77 8,500 66%
6H2H(H) AN DAV 77 8,500 66%
6H3H(N) ABR Aa) 77 8,500 66%
6H48(K) AN DAV 77 7,500 70%
6H5H(K) ABR Aa) 77 6,500 74%
6H6H(E) AN DAV 77 7,500 70%
6H7H(XL) ABR PAV) 77 7,500 70%
6H8H(H) AN DAV 77 6,500 74%
6H9H(H) ABR Aa) 77 6,500 74%
6H108(XN) AN DAV 77 6,000 76%
6H11H(K) ABR Aa) 77 6,000 76%
6H12H(K) AN DAV 77 6,000 76%
6H13H(&) ABR PAV) 77 6,000 76%
6H14H(X) AN DAV 77 7,500 70%
6H15H(H) ABR PAV) 77 6,000 76%
6H16H(H) ABR DAV 77 6,000 76%
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6H17H(CXN) ABR DAV 77 5,500 78%
6H18H(K) AN PAV) 77 6,000 76%
6H19H(K) ABR DAV 77 6,500 74%
6H20H (&) ABR PAV) 77 6,000 76%
6H21H(L) ABR DAV 77 6,500 74%
6H22H(H) AN PAV) 77 6,000 76%
6H23H(H) ABR DAV 77 6,500 74%
6H24H(N) AN PAV) 77 6,000 76%
6H25H(K) ABR DAV 77 5,500 78%
6H26H(K) AN PAV) 77 6,000 76%
6H27H (&) ABR DAV 77 6,000 76%
6H28H (%) ABR PAV) 77 5,500 78%
6H29H(H) ABR DAV 77 6,000 76%
6H30H(H) AN PAV) 77 6,000 76%
7H1HCN) AN X5 77 6,000 78%
7H2B(K) AN PAV) 77 5,500 79%
7H3H(K) AN X5 77 5,500 79%
7H4H (&) ABR PAV) 77 5,500 79%
7H5H(X) AN X5 77 6,500 76%
7H6H(H) AN PAV) 77 6,000 78%
7H7H(H) AN X5 77 5,500 79%
7H8H(N) AN PAV) 77 6,500 76%
7H9H(K) AN X5 77 5,500 79%
7H10H(K) AN PAV) 77 5,500 79%
7H11H(®) AN X5 77 6,000 78%
7H12H(L) ABR PAV) 77 6,500 76%
7H13H(H) ABR PAVJ) 77 5,500 79%
7H14H(H) AN PAV) 77 6,000 78%
7H15H(X) ABR PAVJ) 77 6,500 76%
7H16H(K) AN PA) 77 5,500 79%
7H17H(K) ABR PAVJ) 77 5,500 79%
7H18H(s%) KPR PAV) 77 6,500 76%
7H19H(L) ABR PAVJ) 77 9,000 66%
7H20H(H) AN PAV) 77 6,500 76%
7H21H(H) ABR PAVJ) 77 7,500 72%
7H22H(X) AN PA) 77 5,500 79%
7H23H(K) ABR PAVJ) 77 5,500 79%
7H24H(XK) AN PA) 77 5,500 79%
7H25H (&) ABR PAVJ) 77 6,500 76%
7H26H(L) AN DAV 77 7,500 72%
7H27H(H) ABR PAV) 77 6,000 78%
7H28H(H) AN DAV 77 7,500 72%
7H29H(X) ABR Aa) 77 5,500 79%
7H30H(K) AN DAV 77 6,000 78%
7H31H(K) ABR Aa) 77 6,000 78%
8H1H(%&) AN DAV 77 7,500 72%
8H2H(L) ABR PAV) 77 6,500 76%
8H3H(H) AN DAV 77 6,500 76%
8H4H(H) ABR Aa) 77 6,000 78%
8HS5H(X) AN DAV 77 6,000 78%
8H6H(K) ABR Aa) 77 6,000 78%
8H7H(K) AN DAV 77 6,000 78%
8H18H(H) AN PAV) 77 6,500 76%
8H19H(XN) ABR DAV 77 6,000 78%
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8H20H(K) ABR DAV 77 5,500 79%
8H21H(K) AN PAV) 77 6,000 78%
8H22H(&) ABR DAV 77 6,500 76%
8H23H(X) ABR PAV) 77 6,500 76%
8H24H(H) ABR DAV 77 6,000 78%
8H25H(H) AN PAV) 77 5,500 79%
8H26H(XN) ABR DAV 77 5,500 79%
8H27H(K) AN PAV) 77 6,000 78%
8H28H(K) ABR DAV 77 5,500 79%
8H29H (&) ABR PAV) 77 6,500 76%
8H30H(x) ABR DAV 77 6,500 76%
8H31H(H) AN PAV) 77 5,500 79%
S5H7B(K) A7 AP 78 9,500 62%
S5H8H(K) PAV) AN 78 8,500 66%
S5H9H(E) PA) AP 78 8,500 66%
S5H10H(L) PAV) AN 78 8,500 66%
5H11H(H) PAV) AP 78 8,500 66%
S5H12H(H) PAV) KB 78 9,500 62%
SH13H(X) PA) AP 78 8,500 66%
S5H14H(K) PAV) AN 78 9,500 62%
S5H15H(K) PAV) AP 78 9,000 64%
S5H16H(E) PAV) KB 78 8,500 66%
5H18H(H) PAV) AP 78 8,500 66%
S5H19H(A) PAV) AN 78 9,500 62%
S5H20H(X) PA) AP 78 8,500 66%
S5H21H(K) PAV) ABR 78 8,500 66%
S5H22H(XK) PAV) ABR 78 7,500 70%
5H23H(5) PAV) AP 78 8,500 66%
S5H24H(%) PAV) ABR 78 9,500 62%
S5H25H(H) PAV) AP 78 9,000 64%
5H26H(H) PAV) ABR 78 8,500 66%
5H27H(X) PAV) AP 78 7,500 70%
5H28H(K) PAV) ABR 78 8,500 66%
5H29H(XK) PAV) AP 78 8,500 66%
5H30H(s&) PAV) ABR 78 8,500 66%
5H31H(%) PAV) AP 78 8,500 66%
681H(H) PAV) ABR 78 8,500 66%
6H2H(AH) PAV) AP 78 8,500 66%
6H3H(X) PAV) ABR 78 7,500 70%
6H48(K) PAV) AP 78 7,500 70%
6H5H(K) PAV) N 78 7,500 70%
6H6H(E) PAV) AP 78 7,500 70%
6H7H(XL) PAV) ABR 78 9,000 64%
6H8H(H) PAV) AP 78 7,500 70%
689H(H) PAV) N 78 7,500 70%
6H108(XN) PAV) AP 78 7,500 70%
6H11H(K) PAV) N 78 6,500 74%
6H12H(K) PAV) AP 78 7,500 70%
6H13H(&) PAV) ABR 78 6,500 74%
6H14H(X) PAV) KB 78 6,500 74%
6H15H(H) PAV) ABR 78 7,500 70%
6H17H(N) PAV) KB 78 7,500 70%
6H18H(K) PAV) KB 78 5,500 78%
6H19H(K) %) AP 78 7,500 70%
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6H20H (&) ) AP 78 7,500 70%
6H21H (%) PAV) AN 78 8,500 66%
6H22H(H) ) AP 78 8,500 66%
6H23H(H) PAV) AN 78 6,500 74%
6H24H(N) ) AP 78 6,500 74%
6H25H(K) PAV) N 78 5,500 78%
6H26H(K) %) AP 78 6,500 74%
6H27H(&) PV AN 78 6,500 74%
6H28H (%) ) AP 78 6,500 74%
6H29H(H) PAV) AN 78 6,500 74%
6H30H(H) ) AP 78 5,500 78%
7H1B(CX) PAV) N 78 6,000 78%
7H2B8(K) A7 AP 78 5,500 79%
7H3H(K) PAV) AN 78 5,500 79%
7H4B(E) PA) AP 78 5,500 79%
7H5H(L) PAV) AN 78 7,500 72%
7H6H(H) PAV) AP 78 5,500 79%
7H7H(A) PAV) KB 78 6,000 78%
7H8H(N) PA) AP 78 6,000 78%
7H9H(K) PAV) ABR 78 6,000 78%
7H10H(K) PAV) AP 78 6,000 78%
7H11H(E) PAV) KB 78 6,000 78%
7H12H(L) PAV) AP 78 7,500 72%
7H13H(H) PAV) AN 78 5,500 79%
7H14H(H) PA) AP 78 5,500 79%
7H15H(N) PAV) KB 78 6,000 78%
7H16H(K) PAV) ABR 78 5,500 79%
7H17H(XK) PAV) AP 78 6,000 78%
7H18H(5&) PAV) ABR 78 7,500 72%
7H19H(L) PAV) AP 78 9,000 66%
7H20H(H) PAV) ABR 78 7,500 72%
7H21H(AH) PAV) AP 78 7,500 72%
7H22H(X) PAV) ABR 78 6,000 78%
7H23H(K) PAV) KPR 78 6,000 78%
7H24H(K) PAV) ABR 78 5,500 79%
7H25H (&) PAV) AP 78 6,000 78%
7H26H(%) PAV) ABR 78 7,500 72%
7H27H(H) PAV) AP 78 5,500 79%
7H28H(H) PAV) ABR 78 6,000 78%
7H29H(N) PAV) AP 78 5,500 79%
7H30H(K) PAV) N 78 5,500 79%
7H31H(XK) PAV) AP 78 6,000 78%
8H1H(E) PAV) ABR 78 6,500 76%
8H2H(L) PAV) AP 78 7,500 72%
8H3H(H) PAV) ABR 78 6,500 76%
8H4H(H) PAV) AP 78 6,000 78%
8H5H(KX) PAV) N 78 6,500 76%
8H6H(K) PAV) AP 78 6,000 78%
8H7H(XK) PAV) N 78 6,000 78%
8H18H(H) PAV) KB 78 5,500 79%
8H19H(X) PAV) N 78 5,500 79%
8H20H(K) PAV) KB 78 5,500 79%
8H21H(K) PAV) KB 78 6,000 78%
8H22H(&) %) AP 78 5,500 79%
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8H23H(X) ) AP 78 7,500 72%
8H24H(H) PAV) AN 78 6,000 78%
8H25H(H) ) AP 78 5,500 79%
8H26H(XN) PAV) AN 78 5,500 79%
8H27H(K) ) AP 78 5,500 79%
8H28H(K) PAV) N 78 5,500 79%
8H29H (&) %) AP 78 5,500 79%
8H30H(X) PAV) AN 78 7,500 72%
8H31H(H) ) AP 78 6,500 76%
S5H8H(K) AN B5S 79 9,160 77%
S5H9H(E) ABR B 79 8,160 79%
S5H10H(L) AN B5S 79 9,160 77%
S5H11H(H) ABR = 79 9,160 77%
S5H12H(H) AN B5S 79 9,160 77%
5H14H(K) AN = 79 8,560 78%
5H15H(XK) AN B5S 79 8,160 79%
5H16H(5) AN = 79 9,160 77%
S5H17H(L) AN B5S 79 8,160 79%
5H19H(H) AN = 79 9,160 77%
S5H21H(K) AN B5S 79 9,160 77%
S5H22H(K) AN = 79 8,160 79%
S5H23H(:) AN B5S 79 8,560 78%
S5H24H(%) AN = 79 9,160 77%
S5H27H(N) AN B5S 79 8,160 79%
5H28H(K) AN = 79 8,160 79%
5H29H(XK) AN B5S 79 8,160 79%
5H30H(s&) ABR B 79 9,160 77%
5H31H(%) AN B5S 79 9,160 77%
681H(H) ABR B 79 9,000 77%
6H2H(AH) AN B5S 79 8,160 79%
6H3B(X) ABR B 79 8,160 79%
6H4H(K) AN B5S 79 8,160 79%
6H5H(R) ABR B 79 8,160 79%
6H6H(E) AN B5S 79 8,660 78%
6H7H(L) ABR B 79 9,000 77%
6H8H(H) AN B5S 79 9,000 77%
6H10H(N) ABR B 79 8,160 79%
6H11H(K) AN B5S 79 8,660 78%
6H12H(K) ABR B 79 8,660 78%
6H13H(E) AN =) 79 8,160 79%
6H14H(X) ABR =) 79 8,660 78%
6H15H(H) AN =) 79 9,000 77%
6H16H(H) ABR BS 79 8,160 79%
6H17H(CN) AN =) 79 8,160 79%
6H18H(K) ABR B5S 79 8,160 79%
6H19H(K) AN =) 79 8,160 79%
6H20H (&) ABR =) 79 8,660 78%
6H21H(L) AN =) 79 9,000 77%
68522H(H) ABR B 79 8,160 79%
6H23H(H) AN =) 79 9,000 77%
6H24H(X) ABR BES 79 8,160 79%
6H25H(K) AN =) 79 8,660 78%
6H26H(K) AN B5S 79 8,660 78%
6H27H(E) ABR =) 79 8,660 78%
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6H28H (%) ABR = 79 8,160 79%
6H29H(H) AN B5S 79 8,160 79%
6H30H(H) ABR B 79 8,160 79%
7H1B(CX) AN B5S 79 8,160 80%
7H2B(K) ABR = 79 8,160 80%
7H3B(K) AN B5S 79 8,160 80%
7H4B(E) ABR = 79 8,160 80%
7H5H(TL) AN B5S 79 8,160 80%
7H6H((H) ABR B 79 8,160 80%
7H7H(R) AN B5S 79 8,160 80%
7H8H(X) ABR B 79 8,160 80%
7H9BH(K) AN B5S 79 8,160 80%
7H10H(XK) ABR = 79 8,160 80%
7H11H(E) AN B5S 79 8,160 80%
7H12H(L) AN = 79 8,160 80%
7H13H(H) AN B5S 79 8,160 80%
7H14H(H) AN = 79 8,660 79%
7H15H(N) AN B5S 79 8,160 80%
7H16H(K) AN = 79 8,160 80%
7H17H(K) AN B5S 79 8,160 80%
7H18H(5&) AN = 79 8,160 80%
7H19H(L) AN B5S 79 8,160 80%
7H20H(H) AN = 79 8,160 80%
7H21H(H) AN B5S 79 8,160 80%
7H22H(X) AN = 79 8,160 80%
7H23H(K) AN B5S 79 8,160 80%
7H24H(K) ABR B 79 8,160 80%
7H25H (&) AN B5S 79 9,000 78%
7H26H(L) ABR B 79 8,160 80%
7H27H(H) AN B5S 79 8,160 80%
7H28H(H) ABR B 79 8,160 80%
7H29H(N) AN B5S 79 8,160 80%
7H30H(K) ABR B 79 8,160 80%
7H31H(XK) AN B5S 79 8,160 80%
8H1H(E) ABR B 79 8,160 80%
8H2H(L) AN B5S 79 9,000 78%
8H3H(H) ABR B 79 8,660 79%
8H4H(H) AN B5S 79 8,160 80%
8HS5H(X) ABR B 79 8,160 80%
8H6H(K) AN =) 79 8,160 80%
8H7H(XK) ABR BS 79 8,160 80%
8H18H(H) AN =) 79 8,160 80%
8H19H(X) ABR BS 79 8,160 80%
8H20H(’K) AN =) 79 8,160 80%
8H21H(K) ABR B5S 79 9,000 78%
8H22H(&) AN =) 79 8,160 80%
8H23H(X) ABR =) 79 8,160 80%
8H24H(H) AN =) 79 8,660 79%
8H25H(H) ABR BES 79 8,160 80%
8H26H(XN) AN =) 79 8,160 80%
8H27H(K) ABR BES 79 8,160 80%
8H28H(K) AN B5S 79 8,160 80%
8H29H (&) AN B5S 79 8,160 80%
8H30H(x) ABR =) 79 8,160 80%
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8H31H(H) ABR = 79 8,660 79%
S5H8H(K) RS AN 80 9,160 77%
S5H9H(E) =] AP 80 8,160 79%
S5H10H(L) RS AN 80 9,160 77%
S5H12H(H) =] AP 80 8,560 78%
S5H13H(N) RS N 80 8,560 78%
S5H14H(K) BS AP 80 8,160 79%
5H15H(XK) RS AN 80 8,560 78%
5H16H(5) =] AP 80 8,160 79%
S5H17H(L) RS AN 80 8,560 78%
S5H18H(H) =] AP 80 9,160 77%
S5H20H(XN) RS N 80 9,160 77%
S5H21H(K) BS AP 80 8,160 79%
5H22H(XK) RS AN 80 8,160 79%
5H23H(5&) =] AP 80 8,160 79%
S5H26H(H) RS AN 80 8,160 79%
S5H27H(X) B AP 80 8,160 79%
5H28H(K) RS KB 80 8,160 79%
S5H29H(XK) B AP 80 8,160 79%
6H1H(H) RS AN 80 8,660 78%
682H(A) =] AP 80 8,660 78%
6H3B(XN) RS KB 80 9,000 77%
6H4H(K) B AP 80 8,160 79%
6H5H(K) RS AN 80 9,000 77%
6H7H(L) =] AP 80 9,000 77%
6H8H(H) RS KB 80 8,660 78%
6H9H(AH) B ABR 80 8,660 78%
6H10H(XN) RS AP 80 8,160 79%
6H11H(K) B ABR 80 8,160 79%
6H12H(K) RS AP 80 8,160 79%
6H13H(&) =] ABR 80 9,000 77%
6H15H(H) RS AP 80 8,660 78%
6516H(H) B ABR 80 8,160 79%
6H17H(XN) RS AP 80 8,160 79%
6H18H(K) B ABR 80 8,160 79%
6H19H(K) RS AP 80 8,160 79%
6H20H (&) =] ABR 80 8,660 78%
6H21H (%) RS AP 80 9,000 77%
68522H(H) =] ABR 80 8,160 79%
6H23H(H) =] AP 80 8,660 78%
6H24H(X) =) N 80 9,000 77%
6H25H(K) =] AP 80 8,160 79%
6H26H(K) =) N 80 8,160 79%
6H27H (&) =] AP 80 8,160 79%
6H28H (%) =) ABR 80 8,660 78%
6H29H(H) =] AP 80 8,660 78%
6H30H(H) =) N 80 8,160 79%
7H1B(KX) =] AP 80 8,160 80%
7H2H(K) =) N 80 8,160 80%
7H3H(K) =] KB 80 8,160 80%
7H4B(E) =) ABR 80 8,160 80%
7H5H(L) =] KB 80 8,160 80%
7H6H(H) BE KB 80 8,660 79%
7H7H(R) =] AP 80 8,160 80%
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7H8H(X) BS AP 80 8,160 80%
7H9BH(K) RS AN 80 8,160 80%
7H10H(XK) BS AP 80 8,160 80%
7H11H(&) RS AN 80 8,160 80%
7H12H(L) =] AP 80 8,160 80%
7H13H(H) RS N 80 8,660 79%
7H14H(H) =] AP 80 8,160 80%
7H15H(N) RS AN 80 8,160 80%
7H16H(K) BS AP 80 8,160 80%
7H17H(K) RS AN 80 8,160 80%
7H18H(5&) =] AP 80 8,160 80%
7H19H(L) RS N 80 8,160 80%
7H20H(H) =] AP 80 8,160 80%
7H21H(H) RS AN 80 8,160 80%
7H22H(X) B AP 80 8,160 80%
7H23H(K) RS AN 80 8,660 79%
7H24H(K) B AP 80 8,160 80%
7H25H (%) RS KB 80 8,160 80%
7H26H(L) =] AP 80 8,160 80%
7H27H(H) RS AN 80 8,160 80%
7H28H(H) =] AP 80 8,660 79%
7H29H(N) RS KB 80 8,160 80%
7H30H(K) B AP 80 8,160 80%
7H31H(K) RS AN 80 8,160 80%
8H1H(E) =] AP 80 8,160 80%
8H2H(L) RS KB 80 8,160 80%
8H3H(H) =] ABR 80 8,160 80%
8H4H(H) RS AP 80 8,160 80%
8HS5H(X) B ABR 80 9,000 78%
8H6H(K) RS AP 80 8,160 80%
8H7H(RK) B ABR 80 8,160 80%
8H18H(H) RS AP 80 8,160 80%
8H19H(N) B ABR 80 8,160 80%
8H20H(7K) RS AP 80 8,160 80%
8H21H(K) B ABR 80 8,160 80%
8H22H(&) RS AP 80 8,160 80%
8H23H(X) =] ABR 80 9,000 78%
8H24H(H) RS AP 80 8,160 80%
8H25H(H) B ABR 80 8,160 80%
8H26H(XN) =] AP 80 8,160 80%
8H27H(K) =) N 80 8,160 80%
8H28H(K) =] AP 80 8,160 80%
8H29H (&) =) ABR 80 9,000 78%
8H30H(%) =] AP 80 8,160 80%
8H31H(H) =) ABR 80 8,160 80%
S5H8H(R) AN == 81 9,160 77%
S5H9H(E) ABR B5S 81 9,160 77%
S5H10H(%) AN == 81 9,160 77%
5H11H(H) ABR BES 81 8,160 79%
S5H13H(XN) AN B5S 81 8,560 78%
5H14H(K) ABR BES 81 9,160 77%
5H15H(XK) AN B5S 81 8,160 79%
5H16H(5&) AN B5S 81 8,160 79%
5H17H(L) ABR == 81 8,160 79%
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S5H18H(H) ABR = 81 8,160 79%
S5H19H(A) AN B5S 81 8,160 79%
5H20H(X) ABR B 81 9,160 77%
S5H21H(K) AN B5S 81 9,160 77%
5H22H(XK) ABR = 81 9,160 77%
5H23H(5&) AN B5S 81 8,160 79%
S5H25H(H) ABR = 81 8,160 79%
S5H28H(K) AN B5S 81 8,160 79%
5H30H (&) ABR B 81 8,560 78%
S5H31H(L) AN B5S 81 8,560 78%
6H2H(H) ABR B 81 8,660 78%
6H3B(XN) AN B5S 81 8,160 79%
6H4H(K) ABR = 81 8,160 79%
6H5H(K) AN B5S 81 8,160 79%
6H6H(E) AN = 81 8,660 78%
6H7H(L) AN B5S 81 9,000 77%
689H(A) AN B5 81 9,000 77%
6H108(N) AN B5S 81 8,160 79%
6H11H(K) AN = 81 8,160 79%
6H12H(K) AN B5S 81 8,160 79%
6H13H(E) AN = 81 8,160 79%
6H14H(X) AN B5S 81 9,000 77%
6H16H(H) AN B5 81 9,000 77%
6H17H(CN) AN B5S 81 8,160 79%
6H18H(K) AN = 81 8,160 79%
6H19H(K) AN B5S 81 8,160 79%
6H20H (&) ABR B 81 8,160 79%
6H21H (%) AN B5S 81 8,160 79%
68523H(H) ABR BS 81 9,000 77%
6H24H(XN) AN B5S 81 8,160 79%
6H25H(K) ABR B 81 8,160 79%
6H26H(K) AN B5S 81 9,000 77%
6H27H(&) ABR B 81 8,160 79%
6H28H (L) AN B5S 81 9,000 77%
68529H(H) ABR BS 81 9,000 77%
6H30H(H) AN B5S 81 8,160 79%
7H1HCN) ABR B 81 8,160 80%
7H2B(K) AN B5S 81 8,160 80%
7H3H(K) ABR B 81 9,000 78%
7H4B(E) AN == 81 8,160 80%
7H5H(X) ABR BS 81 8,160 80%
7H6H(H) AN == 81 8,160 80%
7H7H(H) ABR BS 81 8,660 79%
7H8H(X) AN == 81 8,160 80%
7H9H(K) ABR B5S 81 8,160 80%
7H10H(XK) AN == 81 8,160 80%
7H11H(&) ABR B5S 81 8,660 79%
7H12H(L) AN == 81 8,160 80%
7H13H(H) ABR BES 81 8,160 80%
7H14H(H) AN B5S 81 8,160 80%
7H158(X) ABR BES 81 8,160 80%
7H16H(K) AN B5S 81 8,660 79%
7H17H(K) AN B5S 81 8,160 80%
7H18H(5&) ABR == 81 8,660 79%
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7H19H(L) ABR = 81 9,000 78%
7H20H(H) AN B5S 81 8,160 80%
7H22H(N) ABR B 81 8,660 79%
7H23H(K) AN B5S 81 8,660 79%
7H24H(XK) ABR = 81 8,160 80%
7H25H (&) AN B5S 81 8,160 80%
7H26H(L) ABR = 81 8,160 80%
7H27H(H) AN B5S 81 8,660 79%
7H28H(H) ABR B 81 8,160 80%
7H29H(N) AN B5S 81 8,160 80%
7H30H(K) ABR B 81 8,160 80%
7H31H(K) AN B5S 81 8,160 80%
8H1H(E) ABR = 81 8,160 80%
8H2H(L) AN B5S 81 8,160 80%
8H3H(H) AN = 81 8,160 80%
8H4H(H) AN B5S 81 9,000 78%
8H5H(KX) AN = 81 8,160 80%
8H6H(K) AN B5S 81 8,160 80%
8H7H(RK) AN = 81 9,000 78%
8H18H(H) AN B5S 81 8,160 80%
8H19H(N) AN = 81 8,160 80%
8H20H(K) AN B5S 81 8,160 80%
8H21H(K) AN = 81 8,160 80%
8H22H(&) AN B5S 81 8,160 80%
8H23H(X) AN = 81 8,160 80%
8H24H(H) AN B5S 81 8,660 79%
8H25H(H) ABR B 81 8,160 80%
8H26H(XN) AN B5S 81 8,160 80%
8H27H(K) ABR B 81 8,160 80%
8H28H(K) AN B5S 81 8,160 80%
8H29H (&) ABR B 81 8,160 80%
8H30H(L) AN B5S 81 8,160 80%
8H31H(H) ABR B 81 8,160 80%
S5H8H(R) RS AP 82 8,160 79%
S5H9H(E) =] ABR 82 8,160 79%
5H10H(%) RS AP 82 9,160 77%
5H11H(H) =] ABR 82 9,160 77%
S5H12H(A) RS AP 82 8,160 79%
SH13H(X) B ABR 82 8,160 79%
S5H14H(K) =] AP 82 8,560 78%
5H15H(K) =) N 82 8,560 78%
5H17H(L) =] AP 82 9,160 77%
5H18H(H) =) N 82 9,160 77%
S5H19H(H) =] AP 82 9,160 77%
5H20B(X) =) N 82 9,160 77%
S5H21H(K) =] AP 82 8,160 79%
5H22H(K) =) N 82 8,160 79%
5H23H(5) =] AP 82 8,160 79%
5H25H(H) =) N 82 9,160 77%
5H27H(X) =] KB 82 9,160 77%
5H28H(K) =) N 82 9,160 77%
5H29H(XK) =] KB 82 8,160 79%
681H(H) BE KB 82 8,660 78%
6H2H(H) =] AP 82 9,000 77%
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6H3H(N) BS AP 82 8,160 79%
6H48(0K) RS AN 82 8,160 79%
6H5H(K) BS AP 82 9,000 77%
6H6H (%) RS AN 82 9,000 77%
6H7H(XL) =] AP 82 8,160 79%
6H8H(H) RS N 82 9,000 77%
6H9H(H) =] AP 82 8,160 79%
6H10H(XN) RS AN 82 8,160 79%
6H11H(K) BS AP 82 8,160 79%
6H12H(K) RS AN 82 8,660 78%
6H13H(E) =] AP 82 9,000 77%
6H14H(X) RS N 82 8,160 79%
6H15H(H) =] AP 82 9,000 77%
6H16H(H) RS AN 82 8,160 79%
6H17H(N) B AP 82 8,660 78%
6H18H(K) RS AN 82 8,660 78%
6H19H(K) B AP 82 8,160 79%
6H20H (&) RS KB 82 9,000 77%
6H21H(X) =] AP 82 9,000 77%
6H22H(H) RS AN 82 8,660 78%
6823H(H) =] AP 82 9,000 77%
6H248(XN) RS KB 82 8,660 78%
6H25H(K) B AP 82 8,160 79%
6H26H(K) RS AN 82 8,160 79%
6H27H(:&) =] AP 82 9,000 77%
6H28H (L) RS KB 82 8,160 79%
68529H(H) =] ABR 82 8,660 78%
6H30H(H) RS AP 82 8,160 79%
7H1HCN) B ABR 82 8,160 80%
7H2B(K) RS AP 82 8,160 80%
7H3H(K) B ABR 82 8,160 80%
7H4B(E) RS AP 82 9,000 78%
7H5H(X) =] ABR 82 8,160 80%
7H6H((H) RS AP 82 8,660 79%
7H7H(H) B ABR 82 8,160 80%
7H8H(X) RS AP 82 8,160 80%
7H9H(K) B ABR 82 8,160 80%
7H10H(XK) RS AP 82 8,160 80%
7H11H(&) =] ABR 82 8,660 79%
7H12H(L) =] AP 82 8,160 80%
7H13H(H) =) ABR 82 8,660 79%
7H14H(H) =] AP 82 8,160 80%
7H15H(X) =) N 82 8,660 79%
7H16H(K) =] AP 82 8,160 80%
7H17H(K) =) N 82 8,160 80%
7H18H(5&) =] AP 82 9,000 78%
7H19H(L) =) ABR 82 8,160 80%
7H20H(H) =] AP 82 8,160 80%
7H21H(H) =) N 82 9,000 78%
7H22H(X) =] KB 82 9,000 78%
7H23H(K) =) N 82 8,160 80%
7H24H(XK) =] KB 82 8,160 80%
7H25H (&) BE KB 82 9,000 78%
7H26H(%) =] AP 82 8,160 80%
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7H27H(H) =] AP 82 8,660 79%
7H28H(A) RS AN 82 8,160 80%
7H29H(N) BS AP 82 8,160 80%
7H30H(K) RS AN 82 8,160 80%
7H31H(XK) BS AP 82 8,160 80%
8H1H(&) RS N 82 9,000 78%
8H2H(L) =] AP 82 8,160 80%
8H3H(H) RS AN 82 9,000 78%
8H4H(H) =] AP 82 8,160 80%
8H5H(XN) RS AN 82 8,160 80%
8H6H(K) BS AP 82 8,160 80%
8H7H(RK) RS N 82 8,160 80%
8H18H(H) =] AP 82 8,160 80%
8H19H(XN) RS AN 82 9,000 78%
8H20H(K) B AP 82 8,160 80%
8H21H(K) RS AN 82 8,160 80%
8H22H (&) =] AP 82 8,160 80%
8H23H(X) RS KB 82 8,160 80%
8H24H(H) =] AP 82 8,160 80%
8H25H(H) RS AN 82 8,160 80%
8H26H(N) B AP 82 8,160 80%
8H27H(K) RS KB 82 8,160 80%
8H28H(K) B AP 82 8,160 80%
8H29H (&) RS AN 82 8,160 80%
8H30H(x) =] AP 82 8,160 80%
8H31H(H) RS KB 82 8,160 80%
S5H8H(XK) & ik 83 12,700 77%
S5H9H(E) &l it 83 12,700 77%
S5H10H(L) &l ik 83 13,700 75%
S5H11H(H) &l it 83 13,700 75%
S5H13H(X) & ik 83 11,700 78%
S5H14H(K) &l it 83 12,200 78%
5H15H(RK) & ik 83 11,700 78%
5H16H(5&) &l it 83 14,700 73%
5H19H(H) & ik 83 12,700 77%
5H20H(X) &l it 83 14,700 73%
5H21H(K) &l ik 83 11,700 78%
5H22H(XK) &l it 83 13,200 76%
S5H24H(%) &l ik 83 14,700 73%
S5H25H(H) &l it 83 14,200 74%
5H26H(H) =lid it 83 14,700 73%
5H27H(X) &l it 83 12,200 78%
5H28H(K) =lid it 83 14,700 73%
S5H30H (&) &l it 83 11,700 78%
S5H31H(L) =lid ot 83 14,200 74%
6H1H(H) &l it 83 12,700 77%
682H(A) =lid it 83 12,700 77%
6H3B(X) &l it 83 12,700 77%
6H4H(K) =lid it 83 12,700 77%
6H5H(K) &l it 83 12,700 77%
6H6H(E) =lid it 83 11,700 78%
6H7H(L) &l it 83 12,700 77%
6H8H(H) &l e 83 11,700 78%
6H9H(H) &l it 83 11,700 78%
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6H10H(N) f& ] it 83 11,700 78%
6H11H(K) &l ot 83 11,700 78%
6H12H(K) f& ] it 83 10,700 80%
6H13H(&) &l ot 83 13,700 75%
6H14H(L) &l it 83 12,200 78%
6H15H(H) &l ot 83 12,200 78%
6H16H(H) &l it 83 10,200 81%
6H17H(CXN) &l ot 83 10,200 81%
6H18H(K) &l it 83 10,200 81%
6H19H(K) &l ot 83 10,700 80%
6H20H (&) &l it 83 13,700 75%
6H21H(X) &l ot 83 12,700 77%
6H22H(H) &l it 83 14,200 74%
6H23H(H) &l it 83 14,700 73%
6H24H(X) & ] ok 83 11,200 79%
6H25H(K) &l it 83 11,200 79%
6H26H(K) & ] ok 83 11,700 78%
6H27H (&) &l it 83 12,700 77%
6H28H (%) &l ok 83 13,700 75%
6H29H(H) &l it 83 11,200 79%
6H30H(H) &l ok 83 10,700 80%
EN=IEN) G=lid it 83 10,200 82%
7H2H(K) &l ok 83 10,200 82%
7H3H(K) &l it 83 10,700 81%
7H4B(E) &l ok 83 11,700 79%
7H5H(L) &l it 83 11,700 79%
7H6H(H) &l ik 83 10,200 82%
7H7H(8) &l it 83 11,200 80%
7H8H(N) & ik 83 10,200 82%
7H9H(K) &l it 83 10,700 81%
7H10H(K) & ik 83 10,200 82%
7H11H(®) &l it 83 10,700 81%
7H12H(L) &l ik 83 13,700 76%
7H13H(H) &l it 83 10,700 81%
7H14H(H) & ik 83 11,200 80%
7H15H(N) &l it 83 10,200 82%
7H16H(K) &l ik 83 11,200 80%
7H17H(XK) &l it 83 10,700 81%
7H18H(5&) &l ik 83 11,200 80%
7H20H(H) &l it 83 12,700 78%
7H21H(H) =lid it 83 13,700 76%
7H22H(X) &l it 83 11,200 80%
7H23H(K) =lid it 83 11,200 80%
7H24H(XK) &l it 83 10,700 81%
7H25H (&) =lid ot 83 13,200 77%
7H26H(L) &l it 83 14,200 75%
7H27H(H) =lid it 83 11,200 80%
7H28H(H) &l it 83 10,700 81%
7H29H(X) =lid it 83 10,700 81%
7H30H(K) &l it 83 10,200 82%
7H31H(K) =lid it 83 11,700 79%
8H18H(H) &l it 83 11,700 79%
8H19H(N) &l e 83 11,200 80%
8H20H(K) &l it 83 11,200 80%
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8H21H(XK) &l i 83 11,700 79%
8H22H(&) & oAb 83 12,700 78%
8H23H(L) &l i 83 12,700 78%
8H24H(H) & oAb 83 11,200 80%
8H25H(H) &l i 83 11,200 80%
8H26H(X) & oAb 83 11,200 80%
8H27H(K) &l i 83 11,200 80%
8H28H(K) & oAb 83 11,200 80%
8H29H (&) &l i 83 11,200 80%
8H30H(L) & oAb 83 12,700 78%
8H31H(H) &l i 83 11,200 80%
S5H7H(K) Ealbs) &l 84 14,700 73%
S5H8H(K) e @] 84 14,200 74%
5H12H(H) s &l 84 14,700 73%
S5H13H(CN) e &l 84 14,200 74%
5H14H(K) s &l 84 14,200 74%
5H15H(K) e &l 84 14,700 73%
5H16H(&E) s &l 84 14,700 73%
5H18H(H) e &l 84 14,700 73%
5H20B(X) s &l 84 14,200 74%
5H21H(K) e &l 84 12,700 77%
5H22H(K) e &l 84 14,700 73%
S5H23H(&®) e &l 84 14,700 73%
5H24H(%) s &l 84 14,700 73%
5H25H(H) e &l 84 14,200 74%
5H26H(H) s &l 84 14,700 73%
5H27H(CN) e &l 84 14,200 74%
5H28H(K) s &l 84 13,700 75%
5H29H(K) e &l 84 14,700 73%
6H1H(H) s &l 84 13,700 75%
6H2H(AH) e &l 84 12,700 77%
6838 () 8 & 84 14,200 74%
6H4H(K) e &l 84 14,200 74%
6H5H(K) e &l 84 14,700 73%
6H6H (&) e &l 84 12,200 78%
6H7H(X) s &l 84 14,700 73%
6H8H(H) e &l 84 12,700 77%
6H9H(H) s &l 84 14,700 73%
6H10H(CN) e &l 84 12,200 78%
6H11H(K) e &l 84 10,200 81%
6H12H(K) e &l 84 14,700 73%
6H13H (&) e &l 84 14,700 73%
6H14H(L) e &l 84 14,700 73%
6H15H(H) e &l 84 13,200 76%
6H16H(H) e &l 84 12,200 78%
6H17H(XN) e &l 84 12,200 78%
6H18H(K) e &l 84 12,700 77%
6H19H(K) e &l 84 11,700 78%
6H22H(H) e &l 84 12,700 77%
68236 (H) 18 & 84 12,700 77%
6H24H(N) e &l 84 13,200 76%
6H25H(K) s &l 84 12,700 77%
6H26H(K) Ealbs) &l 84 12,700 77%
6H27H(E) e &l 84 12,700 77%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x
6H28H (%) b @] 84 14,700 73%
6H29H(H) it &l 84 10,200 81%
6H30H(H) b @] 84 10,700 80%
7H1B(CX) it &l 84 11,200 80%
7H2B(K) b @] 84 11,700 79%
7H3B(K) ik &l 84 12,700 78%
7H4B(E) b f& 84 13,200 77%
7H5H(TL) oI &l 84 13,200 77%
7H6H((H) b @] 84 12,700 78%
7H7H(R) it &l 84 12,700 78%
7H8H(X) b @] 84 11,200 80%
7H9BH(K) it &l 84 11,200 80%
7H10H(K) b @] 84 12,700 78%
7H11H(E) ik e ] 84 13,700 76%
7H12H(L) Eolb) @] 84 14,200 75%
7H13H(H) ik fa ] 84 12,700 78%
7H14H(H) o) @] 84 12,700 78%
7H15H(N) Eoibi) e ] 84 11,200 80%
7H16H(K) Eolb) @] 84 14,200 75%
7H17H(K) ik e ] 84 12,200 79%
7H18H(5&) o) @] 84 14,200 75%
7H19H(L) ik e ] 84 14,700 74%
7H20H(H) Eolb) @] 84 14,200 75%
7H21H(H) ik e ] 84 13,700 76%
7H22H(X) Eolb) @] 84 12,700 78%
7H23H(K) ik e ] 84 12,700 78%
7H24H(R) o) ] 84 12,200 79%
7H25H (&) Eoibi) ] 84 12,700 78%
7H26H(L) b, fE 84 13,200 77%
7H27H(H) Eoibi) &[] 84 13,200 77%
7H28H(H) b, ] 84 12,200 79%
7H29H(N) Eoibi) ] 84 12,700 78%
7H30H(K) b, ] 84 12,200 79%
7H31H(K) Eoibi) &[] 84 13,700 76%
8H18H(H) b, ] 84 13,700 76%
8H19H(XN) Eoibi) ] 84 12,700 78%
8H20H(K) o) ] 84 12,200 79%
8H21H(K) Eoibi) &[] 84 12,700 78%
8H22H (&) b, ] 84 13,700 76%
8H23H(%) poibi) @] 84 12,700 78%
8H24H(H) o) ] 84 12,700 78%
8H25H(H) poibi) @] 84 12,200 79%
8H26H(X) o) ] 84 11,200 80%
8H27H(K) poibi) @] 84 11,200 80%
8H28H(K) b e ] 84 10,200 82%
8H29H (&) poibi) @] 84 14,700 74%
8H30H(X) b il 84 13,200 77%
8H31H(H) poibi) @] 84 12,200 79%
S5H8H(RK) =lid it 87 14,700 73%
S5H9H(E) &l R 87 12,700 77%
S5H10H(L) =lid it 87 14,700 73%
S5H13H(XN) &l R 87 12,700 77%
5H14H(K) &l e 87 13,700 75%
5H15H(XK) &l it 87 14,200 74%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x
5H17H(L) &l it 87 14,700 73%
5H19H(H) &l ot 87 14,700 73%
S5H20H(X) &l it 87 14,700 73%
S5H21H(K) &l ot 87 13,700 75%
S5H22H(XK) &l it 87 14,200 74%
5H23H(E) fe ] it 87 14,700 73%
5H24H(%) &l it 87 13,700 75%
5H25H(H) &l ot 87 14,700 73%
S5H26H(H) &l it 87 14,700 73%
S5H27H(X) &l ot 87 14,700 73%
5H28H(K) &l it 87 14,700 73%
S5H29H(XK) &l ot 87 14,700 73%
5H30H (&) &l it 87 14,700 73%
S5H31H(L) &l b 87 14,700 73%
682H(A) &l ok 87 14,700 73%
6H3H(N) G=lid ik 87 14,200 74%
6H4H(K) &l ok 87 13,700 75%
6H5H(K) &l b 87 13,700 75%
6H6H(E) &l ok 87 13,700 75%
6H7H(L) &l b 87 14,200 74%
688H(H) &l ok 87 14,700 73%
683108 G=lid ik 87 14,700 73%
6H11H(K) &l ok 87 13,700 75%
6H12H(K) &l b 87 12,200 78%
6H13H(E) &l ok 87 12,700 77%
6H14H(X) &l b 87 14,200 74%
65 15H(H) &l ik 87 14,700 73%
6H16H(H) &l R 87 13,700 75%
6H17H(X) &l ik 87 11,700 78%
6H18H(K) &l R 87 10,200 81%
6H19H(K) &l ik 87 11,200 79%
6H20H(E) &l R 87 12,200 78%
6H21H(X) &l ik 87 14,700 73%
6H23H(H) &l R 87 14,700 73%
6H24H(X) &l ik 87 13,700 75%
6H25H(K) &l R 87 11,700 78%
6H26H(K) &l ik 87 10,700 80%
6H27H (%) &l R 87 13,700 75%
6H28H (%) &l ik 87 13,700 75%
6H29H(H) &l R 87 13,700 75%
6H30H(H) =lid it 87 13,700 75%
7H1B(KX) &l R 87 10,200 82%
7H2H(K) =lid it 87 10,700 81%
7H3B(K) &l o) 87 10,700 81%
7H4B(E) =lid ot 87 12,700 78%
7H5H(%) &l o) 87 13,700 76%
7H6H(H) =lid it 87 13,700 76%
7H7H(A) &l o) 87 12,700 78%
7H8H(N) =lid it 87 10,700 81%
7H9H(K) &l R 87 10,700 81%
7H10H(K) =lid it 87 10,200 82%
7H11H(®) &l R 87 13,700 76%
7H12H(L) &l e 87 13,200 77%
7H13H(H) &l it 87 14,700 74%




IBEX4Hi

aE&e (X f& EE p——

EERE F5|x
7H14H(H) &l it 87 14,200 75%
7H15H(N) &l ot 87 10,700 81%
7H16H(K) &l it 87 13,200 77%
7H17H(K) &l ot 87 11,700 79%
7H18H(5&) &l it 87 13,200 77%
7H19H(L) &l ot 87 12,700 78%
7H20H(H) &l it 87 13,700 76%
7H21H(A) &l ot 87 14,700 74%
7H22H(X) &l it 87 13,700 76%
7H23H(K) &l ot 87 11,700 79%
7H24H(K) &l it 87 12,200 79%
7H25H (&) &l ot 87 12,700 78%
7H26H(L) &l it 87 13,700 76%
7H27H(H) &l b 87 12,700 78%
7H28H(H) &l ok 87 12,700 78%
7H29H(X) G=lid ik 87 12,700 78%
7H30H(K) &l ok 87 12,700 78%
7H31H(K) &l b 87 12,200 79%
8H18H(H) &l ok 87 12,200 79%
8H19H(N) G=lid Goibis) 87 13,700 76%
8H20H(K) &l ok 87 13,200 77%
8H21H(K) fe M) ik 87 13,200 77%
8H22H (&) &l ok 87 14,200 75%
8H23H(X) &l b 87 13,700 76%
8H24H(H) &l ok 87 14,200 75%
8H25H(A) &l b 87 13,700 76%
8H26H(X) &l ik 87 11,200 80%
8H27H(K) &l R 87 11,200 80%
8H28H(K) &l ik 87 12,700 78%
8H29H (&) &l R 87 13,700 76%
8H30H(X) &l ik 87 13,200 77%
8H31H(H) &l R 87 14,200 75%
S5H7H(K) b, ] 88 13,700 75%
S5H8H(K) Eoibi) &[] 88 12,200 78%
S5H9H(E) b, ] 88 14,700 73%
5H10H(%) Eoibi) ] 88 13,700 75%
5H11H(H) o) ] 88 13,700 75%
S5H12H(A) Eoibi) &[] 88 13,200 76%
S5H13H(X) b, ] 88 13,700 75%
S5H14H(K) poibi) @] 88 12,700 77%
5H15H(K) o) ] 88 12,700 77%
5H16H(5) poibi) @] 88 14,700 73%
S5H17H(%) o) ] 88 13,200 76%
5H20H(X) poibi) @] 88 12,700 77%
5H21H(K) b e ] 88 12,200 78%
S5H22H(XK) poibi) @] 88 12,700 77%
5H23H(5&) b e ] 88 13,700 75%
5H24H(L) poibi) @] 88 13,200 76%
5H26H(H) o) e ] 88 11,700 78%
5H27H(X) Eoibi) &[] 88 11,700 78%
5H28H(K) o) e ] 88 14,200 74%
5H29H(XK) Eoibi) &[] 88 13,700 75%
S5H31H(L) s &l 88 12,700 77%
6H1H(H) ok @] 88 14,200 74%
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aE&e (X f& EE p——

EERE F5|x
6H2H(H) b f& 88 12,700 77%
6H3B(XN) it &l 88 12,200 78%
6H4H8(K) b f& 88 12,700 77%
6H5H(K) it &l 88 12,700 77%
6H6H(E) b @] 88 12,200 78%
6H7H(L) ik &l 88 11,700 78%
6H8H(H) b @] 88 11,700 78%
6H9H(A) it &l 88 12,700 77%
6H10H(XN) b @] 88 11,200 79%
6H11H(K) it &l 88 11,200 79%
6H12H(K) b @] 88 11,700 78%
6H13H(&) it &l 88 11,700 78%
6H14H(L) b @] 88 11,200 79%
6H15H(H) ik e ] 88 11,700 78%
6H16H(H) Eolb) @] 88 11,200 79%
6H17H(CXN) ik fa ] 88 10,200 81%
6H18H(K) o) @] 88 11,200 79%
6H19H(K) Eoibi) e ] 88 11,200 79%
6H20H (&) Eolb) @] 88 14,700 73%
6H21H(X) ik e ] 88 12,700 77%
68522H(H) o) @] 88 12,200 78%
6H23H(H) ik e ] 88 13,700 75%
6H24H(X) Eolb) @] 88 10,200 81%
6H25H(K) ik e ] 88 10,200 81%
6H26H(K) Eolb) @] 88 10,200 81%
6H27H (&) ik e ] 88 12,700 77%
6H28H (%) o) ] 88 10,200 81%
6H29H(H) Eoibi) ] 88 12,700 77%
6H30H(H) b, ] 88 10,700 80%
7H1B(X) Eoibi) &[] 88 10,700 81%
7H2H(K) b, ] 88 10,700 81%
7H3B(K) Eoibi) ] 88 10,700 81%
7H48(E) b, ] 88 12,700 78%
7H5H(TL) Eoibi) &[] 88 11,200 80%
7H6H(H) b, ] 88 11,200 80%
7H7H(8) Eoibi) ] 88 11,200 80%
7H8H(N) o) ] 88 10,700 81%
7H9H(K) Eoibi) &[] 88 10,700 81%
7H10H(K) b, ] 88 10,200 82%
7H11H(®) poibi) @] 88 12,200 79%
7H12H(L) o) ] 88 11,200 80%
7H13H(H) poibi) @] 88 11,700 79%
7H14H(H) o) ] 88 10,700 81%
7H15H(N) poibi) @] 88 10,200 82%
7H16H(K) b e ] 88 10,200 82%
7H17H(K) poibi) @] 88 10,200 82%
7H18H(5&) b e ] 88 14,200 75%
7H19H(%) poibi) @] 88 11,700 79%
7H20H(H) o) e ] 88 13,700 76%
7H21H(H) Eoibi) &[] 88 14,700 74%
7H22H(X) o) e ] 88 11,200 80%
7H23H(K) Eoibi) &[] 88 10,700 81%
7H24H(K) it &l 88 10,700 81%
7H25H(5&) ok @] 88 12,200 79%
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pEERE P B2, — -
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7H26H (%) e =[] 88 10,700 81%
78B27H((8H) s f& ) 88 13,700 76%
7H28H(A) e =[] 88 12,700 78%
7H29H(N) s f& i) 88 11,200 80%
7H30H(K) e =[] 88 11,200 80%
7HA31H(K) e f& ) 88 10,700 81%
8H18H(H) e =[] 88 10,200 82%
8H19H(N) e f& ) 88 10,200 82%
8H20H(K) e =[] 88 10,200 82%
8H21H(K) s f& ) 88 10,200 82%
8H22H (&) e =[] 88 11,200 80%
8H23H (%) s f& i) 88 10,200 82%
8H24H(H) e =[] 88 12,700 78%
8H25H(H) e & 88 10,200 82%
8H26H(N) v =[] 88 10,200 82%
8H27H(K) e &[] 88 10,200 82%
8H28H(K) v =[] 88 10,200 82%
8H29H (&) e &[] 88 12,700 78%
8H30H(x) e =[] 88 10,200 82%
8H31H(H) e & 88 12,700 78%
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